

128TH EDITION

WISDEN

CRICKETERS'ALMANACK
1991



EDITED BY GRAEME WRIGHT

Includes

DON'T BLAME THE BALL

By Jack Bannister

SIR LEONARD HUTTON

By John Woodcock

SIR RICHARD HADLEE

By Don Mosey LANCASHIRE'S REVIVAL - IS IT ENOUGH?

By Michael Kennedy

A GENUINELY GREAT CRICKETER

An Assessment of Graham Gooch

By Simon Barnes

ENGLAND IN THE WEST INDIES, 1989-90

PUBLISHED BY JOHN WISDEN & CO LTD

COCCOCCO

SCHOOLS CRICKET IN 1990

Of the players capped for English Schools Under-19 in 1989, only M. A. Khan, T. C. Walton and A. C. Richards were available in 1990, C. J. Hawkes, T. A. Radford and R. J. Warren preferring to play for their county Second Elevens. Including the two matches at Lord's, played under the appellation of MCC Schools, fifteen players appeared for the senior Schools side. They were: G. Archer, D. P. Fulton, N. F. Gibbs, J. Hodgson, M. A. Khan, J. Laney, S. V. Laudat, I. Maynard, R. Murray, M. Rawlings, A. C. Richards (captain), J. N. Snape, T. C. Walton, Wasim Khan and W. P. C. Weston. Their schools may be found in the scorecards of matches played at the MCC Festival, Oxford.

As in other cricket arenas in 1990, the bat was dominant, and it soon became apparent from the regional trials that quality bowlers, particularly fast bowlers, were in short supply; a view confirmed at the Oxford Festival, where the majority of wickets fell to the spinners. This imbalance in the attack led to all four international matches being drawn, which was especially disappointing after MCC Schools' fine victory over a strong MCC side at Lord's and their having the best of a draw against NAYC the next day.

The batting was strong right down the order, although there was a tendency for batsmen to get out when seemingly well set. None the less, Archer, Fulton, Wasim Khan, Murray, Snape, Walton and Laney all made significant contributions, and the batting ability of the lower order was in evidence against Welsh Schools and Pakistan Young Cricketers. The main strike bowlers were Weston and Laudat but, with the exception of the Irish match, they were unable to capitalise on an initial breakthrough. The spinners were the leading wicket-takers, both Richards (off-spin) and Hodgson (leg-spin) bowling for long spells with accuracy and good variation. In a side which at times fielded quite brilliantly, Archer and Walton were outstanding, while Marcel Khan kept wicket competently and Richards captained with authority.

The first international was played against Irish Schools at Winchester College on July 26, 27. English Schools batted first, reaching 270 for nine in the allotted 60 overs with Fulton (82), Archer (50), Laney (31) and Snape (36) the main contributors. Weston's fast left-arm bowling then reduced Ireland to 23 for five, but a brave 51 from Taylor led something of a recovery to 121 all out, Weston finishing with five for 38. Following on, the Irish were 95 for five at the close, still in arrears, but the weather cut into the second day, and Ireland occupied the crease long enough in making 170 to leave English Schools only two overs in which to score 22 for victory. Five deliveries brought no run, and when 6 were needed off the last ball, only a single resulted.

At Pontarddulais on July 30, 31, Wasim Khan (105) and Fulton (68) opened with a partnership of 175 after Welsh Schools had put the English in, but some irresponsible batting further down the order led to a final total of only 228 for eight. The Welsh batting was equally disappointing, only J. R. A. Williams (36) putting up much resistance against steady bowling from Laudat (three for 24 off 15 overs) and Richards (four for 37 from 22.2) as the home side were dismissed for 152. With the exception of a positive 40 from Fulton, English Schools batted unconvincingly until an attractive partnership between Marcel Khan (34) and Laudat (39 not out) enabled

Richards to declare at 190 for nine. A target of 267 in two and a half hours plus twenty overs asked a lot of the Welsh, who mustered only 149 for seven from 59 overs.

Against Scottish Young Cricketers at Aigburth, Liverpool, on August 2, 3, English Schools elected to bat on an excellent pitch in superb weather and totalled 263 for six in 60 overs. Fulton (70) was again in good form and Snape fashioned a class innings of 88. The Scots struggled against the in-swing bowling of Walton, who took six for 17 in 9.4 overs, and were all out for 128 in 46.4 overs. When the Scots followed on, however, the English attack was once again unable to repeat its earlier performance, lacking in determination somewhat, and a century from Patel and fifties from Mudie and Garden allowed the visitors the safety of a declaration at 335 for seven and a fairly academic target of 201 in 100 minutes. English Schools were 148 for four (Snape 48, Laney 51 not out) at the close.

English Schools lost their one-day game against Pakistan Young Cricketers at Beckenham on August 6 by four wickets, despite having put up a good performance against strong opponents. Unfortunately, several first-choice players were not available for the three-day fixture at Worksop College on August 24, 25, 26. Given first use of a fresh pitch by Richards's decision to bat, the Pakistani seam attack reduced English Schools to 78 for six at lunch. Another wicket fell soon after, but the depth of batting showed as the last three wickets put on 100, Marcel Khan (25), Laudat (22), Rawlings (22) and especially Hodgson (48 not out) all batting with skill and application. A total of 188 looked useful when the Pakistanis also struggled against the new ball and slumped to 20 for three. However, Tariq Mehmood and Masroor Hussain steadied the innings, and Masroor went on next day to a fine 105. The English bowlers stuck to the task, though, and the visitors' lead was restricted to 75. Batting again, Maynard (64) and Archer added 106 in fine style, and with two overs of the day remaining a score of 247 for three was just reward for sensible strokeplay. However, Archer was dismissed in the penultimate over, missing by 2 runs a well-deserved century, and when in the last over Murray (61) trod on his wicket, the commanding position was gone. Needing 268 in 56 overs, the Pakistanis found themselves 127 for six, but Shakeel Ahmed (61 not out) guided them to 207 for no further loss to frustrate English hopes of victory. This fine, fluctuating game showed English Schools cricket at its best, especially in terms of sportsmanship and attitudes to opponents and umpires.

The Welsh Schools' season was dominated by the batting of the captain, D. L. Hemp, who scored a century in each innings against both Scottish Young Cricketers and Irish Schools. At Titwood, Glasgow, Scottish Young Cricketers declared at 306 for six (S. Millin 76 not out, N. McRae 54), to which Welsh Schools responded with 289 for four declared (Hemp 104 not out, B. Davies 65). Second time around, Scotland were dismissed for 204 (D. Rigby 48; R. Beaumont five for 40, Davies four for 49), whereupon Hemp struck 101 not out and Davies 41 as Wales made 225 for four for victory. At Ynysygerwn, Irish Schools were beaten by 202 runs. Batting first this time, Welsh Schools amassed 367 (Hemp 120, Williams 43, Davies 43; F. Ward three for 86, S. Taylor three for 87) before dismissing Irish Schools for 226 (S. McCready 76 not out; E. P. M. Holland four for 57) and then racing to 237 for one declared (Hemp 102 not out, A. J. Jones 106 not out). A change of batting order was of no avail to the Irish, who were bowled out for 176 (J. Kennedy 50; Davies four for 37).

HMC SOUTHERN SCHOOLS v THE REST

At Wadham College, July 15, 16. HMC Southern Schools won by three wickets. The Rest made a poor start, with two run-outs in the first half-hour contributing to the loss of four wickets for 44 as Yeabsley and Stevens bowled good opening spells. However, Walton and Kendall initiated a recovery and Murphy hit vigorously at the end. Fulton then played the best innings of the match, receiving useful support from the Southern Schools' middle order, and a significant lead looked in prospect until the off-spin of Chetwood and Snape pegged them back. When the Rest batted again, Janes made a solid 60, and with more vigorous knocks from Brand and Snape, Walton was able to set a target of 215 in 53 overs. Walker anchored the early part of Southern Schools' challenge, and a final flourish from Fulton took them to victory with seven balls to spare. The wicket-keeping was competent, Jaggard held three good catches, and the ground fielding of Fulton, Walton and Kendall stood out.

9-c Maddock b Stevens 7
7 – (3) b Yeabsley 4
9-(5) c Walker b Richards 57
4 - c Semmence b Richards 39
8 – (6) c Maddock b Semmence 22
4 – (7) b Stevens 0
8 – (2) run out
1 - c and b Yeabsley 28
7 – not out
3
0
6 Extras
6 1/18 2/30 3/112 (8 wkts dec.) 241 4/182 5/197 6/197 7/230 8/241

Bowling: First Innings—Stevens 16–3–32–2; Yeabsley 12–2–55–3; Semmence 9–5–14–1; Salter 10–2–42–0; Richards 11–2–33–2. Second Innings—Yeabsley 7–2–15–2; Stevens 17–1–73–2; Salter 15–5–43–0; Semmence 9–0–42–1; Richards 14–2–49–2.

HMC Southern Schools

C. N. Gates (Brighton) c and l	Murphy 16	- c Murphy b Slater	20
D. P. Fulton (Judd) c Windson	b Chetwood 67	- (8) not out	20
*A. C. Richards (Forest) c Jag			
B. D. Atwell (Sherborne) c Jag			
M. J. Walker (King's, Rocheste	r) c Snape	trained, of sports from the contract	
Mandanest and particles	b Chetwood . 21	- (2) c Janes b Murphy	63
J. M. A. Inglis (Solihull) b Sna			
†A. R. Maddock (Plymouth) c			
M. J. Semmence (Hurstpierpoin			
R. S. Yeabsley (Haberdashers'	Aske's)	Editions duch t Wasiner Mc	
	c and b Snape. 1	- not out	6
R. M. Salter (King Edward VI,	Southampton)		
the to see adversely. But note	run out. 0		
S. W. Stevens (Sherborne) b C	netwood 0		
Extras		Extras	14
	recent of her dense to		TOTAL PROPERTY.
1/55 2/101 3/117 4/136 5/162	213	1/51 2/54 3/111 4/118	(7 wkts) 218
6/206 7/207 8/213 9/213		5/150 6/185 7/204	

Bowling: First Innings—Windsor 11–5–17–1; Slater 9–0–47–0; Kendall 3–0–19–0; Murphy 6–1–23–1; Snape 6–1–19–3; Chetwood 15–2–48–4; Walton 7–2–26–0. Second Innings—Windsor 7–0–20–1; Slater 10–3–58–1; Chetwood 14–2–48–0; Murphy 8–0–12–1; Snape 9.5–0–46–3; Walton 3–0–20–0.

ESCA NORTH v ESCA SOUTH

At Keble College, July 15, 16. Drawn. Although ESCA North always had the better of the match, they were unable to break through the solid defence of Gibbs and Hodgson to force the win that had looked likely when ESCA South were 37 for five in pursuit of 241. Strokeplay was not easy on the slow and turning wicket, yet it was still surprising that none of the five batsmen who reached 40 in the first three innings could go on to a half-century. Bourke's offspin and Weston's medium-fast left-arm seam bowling for the North particularly caught the eye, while Hodgson and Jacques both bowled good spells of spin for the South.

ESCA North

2 - c Maynard b Bates 40
43 A Sandred Manday M. Bassest M. D
42 Market Market & Carpeter St. Market St. M
12 - c Gibbs b Jacques 19
My fixture of Works, College on
18 – (3) lbw b Mirza 8
36 - c Jacques b Bates 0
35
2 – (7) not out
0 – (5) not out
- (2) b Mirza
43 Extras 14
233 1/29 2/42 3/77 (5 wkts dec.) 159
4/87 5/88

G. Chapple (West Craven HS; Lancs.) did not bat.

Bowling: *First Innings*—Rawlings 8–1–19–0; Mirza 12–1–53–2; Jacques 4–0–24–0; Gibbs 12–6–24–1; Bates 10–4–29–1; Hodgson 14–3–48–3. *Second Innings*—Rawlings 11–1–37–0; Mirza 12–1–46–2; Hodgson 7–3–16–0; Bates 12–6–21–2; Gibbs 4–1–9–0; Jacques 10–5–16–1.

ESCA South

M. Rawlings (Filton; Avon) c Wasim Khan b Weston †M. Garaway (Medina; IOW) not out R. Bates (Stamford CFE; Lincs.) not out	23 - c Kettleborough b Bourke 28 0 - (1) b Weston 1 7 - (3) lbw b Bourke 12 23 - (6) not out 44 23 - (7) not out 18 6 16 - (4) c Archer b Bourke 0 1 - (5) c Archer b Catley 0
Extras	13 Extras 6
1/60 2/64 3/67 4/84 5/120 (7 wkts dec.) 6/136 7/136	152 1/6 2/34 3/34 (5 wkts) 109 4/35 5/37

P. Mirza (E. Birmingham; Warwicks.) and P. T. Jacques (Millfield; Som.) did not bat.

Bowling: First Innings—Weston 11–5–24–3; Chapple 8–1–20–0; Catley 19–8–41–0; Bourke 18–8–35–4; Kettleborough 4–1–20–0. Second Innings—Chapple 10–2–27–0; Weston 8–3–6–1; Bourke 17–10–18–3; Catley 15–4–39–1; Laudat 10–1–16–0.

At Keble College, July 16. Drawn. A. C. Richards's XI 234 for eight dec. (D. P. Fulton 116, R. Hughes 36, Extras 35; P. T. Jacques three for 42, R. A. Kettleborough three for 16); Wasim Khan's XI 227 for seven (Wasim Khan 66, C. M. Jaggard 35, R. Bates 40; P. Mirza three for 48, A. C. Richards three for 63).

At St Edward's School, July 16. N. F. Gibbs's XI won by 54 runs. N. F. Gibbs's XI 259 for five dec. (G. Archer 169, J. Laney 49); T. C. Walton's XI 205 (I. Maynard 38; W. P. C. Weston three for 48).

At Christ Church, July 17. MCC Schools East won by 71 runs in a twelve-a-side match. MCC Schools East 267 for seven dec. (R. Murray 58, T. C. Walton 88, A. C. Richards 35; N. F. Gibbs three for 36, P. T. Jacques three for 95); MCC Schools West 196 (J. Laney 97, M. A. Khan 33; W. P. C. Weston three for 22, A. C. Richards three for 55).

The match at Lord's between MCC and MCC Schools may be found in the MCC section, and that at Lord's between MCC Schools and the National Association of Young Cricketers may be found in Other Matches at Lord's, 1990.

Reports from the Schools:

In a summer memorable for high scoring in county cricket, school records tumbled also. However, it is interesting to note, at a time when there has been concern over the shortening of the summer term because of exams, that a number of schools seem to be playing more matches, with the result that many schoolboy batsmen are getting more innings than in recent years. Eleven from the schools reviewed here passed 1,000 runs: C. N. Gates of Brighton (1,378 at 72.52), C. M. Jaggard (1,364 at 62.00) and A. J. Brand (1,311 at 72.83), both of Merchant Taylors', Northwood, A. R. Maddock of Plymouth College (1,128 at 86.76), J. M. Attfield of Wellingborough (1,116 at 85.84), D. P. Kerkar of Ardingly (1,102 at 61.22), D. Bowen of Enfield GS (1,089 at 64.05), K. A. Graham of King's, Macclesfield (1,075 at 76.78), G. W. White of Millfield (1,061 at 62.41), G. A. H. Awudu of Bedford Modern (1,009 at 56.05) and G. J. Kennis of Tiffin (1,008 at 72.00). Of these only Maddock played fewer than nineteen innings. No batsman recorded a three-figure average, the highest being 97.50 from 780 runs by J. M. A. Inglis of Solihull.

As runs flowed in conditions favouring batsmen, the bowlers often struggled, and a feature of the season was the high proportion of draws. Although they fared better during the poor weather of June, no bowler took 60 wickets, although twelve collected 50 or more. A. R. C. Gilmour of Merchiston Castle had the highest return with 59 at 9.45, while C. J. Eyers of Royal GS Worcester was the outstanding all-rounder with 932 runs and 51 wickets. Notable individual performances included double-centuries by Brand, S. A. I. Dyer of Campbell College, R. C. Weston of The Leys and G. W. White of Millfield. N. C. L. Sinfield of Monkton Combe took all ten wickets v Dauntsey's, who were also the victims of a hat-trick by S. B. Thomas of Wycliffe. Other hat-tricks were performed by S. C. James of King's, Macclesfield, and D. C. Hindle of King's, Ely, who had two in successive matches.

Alleyn's, Ashville College, Bedford, Bradford GS, Canford and Uppingham all participated in the Sir Garfield Sobers International Schools Festival in Barbados, where Canford and Uppingham were perhaps unfortunate not to reach the final. In their semi-final v Harrison's College, Canford were well placed at 40 for three in pursuit of 93 when rain ended play. They lost the replay. The weather similarly rescued Presentation College, who, on a difficult pitch, had been reduced by Uppingham to 6 for five in reply to 66. The English school could not gain the same advantage the next day, and the Trinidad college qualified for the final, which Harrison's College won by ten wickets.

In a relatively successful season, Abingdon lost only to RGS High Wycombe in schools matches, and that after a sporting declaration. Their six wins included those v Magdalen College School, Douai and St Edward's, Oxford early in the season and University College School at the end. Frequently batting second in pursuit of a target, the batsmen had limited chances to score consistently, although the opening pair of D. E. Stanley and J. S. Tilley often provided a sound base. Although there was depth in the bowling, the lack of a top-rate spinner was evident. Highlights for Aldenham were S. P. Moffat's unbeaten 131 v Liverpool College

and a return of six for 23 by M. Okoro v Mill Hill. Unbeaten in their domestic matches, Alleyn's enjoyed six wins, their best record for many years, while at the Sir Garfield Sobers festival in Barbados they lost only to the two eventual finalists. The batting of the captain, P. C. Berglund, was the outstanding feature of the summer, especially his 131 not out v Highgate. A. C. Winter, opening the bowling, took 38 wickets in England, plus another twelve in Barbados, and his 116 not out there v Ashville College was the highest score of the tournament. P. Haslam took 24 wickets in his first season as a leg-spinner.

Allhallows managed no wins and were beaten seven times, a disappointing record which they attributed to their batting, bowling and fielding rarely coming good at the same time. The best performance was in the narrow defeat by Exeter School, against whom J. M. Rowe made a splendid unbeaten 122 in a total of 170 for five declared. Rowe, the captain and opening bat, invariably gave the side a good start, and he bowled his off-spin intelligently to take most wickets. R. J. Gilmore was the outstanding bowler at Ampleforth, his 51 wickets including a return of seven for 54 v Sedbergh. Ardingly won more than half their matches, notably v Lancing, Sevenoaks and St George's, Weybridge, while the only defeats were by Brighton (twice) and Reigate GS. D. P. Kerkar (1,102 runs) and the captain, M. T. E. Peirce (929 runs), both passed the previous record aggregate for the school, as well as taking 38 and 34 wickets respectively. Against Worth, Peirce hit 123 not out in a total of 269 for six, whereupon C. S. Spencer took seven for 12 in eight overs to help dismiss their opponents for 43. Arnold were captained by a fifth-former, M. J. Clinning, who was their most successful cricketer, whether as batsman or off-spin bowler. The other top-order batsmen tended to get out in the twenties. I. Best, bowling at medium pace, beat the bat regularly and headed the averages. Victories were recorded v Kirkham GS, Hutton GS, Bangor GS and RGS Clitheroe. A highlight for the unbeaten Ashville College XI was an opening partnership of 215 v Bury between the brothers, A. W. and S. R. Alexander.

All fourteen matches played by Ballymena Academy GS produced a positive result, ten finishing in their favour. Low-scoring games were the norm on the soft, slow wickets of May and June: Bangor GS were dismissed for 59 (M. McGladdery four for 9) in reply to 80, Antrim GS for 56 in reply to 142, and Larne GS for 85, a total overtaken for the loss of three wickets. In a season of rebuilding, Bancroft's results did not reflect accurately the XI's cricket. Fifteen-year-old C. S. Greenhill batted with commendable concentration and determination to total 640 in his first season, just 19 short of the record aggregate, while his opening partner, T. M. Dowling, scored quickly and stylishly, in addition to keeping wicket efficiently. T. C. Dolan, the captain, and T. W. Clark also scored freely, but called on to open the bowling neither was able to produce a match-winning performance. Though somewhat under-bowled, the side's three spinners - J. P. Manning (leg-breaks and googlies), R. Patel (off-breaks) and A. A. Khan (left-arm) - took 67 wickets between them. Under the astute captaincy of M. W. R. McCord, Bangor GS enjoyed another profitable season, although inconsistent batting was of continued concern. McCord (slow left-arm) took his wickets for the school to 171 and shared 89 with R. G. Scott, a fast-medium bowler whose aggregate rose to 102. Both players represented Irish Schools.

Barnard Castle failed to live up to expectations; the potentially strong batting performed only moderately, and the bowling tended to lack penetration. Still, they won six matches, notably those v The Edinburgh Academy and St Peter's, York, and enjoyed a successful tour of Denmark. A highlight was the unbeaten hundred v RGS Newcastle by J. G. H. Murphy, who in his final year improved his school figures to 1,684 runs and 137 wickets. Bedford beat The Leys, Rugby and Repton and lost to just two schools. R. W. H. Smith scored 578 runs in his second year as captain, with excellent hundreds v MCC and Uppingham, while B. J. A. Miller, as well as keeping wicket tidily, also passed 500 runs. The lower-order also contributed, more than once seeing the side past 200 after a stuttering start. Openers R. J. Stone and M. B. Jenkins toiled manfully, though lacking penetrating pace, but Smith could call on a variety of spin. It was encouraging to see both leg-spinners, A. Focken and D. R. Fossey, operating regularly in tandem. R. M. Pape, an Under-15 fast bowler, marked his début with five for 19 v Repton at the end-of-term festival.

Bedford Modern's excellent season contained victories over Christ's College Cambridge, St Albans, Stamford, The Leys, The Perse, Watford GS, Gentlemen of Bedfordshire and RGS Worcester, who were bowled out for 55 in reply to 224. They lost only to Scots College, from Sydney, in a 40-overs match. The captain, G. A. H. Awudu, scored 1,009 runs with four

centuries, his highest being 148 v Nottingham HS, and there were two hundreds from E. R. Osborn. Two promising spinners, A. R. Woodcock (left-arm) and P. D. Brownridge, gave balance and contrast to the three strike bowlers, M. C. Waddingham (left-arm), Awudu and M. J. Rolton, and all five took 25 or more wickets. Among many noteworthy returns, Rolton took eight for 14 v Christ's College, Waddingham six for 13 v Selwyn College, and Awudu seven for 28 v Watford.

Beechen Cliff, who exceeded 200 in seven of their ten innings, finished with five wins, including those v Bristol GS, Kingswood and Lansdown CC's midweek XI. The captain, P. Tisdale, and wicket-keeper S. Bryan hit two hundreds each in four consecutive matches, and among six successive century opening partnerships was a school-record 210 between Tisdale and D. Benton v Wells Cathedral School. Bryan, whose eight innings yielded 604 runs, went on to play for Somerset Second XI. The attack was dominated by A. Piper (fast-medium) and D. Perryman (leg-spin), the only two bowlers to take ten wickets. In schools matches, Berkhamsted beat Brentwood, Mill Hill, St Albans, St Lawrence Ramsgate and – having recovered from 18 for six to 124 – Bishop's Stortford. E. P. Shek, the captain, was a consistent left-handed opening bat whose 821 runs included a brilliant 123 v Aldenham, and of the many other batsmen who contributed, D. T. Wotherspoon hit 99 in 80 minutes v Brentwood. A strong attack was spearheaded by R. D. Hilton and M. J. Spooner, with main support coming from medium-pacers J. M. Rennie and R. D. Collett (six for 28 v Kimbolton). B. P. Howard, a young left-arm spinner, gained in confidence during the term and headed the averages. A good season finished with a tour of Holland, where all three matches, played on the mat, were won.

Birkenhead, with a strong side, achieved less than might have been expected, and it was felt that most of the drawn games could have been won. L. C. Parnell, a sensible, positive captain, batted and bowled fast-medium aggressively, and N. D. Cross hit centuries in difficult conditions v King's Macclesfield and Manchester GS; against the latter, Parnell scored 50 not out and then took six for 10 in seventeen overs. The leg-spin of D. A. Allan won two matches, and all the bowlers benefited from the outstanding fielding at short leg of I. G. Berry, who held fourteen catches in eight games. Bishop's Stortford, a particularly young side, beat Kimbolton, Dean Close, Wrekin and St Edmund's, Ware, but experienced eight defeats. Unexpectedly brittle batting – an exception being E. M. Peachey's maiden hundred v MCC – and a failure to exploit several commanding positions contributed to their undistinguished record. None the less the bowling was good. R. S. Jayatileke, a Sri Lankan off-spinner, took seven for 6 v Kimbolton, and D. N. Child, the captain, had six-wicket hauls v Berkhamsted and Dean Close. With their Under-17s reaching the South final of the Barclays Bank Cup, and the majority of the First XI expected to return, the college looked to 1991 with optimism.

Bloxham, playing mostly afternoon matches, often found results elusive, particularly on their own excellent pitches, even if batsmen did not always take full advantage of them. Rendcomb, Shiplake, Dean Close and MCC were all beaten. R. D. Beaty performed well both with gloves and bat, proving especially effective in a crisis at No. 7 or No. 8. E. R. H. Wornum (fast-medium in-swing) was the leading bowler, capturing an impressive 41 wickets. With only one win in schools matches and an exciting tie v Taunton, Blundell's were left to reflect on their inability either to defend a reasonable total or to score sufficient runs. M. R. N. Hunt, the captain, had a fine season with the bat, but his 524 runs were nearly twice the next aggregate. However, a record of one victory and three defeats in thirteen matches does not do justice to the strong batting side of Bradfield College. S. P. Bridgman's 596 runs featured two successive unbeaten hundreds – v Stowe, where he mastered some fiery opening bowling, and v the Old Boys. J. T. C. Kendall, an excellent captain, set a fine example with 25 wickets and 494 runs, his 153 not out v Westminster including a hundred before lunch. His younger brother, W. S. Kendall, also passed 400 runs.

An eventful season for **Bradford** GS culminated in the visit to Barbados for the Sir Garfield Sobers festival in July. The high number of drawn games reflected both a lack of penetration in the bowling and relative inexperience in the batting. Five of the seven victories came in limited-overs games, as did four of the six defeats. The consistent N. J. Gomersall and the captain, D. C. Whitfield, dominated the batting, with the hard-hitting M. J. Savage and the left-handed opener, S. A. W. Davies, also contributing. Slow bowlers D. J. Collinge and M. J. Hannan (left-arm) had encouraging first seasons. **Brentwood**, captained by the Under-19 rugby international, C. J. Wilkins, had a poor summer, with sound batting but a mediocre

attack. They were hampered by a crop of injuries to key players, as well as a loss of form by others of whom more had been expected. On the other hand **Brighton College** had an excellent season, winning 14 of their 22 matches and regaining the Langdale Cup when they beat Lancing by 16 runs. C. N. Gates batted superbly, his 1,378 runs being the second-highest in a season by a schoolboy after 1,534 by N. J. Lenham, also of Brighton, in 1984. Fully recovered from a fractured skull, suffered in a road accident at the end of the 1989 season, he hit four hundreds, including 178 not out v Ipswich, and won the *Daily Telegraph* Under-19 batting award. His opening partner and captain, R. D. Oliphant-Callum, made 832 and together they put on 222 unbroken v MCC and 265 v Ipswich. A varied attack was spearheaded by R. I. Lewis, with 45 wickets.

It was a season of rebuilding for Campbell College. D. A. Parker, an understanding captain, hit 112 not out v Banbridge Academy, as well as taking 24 economical wickets. Indeed, economy was a feature of the attack, in which four bowlers finished with single-figure averages. S. A. I. Dyer, whose 203 not out v Dungannon Royal School was a record for the college, went on to play for Irish Schools, and there were Ulster Schools honours for R. H. Lucas, the most successful bowler, Parker and C. R. M. Caves. The positive cricket played by Canford was apparent from their record of just three draws in sixteen games; Bryanston, Blundell's, the XL Club, Milton Abbey, MCC, RNCC, Wimborne CC and King's, Taunton were all defeated. The captain and opener, J. A. Perry, produced some outstanding performances with the bat, and seam bowler M. W. Forward gave the attack its edge. The real strength of the side, though, lay in the fielding, which was a key factor in their reaching the semi-finals of the Sir Garfield Sobers festival in Barbados.

With eight of Caterham's promising 1989 side in the XI again, hopes were high as the season began. However, injury prevented the captain, I. W. Armitage, from bowling, and although S. J. Constantin and S. K. Perera were steady and accurate, they had neither the support nor the penetration to put Caterham in control. K. A. Amaning overshadowed the other batsmen with his strokeplay. Benefiting from a pre-season tour to Southern Spain, a young, rather inexperienced Cheltenham XI enjoyed six wins, the most notable being v Haileybury, Pates GS, Free Foresters and St Edward's, Oxford – all achieved when batting second. They were ably led by B. B. Jones, and if his batting was generally disappointing, he did make a fine 102 v Free Foresters. Other hundreds came from two young players, M. C. Cawdron (114 not out v Malvern) and D. R. Hewson (109 v Dean Close). Cawdron, a lefthand opening bat and medium-pace out-swing bowler, collected 578 runs and 23 wickets and with Hewson (412 runs and, with off-breaks, 18 wickets) was selected for West of England Under-15. Hewson later played for England Under-15. D. R. Fulton again took the most wickets with his sharp in-swing, while M. C. Green's seven for 43, bowling left-arm medium, set up the win v St Edward's.

Chigwell's season was built around their Essex Under-19 all-rounders, P. C. Harvey (left-hand bat, right-arm medium) and J. F. Carpenter (right-hand bat, left-arm medium-fast), who provided 1,289 runs and 76 wickets. Harvey hit hundreds v Bancroft's (102 not out off 79 balls), Forest (126) and Wellingborough (119), and had figures of seven for 11 in 6.3 overs v City of London and six for 17 off ten v St Edmund's. Other highlights were a first-ever win v Bishop's Stortford; the defeat of Bancroft's, in which Harvey hit three sixes and fifteen fours in taking his side to 202 from 23 overs in 86 minutes; and the win v Forest, when Chigwell totalled a school-record 292 for seven, to which Harvey and D. R. Evans (96) contributed a record fifth-wicket stand of 182. Other wins were v City of London, Enfield GS, St Edmund's, Latymer and William Hulme's GS, while in schools matches they lost only to Magdalen College School. After a useful start, the Christ College, Brecon XI, which had promised so much at Under-17 level, failed to muster the cohesion and determination either to press home an advantage or to save the game. It was felt that the side was too confident and easy-going. Head and shoulders above the rest was the captain, E. P. M. Holland, who again won three caps for Welsh Schools as a fast bowler who can bat.

Clayesmore's young side performed better than anticipated, losing only three schools matches and achieving some excellent wins, in particular those v Allhallows and King Edward VI, Southampton. They owed much to the leadership and example of their captain, P. Bradbury, who headed both averages and was judged best batsman at the Bearwood festival. There were also noteworthy bowling performances from the young off-spinner, L. Coley, especially his six for 41 v the XL Club. Clifton's record eight wins included

victories v Colston's, Blundell's, Marlborough, Tonbridge and Winchester in schools games. The captain, J. R. A. Williams's aggregate of 935 runs passed C. M. Trembath's record of 767 in 1979 and included hundreds v Rugby, Marlborough, Tonbridge and MCC. Against Rugby, he and J. P. Parish shared a second-wicket partnership of 250. M. G. N. Windows hit 127 v Millfield on his way to an aggregate of 649 runs, while B. M. O. Gibbs, at fast-medium, was the most successful bowler. Williams played for Welsh Schools Under-19 and captained their Under-16s.

Colfe's, an inexperienced side, worked hard and performed creditably. Even so, they depended heavily on three all-rounders: M. Horder, the captain, M. Quilter and wrist-spinner J. Gledhill-Carr. Of the younger players, T. Shoben and A. Hameed showed run-scoring potential, but as yet lacked consistency, while it was hoped that E. Gratwick (fast-medium) and R. Dennis (off-spin) would develop and strengthen the attack. In a moderately successful season Colston's beat King Edward's Bath, Prior Park, Bristol Cathedral School, Truro School and Christ College, Brecon. The captain, J. A. Franklin, I. J. Webb and M. J. Sheedy all scored centuries, with Franklin's 144 v Bristol Cathedral School, 136 v Kingswood and 186 v Hutton GS helping him to a school record aggregate of 906 runs. Cranleigh's positive approach brought them wins v the Cryptics, Eastbourne, Cranleigh Village, Epsom and Loretto. Defeats were by MCC, Lancing, King's Canterbury, St John's Leatherhead and Merchant Taylors', Northwood. The high standard of ground fielding was especially noteworthy, as were figures of eight for 44 and six for 44 by H. C. Watkinson and seven for 32 v Epsom by G. B. Atkinson. The batsmen were always looking for runs, but there were few dominating innings.

Dauntsey's, building afresh, began the season tentatively and at half-term were still looking for their first win. The XL Club obliged, after A. N. Field (fast-medium) had taken six for 72, and three more victories followed in the last four matches. The batting was strengthened by newcomer I. D. Hardman, a left-hander, whose 103 v King Edward's, Bath was the only hundred. D. P. Atkins (slow left-arm) took six for 52 on a responsive pitch v Kingswood and Field returned seven for 44 v Wycliffe, who won an exciting game by one wicket in the last over. Under the captaincy of G. M. Gaiger, a good spirit was maintained, even during the frustrating early weeks. Dean Close, if somewhat disappointing in terms of results, provided some exciting cricket. Neither of their Gloucestershire Under-19 representatives, C. J. Townsend, the captain, and C. S. Knightley, quite lived up to expectations, although Townsend played some good innings and Knightley, batting left-handed and bowling rightarm medium pace, made a useful all-round contribution. J. M. Bowditch, if not yet accurate enough with the new ball, had his moments.

The young Denstone XI, unbeaten and never bowled out, should perhaps have achieved more than four victories - v Wrekin, Old Denstonians, Abbot Beyne and King Edward's, Birmingham. While not quite reproducing his form of 1989, the captain, J. N. Snape, did hit an impressive unbeaten 128 v Worksop and provided seven other fifties. He went on to play for Northamptonshire Second XI and English Schools, and also captained England Under-17 against the touring Pakistanis. Dover College began with victory over the Duke of York's Royal Military School, but thereafter won only once more. Weak bowling again put undue pressure on the batsmen, among whom A. S. Burrell showed resolution as an opener and S. J. Schilder played some handsome strokes. The captain, D. M. Rouse, though scoring far fewer runs than in 1989, finished his school days with a total of 1,586. It was the opposite at the Duke of York's Royal Military School where, with batsmen losing their wickets in a premature attempt to push the score along, they struggled to compile big totals. On the other hand, the bowlers performed with great credit. G. J. Kennett purveyed his leg-spin with commendable enterprise and looked to give the ball air, while D. J. Reynolds's left-arm swing was always threatening. He returned six for 20 as St Edmund's, Canterbury were bowled out in pursuit of a total of 120. Of the batsmen, N. M. Conway demonstrated a sound technique and showed promise as a wicket-keeper, while the captain, C. N. Conway, generated a good team spirit and led by example in the field.

A record of three wins and five defeats for **Dulwich College** is a little misleading, for three of those losses were sustained while four leading players were on a rugby tour of Australia. Highlights were the defeat of King's, Canterbury and J. H. Potter's 115 v Epsom. The left-handed R. S. Sheldon, captain of the XI, headed the batting. **Durham** began the season by winning their first three games, but defeat by Pocklington on a damp wicket was followed by

several drawn games which should have been won. The talented Weston brothers were the mainstay of the side: the captain, W. P. C., opening the batting and bowling, contributed 527 runs and 30 wickets, while his younger brother, R. M. S., opening bat and leg-spinner, scored 643 runs and took 22 wickets. Philip Weston played for English Schools and was chosen to tour New Zealand with England Young Cricketers in 1990-91, and Robin, the England Under-15 captain, received the Sir Jack Hobbs England Under-16 all-round award. Highlights were a nine-wicket win v St Peter's, York and the school's appearance for the third time in five years in the final of the Barclays Bank Under-17 Cup; they were beaten by Richard Huish VI Form College, Taunton.

At Eastbourne College the skill and good sense of the captain, A. J. T. Halliday, made for a cheerful, well-motivated side. Potentially gifted young cricketers were encouraged to play some exciting cricket, seen noticeably in the wins v Tonbridge, Christ's Hospital and King's, Canterbury. Halliday's 114 v Christ's Hospital and B. H. Miller's unbeaten 100 v St John's, Leatherhead were major batting moments, while the best performance with the ball was E. G. R. Barrett's return of seven for 13 v Stragglers of Asia. Highlight of an erratic season at the Edinburgh Academy was the exciting two-wicket win v Glenalmond, and there were interesting games v Barnard Castle and Scots College, Sydney, the latter winning by just 1 run. J. N. K. Godfrey's captaincy became more enterprising as the season developed, while the innings of 152 v Kelvinside by his fellow-opener, R. W. Cairns, was the highest for the Academy in twenty years. In a season of rebuilding, Elizabeth College, Guernsey were content with a record of eight wins, those v Malta and Victoria College, Jersey being particular highlights. Notable individual performances came from the captain, P. J. A. Moody, whose 50 wickets included seven for 30 v Latymer and six for 48 v Victoria, and T. Hollyer-Hill, who scored 103 not out v Reed's in an aggregate of 617 runs.

Ellesmere College beat five sides, including a strong MCC XI, and were one wicket away from a comfortable victory in three of their drawn games. G. N. Phillips (fast-medium) returned seven for 41 v Shrewsbury, and his opening partner, J. G. Slater (fast), took five for 12 v Liverpool College. Eltham's strong batting line-up was headed by the consistent left-handed opener, J. M. Ramsey, but their bowling, while capable of containment, struggled to bowl sides out. The college were Kent Cup finalists for the second successive season; in the semi-finals, the captain and leading wicket-taker, F. Kavina (leg-spin), took six for 27 v Judd. Emanuel enjoyed an outstanding season, their nine victories including the finals of both the London and Surrey Cup competitions. In the former they recovered from 34 for four in rain-affected conditions to pass Alleyn's 101 with an over to spare; in the latter, a boundary in the last over brought a two-wicket win v KCS Wimbledon. J. C. Cole deputised admirably in the absence, for much of the season, of the captain and all-rounder, M. D. Coe.

After losing two of their first three matches, Enfield never looked like losing again until late July. Wins v Hampton, Forest and Scots College, Sydney, and the draws v Haberdashers' Aske's and Merchant Taylors', Northwood, were season's highlights. D. Bowen became the first batsman to score 1,000 runs in a season for the school; of his three centuries, his unbeaten 196 v Reigate GS included a hundred before lunch. Other three-figure innings were played by N. Clydesdale and the captain and wicket-keeper, J. King. N. Lutwyche (off-spin) and M. Stevens (left-arm medium) made a contrasting attack and took 56 and 40 wickets respectively. Epsom College won six of their ten matches, including those v St George's Weybridge, Christ's Hospital and – scoring 261 with one ball to spare – KCS Wimbledon. T. R. Newton, a left-handed all-rounder, took 33 wickets, including six for 18 v Lancing, and hit out strongly, while P. E. Roche and N. A. Morris provided the backbone of the batting, the latter playing the side's only three-figure innings.

A record of three wins and three defeats does not do full credit to a good Eton side, unbeaten against schools in term and losing only to Eton Ramblers and, in the Silk Trophy festival, to hosts Radley and Shrewsbury. The wins were v St Edward's Oxford, Cranbrook and Harrow at Lord's, where Eton's batsmen played to potential and Harrow were outplayed. J. M. S. Whittington, in his first season, took 49 wickets with his left-arm slow bowling and went on to take 22 more for Berkshire Schools and win the Daily Telegraph Under-19 bowling award. In his first schools match for the XI he had figures of 7.3-4-3-8 v St Edward's. The XI was led with rare commitment by all-rounder H. J. P. Chetwood, though in part at the expense of his off-spin bowling. Exeter School achieved three of their seven wins on an end-of-term tour to Hereford and Brecon. A consistent batting line-up was headed by D. R. Gannon,

whose last two innings produced centuries, while the captain, M. J. Stevenson, bore the brunt of the bowling when injury to M. H. T. Jones (medium-fast) disrupted the attack. However, J. R. Price (slow left-arm) returned good figures on the tour.

It was a disappointing season for Fettes, who rarely looked like winning and were beaten eight times. One bright spot was the bowling of the captain, J. R. S. Lloyd, who repeatedly took five wickets in an innings, to finish with 43, and looked a fine prospect. Forest won six and lost five of their sixteen fixtures. The distraction of A levels possibly affected the performance of their leading players; the captain, A. C. Richards's aggregate was half that of 1989, for example. Even so, he, P. O'Neill (medium) and wicket-keeper A. Heyes all made major contributions, along with the left-arm spinner, J. Dwyer, who emerged as the leading wicket-taker. Richards went on to captain English Schools and was offered a summer contract for 1991 by Essex, having played for their Second XI in 1990. Under the captaincy of B. Smyth, Foyle and Londonderry College won fourteen of their eighteen matches and finished the season as joint holders of the Gordon McCullough Memorial Cup. Their strong attack was spearheaded by J. Brown, who took seven for 19 v Coleraine Academical Institution and, with Smyth and J. McFarland, was selected for Ulster Schools. These three, with T. Dougherty, were the essence of the side's batting strength. Six of Framlingham's eight wins came in a run that ended with their only loss - to Kimbolton at the St Lawrence, Ramsgate festival. Success came from their all-round strength: N. I. Barker, S. E. Iliffe, the captain, and W. J. Earl scored consistently, while the opening attack of M. J. Rutterford and J. G. C. Townsend was balanced effectively by the slow left-arm bowling of P. Edwards.

Giggleswick beat Hipperholme GS, Oakwood and the Old Boys, but generally struggled to bowl sides out. Glenalmond's young, competitive side were moderately successful in an enjoyable season. Highlights were a fine century v Strathallan by S. C. Scott Elliot and his opening partnership of 158 with J. D. Thomson v Fettes. The captain, R. M. Jebb, bowled leg-spin to good effect for 31 wickets, while the medium pace of J. C. Caldwell provided a further 27. With Gordonstoun's senior players in particularly lean form, 1990 was not a vintage year. Poor weather in June led to several matches being cancelled, which, combined with the pressure of exams, meant the season ended on an unsatisfactory note. A highlight for Grenville College was their win v rivals West Buckland, against whom R. S. Hann took six for 28. The batting was headed by S. Blakers, an Australian, the consistent J. F. T. Pallister and D. R. Ellacott, who had an outstanding season behind the stumps. Seam bowlers took the most wickets, and a newcomer to the XI, M. J. Graham, though erratic, was fast and hostile. Gresham's, though not playing to their true potential for much of the season, finished in fine style with resounding victories v Oakham and Bromsgrove. The individual highlight was an innings of 141 by the captain, I. D. Barnett, v The Leys.

Haberdashers' Aske's were unbeaten. B. Moore (the captain), M. I. Yeabsley and R. Thacker, the top three in the order, made 2,121 between them, with Moore and Yeabsley putting on 225 unbroken for the first wicket v Queen Elizabeth's, Barnet, and three days later, in their next match, opening with 171 v Berkhamsted before being parted. Against Queen Elizabeth's, Yeabsley's younger brother, R. S. Yeabsley, returned eight for 29. The bowling honours were shared between the two brothers, Michael bowling off-spin and Richard medium-fast, supported by Moore (medium). Both Yeabsleys represented Hertfordshire Under-19 and Richard played for Middlesex Second XI and for Devon in the NatWest Bank Trophy; Moore played for Middlesex Young Cricketers and Thacker for Middlesex Under-17. Hampton enjoyed four successive wins in May, only for a frustrating string of draws to follow. S. C. Janes and J. E. Sudbury blended sound defence with attacking flair in a successful opening partnership, while seamer S. A. H. Cochrane produced match-winning spells v Latymer and RGS Guildford. The hostility of J. A. Scowen with the new ball and the increasing control of left-arm spinner J. E. Saunders promised well for the future. In schools matches, Harrow beat Bedford and St Edward's, Oxford, and lost only to Eton and Zimbabwe Schools; otherwise results were hard to come by on the good, dry wickets of 1990. An unbeaten century by C. E. Williams v Radley was the batting highlight, while among the bowlers R. E. Sexton took 40 wickets in his first season.

The Harvey GS recorded fourteen victories and won the Lemon Cup for Kent schools for a record seventh time. They owed much to their opening bowlers, R. J. N. Davis and A. W. Morris (both medium), who took 56 and 50 wickets respectively and were well supported in the field. Highgate enjoyed their best season in terms of wins since 1971, thanks particularly to

the bowling of T. Gladwin and M. Sylvester, plus some steady batting. Thirteen-year-old E. Gladwin showed much promise with 50 on début, v MCC, and an average of 38.66 from his three innings. The relatively young side of **Hurstpierpoint** beat Seaford, Worth, Whitgift, St John's, Eastbourne and Ellesmere in schools matches, and the Under-17s reached the last four of the Barclays Bank Cup. P. T. Wicker, who hit an unbeaten 100 v St George's, and M. J. Semmence, the captain, were selected for Sussex Young Cricketers. M. J. King, who bowled some brisk spells, took the most wickets, including seven for 35 v Ellesmere; their other three wickets fell for 5 runs to Semmence. **Ipswich** continued their success of 1989, winning five games, losing only once, and finishing the season in style with victory v Dutch Colts at The Hague. The steady batting and leg-spin bowling of R. Catley stood out, while the seam bowling of C. Earley made its mark late on. J. Douglas, in his first season, made hundreds v The Perse and Brighton College, and also headed the bowling averages.

Kelly College, a young side, acquitted themselves well, though occasionally betraying their inexperience. They could bat right down the order – C. P. Insole, the captain, was the most impressive of the batsmen – and only one opposing team exceeded 175 against a steady attack built around J. J. Wood (medium), W. G. Pendrill (left-arm medium) and I. J. Saunders, a promising leg-spinner. Their best victories were v Exeter School and Truro School. Kimbolton, disappointing in terms of results, had a successful season in terms of development and attitude, with excellent wins v Berkhamsted and Framlingham providing reward and optimism. The captain, R. J. T. Ramply, a left-hander, headed the batting and forged a useful opening partnership with S. G. Wood, a fine wicket-keeper. The bowling was spearheaded by I. Prideaux (fast-medium), who operated with ideal control and pace. The experienced, well-balanced XI at King Edward VI College, Stourbridge, characterised by all-round team effort and fine catching, featured in some exciting finishes. Three of their six wins came in the last over, and close of play in four of the six draws found their opponents' last pair at the crease.

First-ever wins v Canford and St George's, Weybridge were highlights for King Edward VI, Southampton, who won eight other matches, retained the Altham Trophy and lost only to Brighton in schools fixtures. B. Quantrill proved to be an able captain, and while his steady batting was well supported by R. T. Markham, it fell to a fourth-form boy, G. R. Treagus, to play the only three-figure innings. The left-arm spinner, R. M. Salter, again exceeded 50 wickets. A difficult season for the young side of King Edward VII, Lytham brought no wins, but there were close draws v Arnold and King's, Macclesfield, to suggest the potential for 1991. The captain, P. Macauley, a left-hander, played quality strokes on occasions, and his opening partner, G. Maitland, a promising Under-15 player, headed the averages. P. Young (medium-fast) bowled tirelessly without having much luck or reward. King Edward's, Birmingham were pleased to win more matches than they lost at a time when the attack, with the exception of the captain, M. M. Dean, was expected to be only average. The bowling of C. D. Atkin was a bonus. As anticipated, the batting was sound, and an unbroken tentwicket stand of 112 v Solihull between N. M. Linehan (81 not out), a colt, and D. A. Bhadri (50 not out) was an unusual highlight.

King's College, Taunton were well captained by W. J. K. Greswell, who had two fine centuries amongst his 625 runs, while the openers, R. E. Berry and C. P. W. Cashell, scored 72 and 93 respectively in a school record opening stand of 178 to beat Blundell's by ten wickets. With most of the XI due to return in 1991, it was an encouraging season. At King's College School, Wimbledon, meanwhile, J. Parrish and captain R. Q. Cake formed an opening partnership that few could rival, scoring 833 and 927 runs respectively. H. S. Malik was another to pass 600, while of the bowlers A. M. Denslow (fast-medium) captured 47 wickets in his first season. Cake's sensible but sporting declarations made for some exciting cricket, notably v Epsom (q.v.). King's, Bruton beat Taunton School, Canford, Milton Abbey and Queen's, Taunton, losing only to the Old Boys. With seven of the side expected to return in 1991, prospects are good. Five wins were more than might have been expected by King's Canterbury. Their inexperienced batting was always likely to be a problem, and indeed several defeats resulted from batting collapses, but their difficulties were compounded by an injury to their opening bowler, M. I. G. Wilkinson. His absence from all but five matches considerably weakened the attack. The well-balanced King's, Chester XI recorded ten victories, were unbeaten by schools and lost, in the last over, only to a strong MCC side.

King's, Ely also won ten games, the most memorable of which was the 1-run victory v The Leys in the final of the Cambridgeshire County Cup. They lost to just one school. D. C.

Hindle, their captain, claimed a hat-trick in successive matches - v Woodbridge (all bowled) and v King's, Peterborough - and in taking seven wickets in the final match he equalled the school record of 49 in a season. C. Q. Taylor, an opening bat, hit hundreds in successive matches, and A. M. Gallop's 143 not out v King Edward's (King's Lynn) was Ely's best for some time. Undefeated by schools for the first time in recent memory, King's, Macclesfield lost only to MCC and beat Bury GS, the Masters' XI, William Hulme's, Arnold, Bolton School, Bury GS, Ipswich School and Brighton College. Their Australian opening batsman, K. A. Graham, was outstanding, his 1,075 runs passing by 83 the school record set in 1981 by P. Moores, the Sussex wicket-keeper. The attack was led by S. C. James (fast-medium) whose six for 32 v William Hulme's included a hat-trick, and M. R. Palmer, who opened at fastmedium but could also ply off-breaks. The batting of King's, Rochester was dominated by M. J. Walker, whose 872 runs included 156 not out v Chatham House, 143 not out v the XL Club, 105 v Maidstone GS and 124 v KCR Common Room. He also took the most wickets (28) and went on to play for Kent Second XI and England Under-17 v Pakistan Young Cricketers. King's, Worcester did not play as well as anticipated, injuries and exams affecting the form of at least two senior players. However, R. Tomlinson, captain and wicket-keeper, passed 500 runs for the second successive season, and there was a feeling of satisfaction when A. Thompson, having hitherto struggled for runs, hit an unbeaten century v Reigate on the end-of-season tour to Victoria College, Jersey.

Kingston GS, a young XI, made good progress; they won five games, and three of their eight defeats came in the last over. The captain, E. S. Gratton, batted consistently well, his 120 not out v RGS Guildford lifting the side from 91 for eight. With the ball, M. E. Bendel (fast-medium) began the season in fine form, only to incur a back injury, and the lack of a good spin bowler was a further handicap. Kingswood's batsmen hit a record number of three hundreds, with the captain, G. J. B. Williams's 156 not out in 140 minutes v Colston's a school best. Unfortunately, moderate bowling resources meant that batting dominance was only thrice converted into victory. The attack of King William's College, Isle of Man had similar limitations, with openers N. C. Capewell and D. R. Norman failing to fulfil earlier promise. However, L. R. Clarke, a young medium-pace bowler, responded well to additional responsibility. The batting relied heavily on a solid start from the openers, M. L. Craine, the captain, and U. A. Nwachuku, an Under-15 colt.

Following a tour to Australia at Easter, Lancing had a reasonable season, reaching the final of the Langdale Cup, only to lose to Brighton College. S. Baker dominated with bat and ball, bowling at a lively pace for his 34 wickets and including a fine century v Worth in his 934 runs. For the first time the college were hosts to Malvern, Charterhouse and Rugby in the endof-term festival. Not surprisingly, the main contributor for unbeaten Leeds GS was their captain and all-rounder, T. C. Walton, who scored 545 runs, took 49 wickets and went on to play for English Schools and England Under-17 v the touring Pakistanis. A fourteen-year-old left-hander, I. C. Sutcliffe, developed promisingly as an opening bat, but while R. M. Atkinson bowled his left-arm spin to good effect, Leeds, like many schools, simply could not bowl sides out to exploit winning situations. Pre-eminent at The Leys was their left-handed opening bat, R. C. Weston, who set three new school records. His aggregate of 988 runs passed the 977 scored in 1984 by J. D. R. Benson of Leicestershire; his 202 v The Perse (three sixes, 21 fours) overtook Benson's 201 not out in 1983; and he shared in a record opening partnership of 219 with M. C. Donnor (82) v the XL Club, going on to 163 not out. Weston scored 692 runs in June, and missed the opportunity of totalling 1,000 for the season when the school's last match was abandoned. Donnor, a Cambridgeshire Under-16 representative, scored 607 runs and took 23 wickets with his leg-spin. D. J. Woods, the wicket-keeper, captained Cambridgeshire Under-17.

Initial promise tailed off into disappointment for Liverpool College as technical weaknesses, to some extent countered earlier in the season by spirit and determination, were exposed by stronger sides. Only J. Q. Harrington, the captain, and the left-handed B. Latto scored consistently. With the ball, J. Rushton (medium) bowled steadily, J. Rylance (fast-medium) showed potential, and Harrington sometimes bowled his leg-breaks to good effect. Llandovery College, unbeaten by schools, won half their matches and lost only to Pontyberem CC. Their strength lay in the batting, headed by S. A. Richards, who batted with style and maturity and proved to be an excellent captain. He also led the Welsh Independent Schools. On May's hard wickets, runs flowed, but rain and exams made June a difficult month. B. Rowlands

developed encouragingly as an all-rounder, and his left-arm fast-medium bowling was supported by G. D. A. Lyddon-Jones and H. G. Davies (both medium-fast). Lord Wandsworth College, with seven wins to set against a solitary defeat, owed their success to the opening attack of N. P. B. Rochford and J. R. Cowles. Both showed genuine pace and hostility and, sharing 71 wickets, contributed to the dismissal of four sides for less than 100. The captain, D. A. Robinson, chipped in with 24 wickets from off-breaks. Though the batting was seldom tested, fifteen-year-old B. A. Hames opened the innings stylishly and scored the first hundred for the school in three years.

Loretto's young side did well on the local circuit, losing only to Merchiston Castle and beating Strathallan (all out for 47), Glenalmond (for 54), Fettes, George Watson's and Stewart's Melville; but their record was dented during their festival when the batting, capable in pursuit of low scores, proved more brittle. Defeats by Bryanston, Cranleigh and Rossall outweighed the win v St Peter's, York. A. C. F. Mason (left-arm fast) bowled consistently well, with figures of six for 31 v Stewart's Melville and four for 9 v Strathallan contributing to the 81 wickets he shared with the captain, J. A. G. Grant (medium). Two left-handers, C. J. Hawkes and G. Leeson, were the outstanding cricketers at Loughborough GS. Leeson, opening the batting, hit four hundreds in his 808 runs, while Hawkes contributed 611 runs and 48 wickets. Hawkes played for Leicestershire Second XI and at the end of the season made his County Championship début v Derbyshire. Friars of Derby, Old Loughburians, Leicestershire Gentlemen, the XL Club, King Henry VIII Coventry, and Bablake (bowled out for 48; J. Simpson seven for 13), were all beaten; the one defeat came in the final over v RGS Worcester.

Enterprising cricket earned Magdalen College School ten victories. Among the four batsmen who passed 500 runs, M. B. Bixby and fifteen-year-old N. S. Hawken, scoring 110 and 100 respectively, put on 212 unbroken for the second wicket v Reading School. S. D. Stinchcombe (off-spin) again took the most wickets, ably assisted by the wicket-keeping of the captain, T. H. Boyles, whose 34 dismissals included a school record of seventeen stumpings. Malvern College, in their second-best season since the war, were unbeaten by schools and defeated Shrewsbury, Marlborough, Dean Close and Cheltenham, against whom they successfully chased 250 in two and a half hours. There were hundreds from P. V. Sykes and J. W. A. Horton, the captain, while a good seam quartet was spearheaded by C. R. Phillips. S. J. C. Ferguson, an able wicket-keeper, could put aside the gloves to bowl leg-breaks when required.

Reservations about the inexperienced batting of Manchester GS seemed justified when they were bowled out for 119 by Rossall in their first match. However, revealing fine character, they improved to beat Bradford GS, Liverpool College, Arnold, William Hulme's, Bury GS (twice) and King Edward VII, Lytham, losing again only to Bangor GS and Pocklington. The batting relied heavily on M. J. P. Ward, who followed scores of 96 not out v Shrewsbury and 98 v RGS Lancaster with 106 not out v William Hulme's, 104 v Taunton and 145 not out v Bury to total 962 runs. L. J. Marland, promoted from the Under-14s to open with Ward, possessed a sound technique but as yet lacked the power to dominate. The bowling was opened by N. S. Farmer and M. C. Jones, who was often too fast for opposing batsmen, while Ward and Marland, in their differing styles, provided variety with off-spin. The XI were ably led by A. M. Dodd. For Marlborough, 1990 was a disappointing season. Their batting was sound enough, but they bowled just one side out and managed only a single win – v St Edward's, Oxford. The fielding of J. Simkins and the potential all-round talent of M. E. C. Harris were noteworthy.

Merchant Taylors', Crosby reported an unspectacular but enjoyable season in which morale was good under the captaincy of G. S. Glynne-Jones. However, his inability to bowl, owing to injury, weakened the attack. Only three sides were dismissed, and there were heavy defeats at the hands of Leeds GS and RGS Lancaster. Glynne-Jones contributed soundly with the bat, though, to head the averages, and the Doggett brothers looked promising prospects. Merchant Taylors', Northwood numbered St Albans, Highgate, Watford GS, Aldenham, University College School, Dulwich, Stowe, Mill Hill, Cranleigh and Bryanston among their record twelve wins. A. J. Brand, the captain, passed 1,000 runs for the second successive season, but was beaten to the mark by opener C. M. Jaggard, whose 1,364 runs, including five centuries, fell 33 short of J. E. Raphael's record aggregate of 1,397 in 1901. Brand's 202 not out v Cranleigh in the Loretto festival improved by 1 run the school record he established the previous year. They and R. A. Hawkey, who scored 975 runs, made a formidable top three.

Merchiston Castle, under the captaincy of G. C. Wearmouth, were undefeated by Scottish schools and won v Dollar Academy, George Heriot's, Glenalmond, Dundee HS, Loretto, Strathallan, Fettes and the strong Durham XI (by 97 runs after recovering from 41 for six to declare at 199 for nine). The only schools to beat them were Barnard Castle and RGS Newcastle. In a strong seam attack, A. R. C. Gilmour's excellent line-and-length medium pace brought him 59 wickets, including five for 17 and five for 30 in the two-day game v Fettes. His opening partner, A. A. L. Ramsay, B. R. S. Eriksson, able to swing the ball both ways, and D. W. Hodge (in-swing) lent admirable and accurate support. For Millfield, G. W. White became only the third player to score 1,000 runs for the school, his 1,061 including 200 not out v Welsh Schools and 104 v Somerset Second XI. He was followed in the batting by the captain, N. F. Gibbs, who headed the bowling and represented English Schools.

Mill Hill's young side were without a win until the end-of-term festival, where they beat Norwich, Warwick and Plymouth. A colt, D. M. J. Kraft, was the most successful batsman, while the bowling again relied heavily on the slow left-arm skills of the captain, G. E. S. Brock. Although they had no outstanding players, Milton Abbey's strength in depth helped them beat St John's Southsea, Clayesmore, Allhallows and Portsmouth GS, the lastmentioned victory coming when Portsmouth, chasing 187, collapsed from 166 for three to 184 all out. In contrast, Monkton Combe's season was notable more for individual performances. N. C. L. Sinfield took all ten for 39 in 15.1 overs v Dauntsey's, although he never quite bowled his medium-pace in-swing to such good effect again, and T. Simmons, the captain, compiled a school-record aggregate of 630 runs. His 100 not out v the XL Club was the first hundred for the XI since 1971, and S. Lockyer followed it with another unbeaten century in the eightwicket win v Fettes at the St Paul's festival. The inexperience of Monmouth's bowling told in their record of ten draws in fifteen games. A. J. Jones, by far the most successful batsman, scored 136 v Wellingborough School and, along with J. H. Langworth, played for Welsh Schools. P. A. Clitheroe's leading aggregate of 31 wickets included six for 49 in the six-wicket victory v Colston's.

Newcastle-under-Lyme, unbeaten, experienced little difficulty in bowling sides out. I. Bradbury was their most successful bowler, and wicket-keeper R. M. Davis enjoyed another distinguished season. With the bat M. H. Colclough, an England Under-15 representative, and J. N. Britton both averaged over 70, scoring 100 each v Royal Wolverhampton as they put on a record 219 for the third wicket. The excellent attitude and team spirit of Nottingham HS made for an enjoyable and moderately successful season; the high proportion of drawn games was attributed to the good batting wickets and some sides setting safe targets. However, there were a number of exciting finishes, none more so than in the 100th fixture v Trent College (Nottingham 174 for eight dec., Trent 174 for nine).

Oakham's disappointing record stemmed from a lack of application among their batsmen, of whom only N. C. Kingham, the captain, and P. M. J. Webb were consistent enough. M. Cullen and Kingham were the pick of the bowlers, invariably bowling a good line and length. Hard work and team spirit brought success to The Oratory XI, whose ten wins included those v Magdalen College School, Pangbourne College, St Edmund's, Reading School, Berkshire Gentlemen, the XL Club and Emeriti. J. D. Clarke and D. Olszowski both passed 500 runs, with a century apiece; Clarke hit 125 v Abingdon and Olszowski 101 v Reading in a total of 206 for five from 28 overs. Although the attack lacked the incisive edge of recent years, four bowlers took twenty wickets each. A young Oundle side, well led by A. Lee, also played with fine team spirit. They beat The Leys, Oakham, Oundle Rovers, Northamptonshire Amateurs and St Edward's, Oxford, losing only to Felsted (in an overs match) and at the end of the season to Uppingham. A highlight was the fast-medium bowling of A. Richardson v Repton, taking six for 43 in a skilful display.

The Perse again showed themselves capable of scoring prolifically, passing 200 on five occasions, and once going on to 303 for four only to be beaten by The Leys. This illustrates their bowlers' lack of penetration and accuracy; unable to capitalise on their batting strength, the side went without a win. D. Crabb completed three excellent seasons behind the stumps and both E. W. H. Wiseman and R. T. Ragnauth showed promises with the bat. B. J. G. Edgar, an England Under-18 hockey international, scored 158 v Bishop's Stortford – the fourth time in two seasons the school record had been beaten. For their ten victories, set against a single defeat, Plymouth College owed much to the magnificent batting of A. R. Maddock, whose 1,128 runs at 86.76 included five centuries. He received sound support from

any number of batsmen, all of whom could have scored more runs had the need arisen. The absence for much of the season of S. W. Nicholson and A. Ginster left a gap in the attack, although S. D. Hunt and K. J. Willcock bowled well to share 71 wickets. Portsmouth GS did not quite live up to expectations, with only five wins in fifteen games. The captain, J. P. Osborne, and C. J. Ward both passed 500 runs, while opening bowlers J. R. Compton and H. Rushin took their wickets at a reasonable strike-rate. Inexperience and ill fortune affected Prior Park, who had hoped for more than four wins from potentially their best side for a decade. They played to a high standard and were captained with maturity by G. Lee, who provided the self-belief missing in some of the younger players. J. Power included the side's only hundred in his 744 runs, an aggregate not surpassed in recent years, while Lee twice went close to three figures in compiling 595 runs; he also took 35 wickets with his off-spin. J. Smithers's 36 wickets were an excellent return for a seam bowler at the college.

Carried along by a great team spirit, Queen Elizabeth GS, Wakefield enjoyed their best season for many years, winning three games and finishing "moral winners" in six of their nine draws. Much depended on the all-rounder, R. J. Ledger, and opening bat P. M. Dickinson; it was significant that the only defeat – v Woodhouse Grove – came when neither performed to potential. Highlight in a successful season for Queen Elizabeth's Hospital was the eight-wicket victory v local rivals, Colston's; in other regular schools matches only the powerful Queen's, Taunton side beat them. D. C. Taylor, bowling left-arm wrist-spin, captured the most wickets, although N. O. McDowell (medium) headed both averages. He was followed in each by the captain, D. N. Bennett (fast-medium), who took six for 42 v Bristol GS. Queen's, Taunton, with their outstanding depth in batting, were bowled out only once. Schools beaten in seven victories included Bristol GS, Wycliffe, Queen Elizabeth's Hospital, Bishop Vesey's and Taunton. N. J. Burke, who headed the batting, made 103 v King's, Bruton.

An unusual feature of **Radley's** season was their drawing two games with the scores level – v Free Foresters and St Edward's, Oxford. In both cases Radley were chasing, and it was felt these should have been added to the wins v Cheltenham, Marlborough, Winchester (scoring 3 off the last ball), Eton and Geelong. They lost only to Stowe and, hosting the festival, won the inaugural Silk Trophy. **Ratcliffe**, with four wins, were unbeaten until the penultimate game, v Nottingham HS, and could look back with satisfaction on victory over Mount St Marys and draws with Oakham, Wellingborough and Loughborough. The bowling relied too heavily on the captain, P. G. Meredith, but the batting, while not really strong enough to chase large totals with confidence, had a more solid look about it. Fifteen-year-old E. J. Meredith headed the averages for the second year. **Reading**, a young and inexperienced XI, enjoyed their cricket, despite winning only once. **Reed's**, capable of making runs, were handicapped by a lack of variety in bowling, with too much being done by the specialist batsmen. One of these, M. R. Neal-Smith, took 31 wickets with his off-spin bowling.

Reigate GS were disappointed to lose nine of their 25 fixtures. Consolation came in the batting of A. J. Dewson, whose 680 runs included 102 v Emanuel, M. K. Hynard (110 v Old Reigatians) and in particular of S. J. Hygate, who had scores of 136 v Victoria College, Jersey and 129 v Portsmouth GS in his 873 runs, the second-highest aggregate for the school after N. J. Falkner's 1,139 in 1980. Opener C. B. Amos and left-armer R. J. Hathaway provided the bowling support for N. J. Chapman, an outstanding prospect who captured 43 wickets and hit 368 runs in his first season. Rendcomb began well, winning three of their first four matches and drawing with Cheltenham; but only one more match was won. The left-arm spin of the Gloucestershire Under-19 representative, A. Jones, was the pick of the bowling, while R. Milner (medium), who took six for 19 v Cheltenham, and R. Hughes (medium awayswing), eight for 42 v Bloxham, led the seam attack. Milner, a left-handed opening bat, and J. Carroll both passed 600 runs, but no-one else reached 250.

In schools matches **Repton** registered victories v Pocklington, Oakham, Wellington and King Edward's, Birmingham, and in all games suffered only one defeat. Though eleven games were drawn, there was much exciting cricket, with several going to the last ball and any of four results possible. The side was led by the opening bowler, J. M. Windsor, who took the most wickets; the batting was headed by A. R. Paulett, who scored 105 not out v Pocklington, and M. D. Murray, son of the former West Indian wicket-keeper, D. L. Murray. **Richard Huish College, Taunton** beat the strong Durham side to become the first state school to win the Barclays Bank Under-17 Cup since its inception in 1982; an encouraging result at a time when cricket in state schools is said to be in decline. With the last pair together, and chasing

Durham's 140, Huish's opening bowler, N. Hammacott, hit 2 off the last ball to tie the scores, making them winners by virtue of fewer wickets lost. For thirteen wins in eighteen matches, they owed much to a batting line-up headed by Kevin Parsons, whose 886 runs in twelve innings were a school record, his twin brother Keith, the captain, and B. Collins, the last two making solid all-round contributions. The Parsons, who between them also held 21 catches, played for Somerset Second XI, as did the seam bowler, K. Moyse.

Rossall's season was one of the most successful for many years. They began by beating Manchester GS in their first fixture and followed with seven more wins, including those v Arnold, Giggleswick, Stonyhurst and King Edward VII, Lytham. The opening attack was especially hostile and quick, with S. D. Holmes in particular worrying many batsmen when the wickets were hard in May. He took six for 28 v King Edward's. While N. H. Crust was less successful with the bat than in 1989, he still scored the most runs, and his captaincy was an important factor in the team's success. J. Elliott hit their only century, 100 y Cranleigh in the festival at Loretto. Batting and bowling records were broken at Royal GS, Guildford. B. C. Ray, the captain, compiled a record aggregate of 673 runs, his 141 v RGS Colchester being voted the outstanding individual performance of the RGS festival. He and N. Kent, whose 500 runs included six fifties, dominated the batting, but the middle order rarely seemed able to consolidate. A. Thomson's ability to move the ball both ways at medium pace brought him 48 wickets, also a record, including a return of eight for 57 v St Dunstan's. The fact that 28 of his victims were bowled is a testimony to his accuracy. Newcomers G. Morley and T. Fraser put in good performances at the festival, taking five for 17 v RGS Worcester and six for 34 v RGS High Wycombe respectively.

Royal GS, Worcester continued their winning ways, beating thirteen sides and losing only to Bedford Modern in schools games. The batting was dominated by the first three – D. M. Walker, C. J. Eyers and A. V. Powell – all of whom looked set to make 1,000 runs but faltered at the end. The captain, M. J. N. Taylor, backed them up with 615 runs. Among the bowlers, N. P. Haddock's left-arm spin accounted for 58 wickets, and Eyers, at fast-medium, captured 51 wickets to go with his 932 runs, an impressive all-round performance. Batsmen prospered at Rugby, but as a record of twelve draws in fifteen matches suggests, bowlers had to work hard for wickets on the summer's pitches. W. Glazebrook emerged as the leading all-rounder; strong in defence, he also hit hard and straight, and his bowling was tight and tireless. Support came in both departments from the experienced M. Semmens (fast-medium). Rydal, encouraged by some early-season performances, suffered a setback when they lost control of a game they should have won, v Liverpool College, and then were completely outplayed by King's, Chester. However, although Rydal finished without a win, with seven of the side expected to return in 1991, there was cause for optimism.

What was always going to be a difficult season for St Albans looked even bleaker when their captain and leading all-rounder, B. LeFleming, severed both main tendons in his right palm only months before summer term began. Yet, despite holding the bat with difficulty, he collected the second-most runs and wickets, as well as taking a record number of catches. H. Cornwell's 649 runs included 104 not out v St George's, but of the bowlers, only H. Sherman looked capable of bowling sides out. Even so, his 37 wickets were fewer than had been expected of him. St Bees felt they could have improved on their record of four matches won and seven drawn had they possessed a more incisive attack. P. Hoffman headed the batting averages, and A. Mawson, a colt, showed great potential in scoring the most runs, including the side's only hundred.

St Edmund's, Canterbury anticipated a lacklustre season, yet by the end a young side had been transformed into a confident, cohesive unit, able to overcome the loss of their first four games and finish with five victories. St Augustine's, Cranbrook, the XL Club and St Edmund's Society were teams beaten. A. Hajilou developed the art of astute captaincy, and his unbeaten 117 v St Edmund's Society was the highlight of his significant all-round contribution. C. R. M. Whittington demonstrated a rare talent with the ball, achieving many variations of pace, flight and turn, while P. Walker and T. Wong showed all-round promise. St Edward's, Oxford, also a young XI, struggled for much of the season, with only wins v Stowe and the Cryptics to counter nine defeats. The opening batsman, H. Varney, and C. M. Pitcher, a fast-medium bowler, carried a heavy responsibility, but with most of the side returning, and some promising colts coming through, the prospects for 1991 are better.

Another school to win just twice was St George's, Weybridge. A powerful batting line-up was headed by S. Marsh, whose 871 runs featured his 126 before lunch v Epsom (ten sixes nine fours), 123 not out v Emeriti (seven sixes, eleven fours) and 182 v KCS Wimbledon (105 minutes, twelve sixes, twenty fours) - the highest for St George's since H. Cannon's 214 in 1901. The bowling, however, lacked the experience needed on good wickets. St Joseph's, Ipswich recorded eight wins and five defeats, their mixed fortunes reflecting some sound batting and inconsistent bowling. A highlight in a difficult year for St Lawrence College. Ramsgate was the 79-run victory v Kimbolton. The mainstay of the side was O. G. Morris, a left-handed batsman and right-arm medium-pace bowler, with good support coming from the left-handed G. Turner, a fast bowler and useful middle-order bat. St Paul's could field a highly competent batting XI, but the bowling struggled, especially on the school's pitches at Barnes. B. R. Taberner, captain and wicket-keeper, and T. J. Taberner, his younger brother, played the two three-figure innings, the elder hitting 130 not out v Highgate in the opening match. and the younger 101 not out v The Leys on the final day of the season. J. W. Hill, a leg-spinner who took just nine wickets in eight games, set up the win v Mill Hill with the remarkable figures of 18-12-18-6 on a good batting pitch.

St Peter's, York were handicapped by the absence for much of the season of some senior players. Although their results were disappointing, there were good individual performances, notably J. D. Rigby's unbeaten 102 v Yorkshire Gentleman. Sevenoaks were another strong batting side whose bowling failed to reach a similar level, even if T. R. Payton's 21 wickets were not due reward for his efforts. Omar Iqbal, the captain, scored 825 runs, the highest aggregate for the school since C. J. Tavaré's 1,036 in 1973, with the most fluent of his four hundreds being 107 v Brentwood in the better of the XI's two wins. Sherborne's undefeated XI, in winning more games than any of their predecessors, beat Taunton, King's Taunton, Clifton, Canford, Downside, Blundell's, Geelong College, Marlborough, Cheltenham, Dorset Rangers, Free Foresters and MCC. Their fast bowler, S. W. Stevens, broke the 67-year-old school record with 55 wickets, while the steadiness of A. J. Rutherford (fast-medium) and R. H. F. Pugsley (off-spin) was an ingredient in a successful attack. Wicket-keeper C. R. Levy set an outstanding example for an enthusiastic fielding side which held some splendid catches.

Shiplake reported eight wins; and the game v Lord Wandsworth College ended in a draw with the scores level. A. J. Hall scored most runs and took 56 wickets: in consecutive matches he took nine for 18 v St Bartholomew's and scored 145 not out v Reading School. After an uncertain start, C. P. J. Abbiss emerged as a solid No. 3 batsman and useful stock bowler, while a fourteen-year-old Canadian, P. C. Lefort, showed promise as a left-arm swing bowler. While their batsmen struggled to find early form, Shrewsbury endured three consecutive defeats in April; after that they lost only once, and among their four wins was that by 50 runs v Eton in the Silk Trophy festival at Radley. D. J. Bowett, who played for Middlesex Second XI, was again to the fore with 34 wickets and 523 runs, including 139 not out v Zimbabwe Schools. P. W. Trimby's leg-breaks and googlies consistently troubled batsmen, and B. R. Parfitt, son of P. H. Parfitt, showed his batting potential in his seven games, heading the averages.

In a season of rebuilding, Simon Langton GS did well to win six matches. N. Jones headed the batting, and the leading wicket-taker was R. Moulton, who captained the side in the absence through injury of R. Stevens. A highlight was the return of seven for 48 v St Edmund's, Canterbury by fourth-former N. Bielby. Excellently captained by J. M. A. Inglis, who was selected for Warwickshire Colts, Solihull had six wins to offset their one defeat – in the final of the Birmingham Schools Under-19 competition. Inglis dominated both batting and bowling, but as the season progressed the less-experienced players gained confidence under his guidance. R. A. Kallicharran played some useful innings, as well as moving the ball both ways at medium pace, S. R. Fell brought much-needed steadiness to the middle order, and K. A. Mortimer and P. S. Amiss emerged as a sound opening pair. Mortimer's bowling became more hostile as the season progressed, but S. M. Franklin had a disappointing return by his own standards. Of particular note were successive unbeaten centuries v MCC and King's, Worcester, by Inglis, and his six for 43 v. Wolverhampton.

Stowe's bowling earned them five wins, notably that by 100 runs v otherwise unbeaten Radley. The fragility of their middle-order batting, though, led to six defeats. The side was captained with enthusiasm by the wicket-keeper, M. C. G. Atkinson, the third member of his family to lead the school. Strathallan, too, looked to their bowling, especially with the ball so

dominant in Scottish cricket. Their attack was spearheaded by H. A. D. McKenzie-Wilson (fast), with valuable support from the young M. R. Tench (fast-medium). K. L. Salters (right-hand bat, slow left-arm bowler) headed both averages. Three all-rounders were prominent in the unbeaten XI of Sutton Valence: the captain J. F. Barr (right-hand bat, slow left-arm), I. Page (medium) and J. Cowell (fast-medium). Highlights were the win v MCC, with a target of 231 met in the last over; the draw v King's, Rochester, in which Barr made 142 in a total of 235 for three dec.; and Barr's hundred from 73 balls as they achieved 189 for one in 29 overs in reply to Dover College's 208 for five off 81.

Taunton's young side exceeded expectations with seven victories. Memorable were P. Tarr's unbeaten 118 v the XL Club and the tie v Blundell's, in which Taunton lost their last wicket to the final ball of the match. Tiffin's formidable batting line-up was seen to advantage chasing runs, the most spectacular wins coming when scoring 249 for six v MCC, 222 for six v Magdalen College School and 283 for seven v Elizabeth College, Guernsey. Opener G. J. Kennis became the first since D. G. Ottley in 1962 to score 1,000 runs for the school, his unbeaten 128 v MCC being the most notable of his three hundreds. The captain and No. 4, R. D. Nash, had an aggregate of 819, despite missing a month with a broken finger, and hit four centuries v schools, the highest being 137 v Hampton. He went on to play for Surrey Young Cricketers. Of the bowlers, only B. J. Walters (left-arm spin) performed with matchwinning consistency. The leadership skills of the Tonbridge captain, J. F. S. Rowland, fostered an excellent spirit and enthusiasm in the XI, which beat Tonbridge CC, Lancing, Free Foresters, Haileybury and Felsted, and were just one wicket from victory in four drawn games. Four of their five defeats came in the last two weeks, only two being v schools. S. J. Doel, batting with care and concentration, consistently gave the side a good start, but the middle order generally failed to build on it. No-one scored a hundred. The bowling honours were shared by R. P. Ziegler and D. L. Gilbert, who, both medium-fast, troubled batsmen in all matches.

Trent College followed an eleven-match tour of Australia by playing exciting, positive cricket. More than half the eleven draws ended in their favour, three with the opposition nine wickets down. T. A. Ellis's 683 runs included 111 v Bradford GS, and C. M. Winterbottom hit an unbeaten 104 v Pocklington. The bowling was headed by M. T. White and N. D. Johnson, the latter, under sixteen, making a significant impact in his first year in the XI. Another successful season for Trinity came as something of a surprise at a time of rebuilding. Capably captained by the wicket-keeper, S. P. Fairchild, they recorded eleven victories, notably v St Dunstan's, Tiffin, Emanuel and Elizabeth College, Guernsey, and lost just twice, bringing the school's results against all opposition over three years to 33 won, 5 lost and 29 drawn. S. S. Prabhu led the batting with 758 runs, well supported by C. H. Maiden and the left-handed R. W. Nowell, while the bowling revolved around two left-arm spinners, P. S. Kember and Nowell, who shared 84 wickets. Nowell, an Under-14, took seven for 16 v Whitgift. The good work of the Truro bowlers was not backed up by their batsmen, who tended to get out to injudicious strokes when a steadier, more solid approach was called for.

Warwick, with wins v Bablake, Trent, Bishop Vesey's, MCC, Norwich School and King's, Worcester, looked primarily to their batsmen. Most reliable were D. Dalton, S. Ensall and the England Under-15 representative, C. Mulraine, whose 124 not out v MCC was the only century. Half-centuries from the captain, G. Rawstorne, saw the side to three of their victories. Fifteen-year-old S. Webb headed the bowling averages with 25 wickets. Undefeated, Wellingborough beat seven sides, including The Perse, Oakham, Forest, William Hulme's GS and Pocklington. The last two were beaten during the Wellingborough festival, on the final three days of which the captain, J. M. Attfield, hit successive hundreds v Chigwell, Pocklington and Magdalen College School. He dominated the season with a school record of 1,116 runs, overshadowing the excellent all-round contribution of N. J. Haste (441 runs and 39 wickets). Wellington College had in A. P. D. Wyke a tactically aware captain who, overcoming an injury, took the most wickets, including six for 33 v Charterhouse. The strength of the XI, however, was the depth of their batting, with A. E. Newman and T. N. Sawrey-Cookson particularly effective. Most of the seven wins by Wellington School came at the end of term, the best being v BRNC Dartmouth, Queen's Taunton and Christ College, Brecon. R. Fisher batted consistently well, with sound support from G. Wolfendon and S. Palmer, a positive captain, but the bowlers were not helped by the alarming number of dropped catches.

929

ABINGDON SCHOOL

Played 17: Won 6, Lost 3, Drawn 8

Master i/c: A. M. Broadbent

Batting—R. J. Taylor 4-0-169-99-42.25; J. S. Tilley 14-4-355-61*-35.50; D. E. Stanley 17-1-527-83-32.93; *E. J. Tilley 16-1-397-73-26.46; J. S. Taylor 5-1-102-58*-25.50; M. D. Gordon 14-2-234-31*-19.50; J. M. Allen 10-0-173-61-17.30; P. A. B. Page 13-3-144-56-14.40.

Bowling—L. M. Golding 53–10–150–10–15.00; H. E. Wilkinson 70.2–19–246–14–17.57; B. R. Marnane 105.4–24–322–17–18.94; P. A. B. Page 205.2–50–494–25–19.76; J. M. Wallace 147–38–407–18–22.61; J. S. Tilley 46.5–7–229–10–22.90.

ALDENHAM SCHOOL

Played 13: Won 4, Lost 6, Drawn 3

Master i/c: P. K. Smith

Batting—S. P. Moffat 13-3-544-131*-54.40; D. G. Marsh 13-3-389-101*-38.90; R. Robertson 11-3-260-109*-32.50; C. Molyneux 9-2-142-59-20.28; R. Meara 12-0-220-56-18.33; J. Clemow 11-0-196-76-17.81.

Bowling—M. Okoro 134-27-400-27-14.81; R. Robertson 103-21-315-16-19.68; J. Clemow 121-19-384-18-21.33.

ALLEYN'S SCHOOL

Played 15: Won 6, Lost 0, Drawn 9

Master i/c: S. E. Smith

Batting—*P. C. Berglund 15-3-770-131*-64.16; M. Humber 10-6-105-31*-26.25; G. Brook 9-4-119-37-23.80; A. C. Winter 14-2-241-52*-20.08; M. T. Roberts 13-1-219-99*-18.25; R. Ellis 10-1-149-29-16.55; J. Naish 13-2-131-60-11.90.

Bowling—A. C. Winter 166.3–40–395–38–10.39; P. C. Berglund 113–23–278–22–12.63; P. Haslam 118.2–23–333–24–13.87; G. Brook 143–31–360–19–18.94.

ALLHALLOWS SCHOOL

Played 11: Won 0, Lost 7, Drawn 4

Masters i/c: C. G. McNee and M. Hill

Batting—*J. M. Rowe 11–1–279–122*–27.90; J. A. Carstairs 10–0–221–69–22.10; A. C. Boddy 11–0–102–32–9.27.

Bowling-J. M. Rowe 117-20-395-22-17.95; G. D. Moxon 82-17-295-11-26.81.

AMPLEFORTH COLLEGE

Played 17: Won 4, Lost 4, Drawn 9. Abandoned 3

Master i/c: The Revd J. F. Stephens OSB

Batting—A. R. Nesbit 15–2–382–75–29.38; A. J. Finch 14–4–284–39–28.40; R. M. Wilson 17–1–382–84–23.87; T. J. Willcox 16–1–330–57–22.00; T. O. Scrope 17–1–337–71–21.06; G. Finch 12–3–180–95–20.00; R. J. Lamballe 14–1–217–69–16.69; S. B. Pilkington 12–5–102–34*–14.57.

Bowling—D. A. Thompson 77–24–236–15–15.73; R. J. Gilmore 293.4–66–894–51–17.52; R. M. Wilson 69–16–302–10–30.20; S. B. Pilkington 246–55–759–16–47.43.

Whitgift enjoyed their best season for some years. In schools matches they beat St Dunstan's, Brighton, Reigate and Christ's Hospital, losing only to Hurstpierpoint. The lefthanded J. D. G. Ufton, son of D. G. Ufton, established a post-war record of 817 runs at 54.46, including 123 not out v St John's, Leatherhead. Hundreds also came from R. Shah. 163 not out, and P. M. Horne, 101 not out, in Whitgift's 404 for two off 45 overs v Excelsion Rotterdam. Another 36 wickets by R. J. Targett (fast-medium) took his tally for the school to 108 in three years, and he and all the bowlers were backed by sound fielding: wicket-keeper N. W. J. Edwards effected 31 dismissals (26 ct, 5 st). Winchester followed a successful tenmatch tour of Australia at Easter with their best season for some years. Under the captaincy of R. J. Turnill, the experienced side played positive cricket throughout to win six games. although a sharper attack might have wrought four more victories. Another experienced XI, that of Woodbridge, failed to achieve what had been hoped of them. The captain, B. K. Sindell, led from the front, and scored a fine century v St Joseph's College, but otherwise the batting failed to take advantage of good wickets and never totalled 200. Consequently, the bowlers, accurate but not particularly incisive, never had the opportunity to apply pressure.

Woodhouse Grove suffered their only defeat by a school in their first match – v Ashville College. Showing greater application thereafter, they beat Giggleswick, Hipperholme and Queen Elizabeth, Wakefield in schools fixtures. Among a team thought to be the most talented at the school for many years, three all-rounders were prominent, S. N. Lee's leg-spin being well supported by the medium pace of R. D. Webster and C. J. Rika. They also scored the most runs, although the captain and opening bat, D. M. Lawson, would have totalled more had he not missed several matches with a rugby injury. A highlight was Lee's return of six for 31 v Batley. Undefeated by schools, Worksop College recorded wins v Ampleforth, Bloxham and Nottinghamshire Club and Ground, as well as participating in an exciting draw v Repton. Their two losses were sustained after declaring. A strong batting side, positive in approach, compiled six totals in excess of 200, with hundreds coming from the captain, J. D. Goode, and two left-handers, R. A. Kettleborough and C. J. Walker. Without much variety, the bowling tended to struggle on the firm home pitches.

Wrekin, with a steady opener in M. R. Savage, their wicket-keeper, lacked a reliable batsman to sustain the middle order. The bowling was the stronger suit, with most opposing sides being bowled out. A. J. Holloway (left-arm spin) took five wickets v schools three times, S. R. D. H. Lander was genuinely quick, and S. R. Phillips-Broadhurst, moving the ball about at a lively pace, also registered three five-wicket returns. A highlight was the nine-wicket defeat of Bromsgrove. Wycliffe won only twice, but with most of the XI expected to return in 1991, they look forward to an improvement. S. B. Thomas opened the bowling with pace and movement, and took a hat-trick v Dauntsey's, while W. R. Tovey's flighted off-spin troubled many good batsmen and brought him the season's best return of seven for 47 v Bromsgrove. Although some senior batsmen at Wyggeston & Queen Elizabeth I Sixth Form College struggled to find form, the depth of batting and the consistent starts provided by S. Kennell ensured that they always scored enough runs. A newcomer to the XI, S. Patel (fast-medium), joined D. Green in constituting a formidable opening attack, but insufficient support meant that advantages gained were not always pressed home.

THE SCHOOLS

(Qualification: Batting 100 runs; Bowling 10 wickets)

* On name indicates captain. * On figures indicates not out.

Note: The line for batting reads Innings-Not Outs-Runs-Highest Innings-Average; that for bowling reads Overs-Maidens-Runs-Wickets-Average.

ARDINGLY COLLEGE

Played 19: Won 10, Lost 3, Drawn 6

Master i/c: T. J. Brooker

Cricket professional: S. S. Sawant

Batting—*M. T. E. Peirce 19-4-929-123*-61.93; D. P. Kerkar 19-1-1,102-150-61.22; A. C. C. Slight 19-5-423-76-30.21; T. D. James 10-2-139-62-17.37; M. J. Newcomb 16-0-224-59-14.00; N. Simonin 14-2-145-56-12.08; C. S. Spencer 12-1-129-25-11.72.

Bowling-D. P. Kerkar 156.5-34-491-38-12.92; M. T. E. Peirce 186.1-37-636-34-18.70; C. S. Spencer 141.5-33-508-27-18.81; N. Simonin 112-15-391-19-20.57; M. J. Newcomb 63-10-258-10-25.80: T. D. James 68-5-286-11-26.00: S. Skeel 79-13-314-10-31.40.

ARNOLD SCHOOL

Played 13: Won 4, Lost 5, Drawn 4. Abandoned 2

Master i/c: S. Burnage

Cricket professional: J. Simmons MBE

Batting—*M. J. Clinning 12-1-451-96*-41.00; P. N. Bentley 12-2-194-47-19.40; R. Chew 9-0-135-44-15.00; R. Day 10-1-125-24*-13.88; I. Best 12-0-166-49-13.83; C. Outram 10-0-107-50-10.70.

Bowling-I. Best 157.2-30-534-25-21.36; M. J. Clinning 257.2-73-742-33-22.48; R. Chew 124–30–374–13–28.76.

ASHVILLE COLLEGE, HARROGATE

Played 16: Won 6, Lost 0, Drawn 10. Abandoned 2

Master i/c: J. M. Bromley Cricket professional: P. J. Kippax

Batting—A. W. Alexander 15-2-632-135*-48.61; S. R. Alexander 15-1-382-98-27.28; J. J. C. Moorhouse 13-1-297-101*-24.75; T. P. Loveridge 14-5-187-38-20.77; R. A. Neil 11-2-133-47*-14.77; A. J. B. Casey 13-0-190-33-14.61; K. D. Crack 13-3-131-29*-13.10.

Bowling-C. E. Pick 105-20-378-25-15.12; S. R. Alexander 45-11-171-11-15.54; R. A. Neil 81-14-243-13-18.69; A. W. Alexander 116-24-378-19-19.89; K. D. Crack 161-39-452-22-20.54.

BALLYMENA ACADEMY GRAMMAR SCHOOL

Played 14: Won 10, Lost 4, Drawn 0. Abandoned 4

Master i/c: P. G. Davidson

Batting-D. Kennedy 13-0-236-47-18.15; C. Williams 12-0-217-38-18.08; *M. Dunlop 12-1-169-50*-15.36.

Bowling-D. Kennedy 92.4-25-189-29-6.51.

BANCROFT'S SCHOOL

Played 20: Won 4, Lost 9, Drawn 6, Tied 1. Abandoned 1

Master i/c: J. G. Bromfield Cricket professional: J. K. Lever MBE

Batting—C. S. Greenhill 18-5-640-92*-49.23; T. W. Clark 16-1-520-75-34.66; *T. C. Dolan 19-2-514-76-30.23; T. M. Dowling 19-1-438-70-24.33; A. A. Khan 11-3-129-37-16.12; R. Patel 17-3-183-29-13.07; J. Pollard 10-1-100-16-11.11; C. C. Barlow 15-2-123-39-9.46; J. P. Manning 17-1-127-32-7.93.

Bowling-T. C. Dolan 171-39-594-33-18.00; A. A. Khan 91-15-362-18-20.11; J. P. Manning 111.5-13-516-25-20.64; R. Patel 120.3-17-504-24-21.00; T. W. Clark 175.1-56-561-24-23.37.

BANGOR GRAMMAR SCHOOL

Played 21: Won 10, Lost 6, Drawn 5. Abandoned 1

Master i/c: C. C. J. Harte

Batting—P. A. McIlwaine 17-5-316-56*-26.33; M. L. Edwards 9-3-113-68*-18.83; R. G. Scott 19-3-300-103*-18.75; M. N. Wade 17-5-223-51*-18.58; A. J. Irwin 16-2-220-59-15.71; M. S. J. Law 10-2-107-31-13.37; P. J. English 15-2-154-34-11.84; *M. W. R. McCord 16-5-118-29*-10.72.

Bowling—R. G. Scott 147.2-36-340-43-7.90; M. W. R. McCord 198.3-63-454-46-9.86; P. A. Skelly 91.5-31-212-20-10.60; C. P. Escott 101-31-241-21-11.47; J. L. Cunningham 72.5–16–200–10–20.00.

BARNARD CASTLE SCHOOL

Played 20: Won 6, Lost 5, Drawn 9. Abandoned 2

Master i/c: C. P. Johnson

Batting—*J. G. H. Murphy 17-5-611-100*-50.91; S. G. Riddell 19-3-316-60-19.75; J. Simon 17-2-296-70*-19.73; R. J. B. Wearmouth 17-3-221-51*-15.78; J. W. Foster 14-2-183-46-15.25; R. Brewis 17-1-227-46-14.18; K. R. Lowe 16-0-175-36-10.93; A. W. Hutchinson 16-3-106-29-8.15.

Bowling—M. R. Rock 37-6-146-11-13.27; J. G. H. Murphy 242-61-646-39-16.56; J. M. Watson 121-21-421-21-20.04; R. Brewis 318-71-916-41-22.34; R. J. B. Wearmouth 154-25-662-26-25.46.

BEDFORD SCHOOL

Played 17: Won 3, Lost 5, Drawn 9. Abandoned 2

Master i/c: D. W. Jarrett

Cricket professional: R. G. Caple

Batting—*R. W. H. Smith 18-3-578-113*-38.53; B. J. A. Miller 19-0-532-88-28.00; D. R. Fossey 10-1-249-61-27.66; A. Focken 19-1-437-54*-24.27; C. S. G. Parke 5-0-119-55-23.80; R. J. Stone 11-3-171-42-21.37; G. I. Green 8-2-112-34*-18.66; P. C. Wynn 17-1-286-99-17.87; N. V. Sinfield 12-1-177-52*-16.09; R. G. Simmonds 14-4-153-36-15.30; M. B. Jenkins 13-0-196-49-15.07.

Bowling-A. Focken 120-35-373-21-17.76; D. G. Stones 131-23-438-21-20.85; M. B. Jenkins 181-36-595-24-24.79; R. J. Stone 146-18-509-17-29.94; R. W. H. Smith 154-26-525-14-37.50.

BEDFORD MODERN SCHOOL

Played 21: Won 8, Lost 1, Drawn 12

Master i/c: N. J. Chinneck

Batting—*G. A. H. Awudu 21-3-1,009-148-56.05; E. R. Osborn 21-3-716-105*-39.77; R. C. Shah 15-4-362-70*-32.90; D. B. Reavill 21-1-446-51-22.30; G. S. Pilgrim 15-5-179-41-17.90; D. E. Jones 11-1-148-52*-14.80; P. A. Wildman 16-2-184-49*-13.14.

Bowling-M. J. Rolton 99.3-24-284-26-10.92; M. C. Waddingham 201.2-50-610-37-16.48; P. D. Brownridge 196.3-58-545-28-19.46; A. R. Woodcock 172.4-38-559-26-21.50; G. A. H. Awudu 203.3–40–646–29–22.27.

BEECHEN CLIFF SCHOOL, BATH

Played 10: Won 5, Lost 1, Drawn 4. Abandoned 2

Master i/c: K. J. L. Mabe

Cricket professional: P. J. Colbourne

Batting—S. Bryan 8-0-604-127-75.50; *P. Tisdale 9-1-570-131-71.25; R. Parker 4-2-140-79-70.00; D. Benton 9-0-226-90-25.11; A. Durrans 6-1-103-64-20.60.

Bowling-D. Perryman 99.1-21-308-19-16.21; A. Piper 83.3-21-260-14-18.57.

BERKHAMSTED SCHOOL

Played 19: Won 10, Lost 4, Drawn 5. Abandoned 1

Master i/c: J. G. Tolchard

Cricket professional: M. Herring

Batting—*E. P. Shek 19–0–821–123–43.21; D. T. Wotherspoon 18–0–492–99–27.33; T. N. Agius 17–6–291–83*–26.45; N. E. Mawdsley 13–4–230–65*–25.55; A. P. Spooner 16–0–353–76–22.06; A. J. Rigden 19–3–255–42–15.93; M. J. Spooner 13–1–181–61–15.08; R. D. Collett 18–1–250–73–14.70.

Bowling—B. P. Howard 81–11–314–21–14.95; J. M. Rennie 156–44–351–21–16.71; R. D. Collett 103–22–325–17–19.11; R. D. Hilton 237–60–657–31–21.19; M. J. Spooner 213–42–642–29–22.13.

BIRKENHEAD SCHOOL

Played 14: Won 5, Lost 2, Drawn 7

Master i/c: G. Prescott

Batting—N. D. Cross 10–0–490–116–49.00; S. J. Renshaw 7–4–122–78*–40.66; I. G. Berry 7–1–210–84*–35.00; N. J. Corran 10–4–199–43–33.16; *L. C. Parnell 9–1–233–65–29.12; J. L. Cooper 7–1–105–22–17.50; M. G. Roberts 7–1–101–28*–16.83; D. A. Allan 10–0–162–57–16.20.

Bowling—N. D. Cross 95–26–219–17–12.88; N. J. Corran 135.5–37–287–22–13.04; L. C. Parnell 88–31–211–16–13.18; M. G. Roberts 45.3–4–178–12–14.83; D. A. Allan 123.2–30–354–20–17.70; S. J. Renshaw 83.5–25–198–11–18.00.

BISHOP'S STORTFORD COLLEGE

Played 18: Won 4, Lost 8, Drawn 6. Abandoned 1

Master i/c: D. A. Hopper

Batting—E. M. Peachey 13–0–345–100–26.53; L. E. M. Riddell 11–1–243–54–24.30; R. F. Hudson 16–4–286–56*–23.83; O. W. R. Haslam 9–2–136–48–19.42; *D. N. Child 15–0–268–88–17.86; D. F. Gilbert 8–1–116–47–16.57; A. J. P. Brown 14–0–225–71–16.07; R. N. Myers 11–0–120–38–10.90.

Bowling—R. S. Jayatileke 204-71-553-38-14.55; D. N. Child 148.1-27-475-24-19.79; M. J. S. Armitage 81.5-12-261-13-20.07; A. J. P. Brown 88.3-14-341-14-24.35.

BLOXHAM SCHOOL

Played 16: Won 4, Lost 3, Drawn 9. Abandoned 1

Master i/c: J. P. Horton

Batting—R. D. Beaty 15–6–306–62–34.00; S. Hehir 13–1–310–59–25.83; E. R. H. Wornum 15–1–289–86*–20.64; A. W. A. Adejumo 12–0–238–56–19.83; S. P. Johnson 11–0–201–34–18.27; C. T. G. Carr 11–0–181–40–16.45; R. A. F. Whitton 12–5–101–25*–14.42.

Bowling—E. R. H. Wornum 241.5-60-805-41-19.63; *A. R. Channing 116-14-491-16-30.68; R. A. F. Whitton 194-46-690-22-31.36.

BLUNDELL'S SCHOOL

Played 15: Won 3, Lost 9, Drawn 2, Tied 1. Abandoned 1

Master i/c: G. P. Randall Johnson

Batting—*M. R. N. Hunt 15–0–524–119–34.93; S. Bailey 15–1–272–52–19.42; T. V. P. Patidar 14–0–257–85–18.35; M. Grose 15–2–232–54–17.84; E. Whitefield 13–1–205–45–17.08; P. Steward 15–0–230–38–15.33; I. Gompertz 10–0–145–35–14.50; M. Patidar 12–1–158–54–14.36; R. Temple 9–1–110–45–13.75.

Bowling—R. Morris 171–23–500–24–20.83; R. Clayton 139.1–16–271–11–24.63; P. Steward 223.4–51–638–24–26.58.

BRADFIELD COLLEGE

Played 13: Won 1, Lost 3, Drawn 9. Abandoned 1

Master i/c: F. R. Dethridge

Cricket professional: J. F. Harvey

Batting—S. P. Bridgman 11–2–596–121*–66.22; *J. T. C. Kendall 12–1–494–153*–44.90; W. S. Kendall 12–1–447–98–40.63; D. A. C. Smith 12–1–195–73–17.72; B. Wyatt 11–2–143–52–15.88; A. Williams 10–1–137–65–15.22.

Bowling—J. T. C. Kendall 156-31-435-25-17.40; B. Maxwell 115-37-268-13-20.61; S. P. Bridgman 135-40-401-19-21.10.

BRADFORD GRAMMAR SCHOOL

Played 24: Won 7, Lost 6, Drawn 11. Abandoned 5

Master i/c: A. G. Smith

Batting—N. J. Gomersall 22–11–534–80*–48.54; M. J. Savage 19–5–380–65–27.14; *D. C. Whitfield 22–0–534–89–24.27; S. A. W. Davies 18–0–332–51–18.44; A. M. Bretherton 11–1–165–59*–16.50; A. J. Brosnan 15–3–186–40–15.50; D. Priestley 20–0–241–46–12.05.

Bowling—D. J. Collinge 166.2–42–546–34–16.05; C. W. A. McIntosh 129.1–33–445–24–18.54; P. R. Booth 201–47–604–31–19.48; M. J. Hannan 146.1–33–532–26–20.46; J. D. Morton 105–13–384–12–32.00.

BRENTWOOD SCHOOL

Played 13: Won 1, Lost 6, Drawn 6

Master i/c: J. C. Wolters

Cricket professional: K. C. Preston

Batting—*C. J. Wilkins 7–0–242–70–34.57; A. R. J. Sansom 11–2–230–74–25.55; P. J. Collier 13–1–282–68–23.50; J. Cameron 10–0–223–48–22.30; A. Foch-Heng 13–0–250–38–19.23; A. J. Duke 12–3–166–50*–18.44; S. I. Reeve 10–4–103–30–17.16; G. Fletcher 10–0–154–30–15.40.

Bowling—D. McAllister 164.1–34–487–24–20.29; S. I. Reeve 89.1–28–327–11–29.72; A. R. J. Sansom 101.3–22–360–12–30.00.

BRIGHTON COLLEGE

Played 22: Won 14, Lost 2, Drawn 6. Abandoned 1

Master i/c: J. Spencer

Cricket professional: J. D. Morley

Batting—C. N. Gates 22–3–1,378–178*–72.52; *R. D. Oliphant-Callum 22–2–832–124–41.60; R. J. Gibson 20–5–503–81*–33.53; J. Owen 20–4–533–82–33.31; A. J. Sweet 19–6–424–69*–32.61; C. P. Hart 19–5–324–53–23.14; A. Sell 12–6–116–54–19.33.

Bowling—R. J. Gibson 48.2–17–107–10-10.70; R. I. Lewis 283.3–90–671–45–14.91; A. J. Strong 47–14–169–10–16.90; C. N. Gates 190.3–51–547–31–17.64; C. P. Hart 256.3–74–629–34–18.50; A. J. Sweet 131.5–25–290–15–19.33; J. Owen 165.1–29–541–21–25.76.

BROMSGROVE SCHOOL

Played 14: Won 1, Lost 5, Drawn 8. Abandoned 4

Master i/c: D. Langlands

Cricket professional: P. G. Newman

Batting—H. W. Humphries 14–5–426–79*–47.33; A. A. Burton 13–0–258–53–19.84; M. P. Birch 13–2–147–43–13.36; J. Court 13–2–127–62–11.54.

Bowling—G. Harrhy 50.5–6–200–11–18.18; A. Bridge 138.2–23–451–22–20.50; A. Wylie 100–21–335–16–20.93; H. W. Humphries 94.3–13–354–14–25.28.

BRYANSTON SCHOOL

Played 17: Won 6, Lost 7, Drawn 4. Abandoned 1

Master i/c: K. T. Ruck

Batting—G. Bucknell 16–3–486–74–37.38; R. Thomas 7–1–189–77*–31.50; M. Davies 8–3–121–52*–24.20; J. Freisenbruch 16–1–362–60–24.13; R. Sadler 8–2–119–45–19.83; J. Singleton 16–1–274–45–18.26; T. Clarke 16–0–253–40–15.81; N. Lind 16–3–177–54–13.61; A. Tapper 12–0–135–24–11.25.

Bowling—N. Lind 28-6-122-11-11.09; T. Clarke 180-30-544-38-14.31; J. Stephens 70-13-248-17-14.58; M. Brewin 213-46-606-33-18.36; J. Singleton 89-19-322-10-32.20.

CAMPBELL COLLEGE

Played 13: Won 7, Lost 4, Drawn 2 dismo D. A sold research

Master i/c: E. T. Cooke

Batting—S. A. I. Dyer 12-3-535-203*-59.44; *D. A. Parker 9-2-225-112*-32.14; R. H. Lucas 9-1-140-41-17.50; A. E. Logan 12-2-103-49-10.30.

Bowling—R. H. Lucas 106-29-228-34-6.70; B. J. Mockford 37-4-87-11-7.90; D. A. Parker 98-20-201-24-8.37; S. A. I. Dyer 62-7-121-14-8.64; J. G. N. Lucas 44-11-133-10-13.30.

CANFORD SCHOOL

Played 16: Won 8, Lost 5, Drawn 3

Master i/c: S. J. Turrill

Cricket professional: B. Touzel

Batting—*J. A. Perry 16–1–651–112–43.40; D. J. C. Allom 15–4–291–94–26.45; M. Kind 11–0–194–62–17.63; T. R. Murray Walker 15–3–208–51*–17.33; G. Rees 10–3–104–32–14.85; D. Young 14–0–195–36–13.92; J. Blacker 14–1–160–44–12.30.

Bowling—M. W. Forward 231,4-55-610-40-15.25; M. Kind 75.5-20-202-11-18.36; M. J. C. Allom 68.1-15-187-10-18.70; G. Rees 182-42-487-26-18.73; G. Herring 129-19-432-22-19.63.

CATERHAM SCHOOL

Played 14: Won 0, Lost 6, Drawn 8

Master i/c: A. G. Simon

O-made 10 . C. . Se . C. . Cricket professional: K. Morris

Batting—K. A. Amaning 14-0-492-68-35.14; S. M. Lillicrap 15-2-293-49-22.53; N. A. Green 14-3-195-40-17.72; T. G. W. Bailey 13-1-174-37-14.50; S. J. Constantin 14-0-132-33-9.42; *I. W. Armitage 15-0-136-22-9.06; K. S. Amaning 15-0-129-30-8.60.

Bowling—S. M. Lillicrap 189–15–743–34–21.85; S. K. Perera 95.3–15–323–11–29.36; S. J. Constantin 164.2–29–541–17–31.82.

CHARTERHOUSE

Played 18: Won 5, Lost 4, Drawn 9. Abandoned 1

Master i/c: J. M. Knight

Cricket professional: R. V. Lewis

Batting—G. D. Butler 5-1-121-100*-30.25; T. A. Bristowe 14-1-381-95-29.30; B. G. Blyth 18-1-485-110*-28.52; D. N. Shah 15-8-176-26-25.14; T. D. Rowell 15-1-302-105*-21.57; E. L. Green 17-4-280-49-21.53; *W. J. Chignell 17-1-340-53-21.25; C. A. M. Ayres 14-1-233-42-17.92; J. L. Merrick 17-2-246-42-16.40.

Bowling—D. N. Shah 159.4–35–505–33–15.30; J. L. Merrick 162–36–472–23–20.52; T. D. Courtenay-Evans 201.4–37–722–32–22.56; J. F. Wilson 128–25–408–13–31.38; W. J. Chignell 144.3–38–445–12–37.08.

CHELTENHAM COLLEGE

Played 19: Won 6, Lost 4, Drawn 9. Abandoned 1

Master i/c: W. J. Wesson

Cricket professional: M. W. Stovold

Batting—M. C. Cawdron 17–3–578–114*–41.28; M. E. Dalton-Morris 6–2–138–44–34.50; J. T. G. Westbrook 8–1–214–80–30.57; B. J. C. Lawrence 11–3–227–48–28.37; D. R. Fulton 17–3–371–80–26.50; D. R. Hewson 18–2–412–109–25.75; S. A. La Rocco 14–3–282–66–25.63; *B. B. Jones 18–1–398–102–23.41; P. M. Evans 18–7–177–34–16.09.

Bowling—M. C. Green 186.4–36–612–29–21.10; M. C. Cawdron 178.4–34–573–23–24.91; D. R. Fulton 280.4–52–858–34–25.23; D. R. Hewson 137.1–27–534–18–29.66.

CHIGWELL SCHOOL

Played 18: Won 8, Lost 4, Drawn 6

Master i/c: D. N. Morrison

Cricket professional: A. W. Lilley

Batting—P. C. Harvey 17–2–748–126–49.86; J. F. Carpenter 17–5–541–100*–45.08; *T. B. Tarring 18–1–465–67*–27.35; A. D. N. Kurukulasooriya 15–2–317–83*–24.38; D. C. Pugson 10–4–137–27*–22.83; T. Offen 15–3–245–75*–20.41; D. R. Evans 13–1–179–96–14.91.

Bowling—P. C. Harvey 221–49–729–39–18.69; J. F. Carpenter 250.5–58–710–37–19.18; V. C. Nigam 67.5–11–302–10–30.20.

CHRIST COLLEGE, BRECON

Played 15: Won 3, Lost 5, Drawn 7. Abandoned 1

Master i/c: C. W. Kleiser

Batting—M. Richards 13–1–335–103*–27.91; M. E. Morris 14–2–314–83–26.16; *E. P. M. Holland 12–3–210–62*–23.33; M. Roderick 13–2–250–50*–22.72; J. Hall 12–0–197–52–16.41; C. S. R. Morgan 14–2–168–47–14.00.

Bowling—E. P. M. Holland 179.1-49-424-27-15.70; J. Hall 91.1-16-317-11-28.81; G. A. Powell 76-9-341-11-31.00; M. Roderick 132.3-28-423-12-35.25.

CLAYESMORE SCHOOL

Played 19: Won 6, Lost 6, Drawn 7. Abandoned 2

Master i/c: R. Hammond

Batting—*P. Bradbury 18–2–503–81*–31.43; B. Julyan 16–5–275–59–25.00; J. Brown 10–5–118–30*–23.60; P. Humphreys 15–1–292–67–20.85; J. Dakin 12–5–127–29–18.14; G. J. Latimer 16–0–229–48–14.31; A. Ferguson 14–1–142–26–10.92; A. Gartell 17–0–158–25–9.29.

Bowling—P. Bradbury 171.5–32–560–32–17.50; J. Dakin 92.5–13–321–18–17.83; L. Coley 132.4–23–453–25–18.12; G. J. Latimer 133–32–407–18–22.61; A. Gartell 139–23–448–16–28.00.

CLIFTON COLLEGE

Played 17: Won 8, Lost 3, Drawn 6. Abandoned 2

Master i/c: C. M. E. Colquhoun

Cricket professional: F. J. Andrew

Batting—*J. R. A. Williams 17–6–935–136*–85.00; M. G. N. Windows 16–3–649–127–49.92; G. H. J. Rees 13–4–308–98–34.22; J. J. L. Bretten 12–4–261–74*–32.62; J. P. Parish 15–3–294–119*–24.50.

Bowling—N. E. L. Howe 95.2–24–310–20–15.50; B. M. O. Gibbs 175–35–633–32–19.78; M. G. N. Windows 159.2–31–537–22–24.40; J. P. Parish 184–29–594–19–31.26; R. C. Clifford 193.5–40–690–18–38.33.

COLFE'S SCHOOL

Played 12: Won 3, Lost 2, Drawn 7. Abandoned 1

Master i/c: P. Hollingum

Batting—*M. Horder 12–2–574–132*–57.40; M. Quilter 12–2–428–78–42.80; D. Perry 9–2–188–41–26.85; A. Hameed 9–4–129–43–25.80; T. Shoben 12–0–263–38–21.91; J. Gledhill-Carr 12–0–200–47–16.66.

Bowling—M. Quilter 97.4–18–361–20–18.05; J. Gledhill-Carr 165.4–36–494–19–26.00; M. Horder 114.3–18–401–15–26.73.

COLSTON'S SCHOOL

Played 17: Won 5, Lost 4, Drawn 8. Abandoned 2

Master i/c: M. P. B. Tayler

Batting—*J. A. Franklin 16–0–906–186–56.62; I. J. Webb 16–4–413–104*–34.41; A. I. Vickery 7–0–177–67–25.28; M. J. Sheedy 13–3–224–103–22.40; L. A. Collins 14–2–249–62–20.75; M. C. Bryan 13–3–206–37*–20.60; R. J. Pandya 16–2–272–77–19.42.

Bowling—S. W. Brown 134.2–30–523–23–22.73; J. A. Franklin 108.1–28–349–15–23.26; R. J. Pandya 136.2–23–463–19–24.36; M. C. Bryan 127–23–442–14–31.57.

COVENTRY SCHOOL - BABLAKE

Played 13: Won 5, Lost 5, Drawn 3

Master i/c: B. J. Sutton

Batting—G. Dowall 12–3–304–75*–33.77; D. A. Hart 9–3–166–41*–27.66; M. A. Ward 12–0–322–56–26.83; R. J. S. Hill 13–1–257–48–21.41; A. Cronin 10–3–132–33–18.85; *M. G. H. Sutton 11–2–147–40*–16.33.

Bowling—J. Hart 53.1–6–144–10–14.40; Azhar Khan 79.1–9–262–12–21.83; M. G. H. Sutton 71–15–243–11–22.09.

CRANBROOK SCHOOL

Played 12: Won 1, Lost 8, Drawn 3

Master i/c: T. K. Gunn

Batting—J. Lawson 11–1–237–84*–23.70; R. Fishwick 12–0–283–56–23.58; K. Wookey 11–1–206–67–20.60; C. Barrett 12–1–185–55–16.81; J. Barron 12–0–152–35–12.66.

Bowling—J. Thompson 75–15–244–14–17.42; K. Wookey 80-15-303-10-30.30; A. Brooks 105-14-439-14-31.35.

CRANLEIGH SCHOOL

Played 16: Won 5, Lost 5, Drawn 6

Master i/c: R. D. V. Knight

Batting—B. R. Seal 10–3–176–43–25.14; H. C. Watkinson 16–2–348–71*–24.85; S. C. G. Copleston 15–3–274–83*–22.83; R. L. Johnson 12–0–268–68–22.33; *S. J. Bailey 16–0–332–61–20.75; A. C. Baillieu 16–0–270–93–16.87; N. P. F. Swiss 14–0–177–39–12.64; J. R. Tabor 14–0–167–41–11.92; A. R. Kyle 15–4–112–25–10.18.

Bowling—H. C. Watkinson 212.1–53–674–42–16.04; G. B. Atkinson 167–46–498–27–18.44; A. R. Kyle 176.5–45–500–21–23.80.

DAME ALLAN'S SCHOOL

Played 14: Won 9, Lost 2, Drawn 3

Master i/c: J. P. E. Procter

Batting—*R. W. Thompson 14-2-413-102-34.41; M. J. Thompson 12-3-282-52-31.33; C. Harrison 11-5-182-41*-30.33; J. Ditchburn 8-2-104-52*-17.33; R. I. P. Hodgson 10-2-135-60*-16.87; P. J. Nicholson 11-2-141-45-15.66; T. P. Ditchburn 13-2-171-50*-15.54.

Bowling—M. J. Thompson 98–25–244–21–11.61; M. Ingram 30–0–128–11–11.63; J. J. Ditchburn 56–11–205–15–13.66; R. I. P. Hodgson 74.1–9–249–12–20.75; R. W. Thompson 80.1–15–297–13–22.84.

DAUNTSEY'S SCHOOL

Played 13: Won 4, Lost 4, Drawn 5

Master i/c: D. C. R. Baker

Cricket professional: P. Knowles

Batting—M. R. Whistler 12–4–399–63–49.87; A. N. Field 12–2–332–64*–33.20; *G. M. Gaiger 13–1–354–55–29.50; I. D. Hardman 13–0–368–103–28.30; S. F. E. Cottle 12–1–138–28–12.54; S. W. C. Gilmour 11–0–126–42–11.45; T. J. Heigl 11–2–102–20–11.33.

Bowling—G. M. Gaiger 72.1–12–280–19–14.73; A. N. Field 134.4–30–430–29–14.82; S. F. E. Cottle 83–8–331–16–20.68; D. P. Atkins 128.3–19–426–16–26.62.

DEAN CLOSE SCHOOL

Played 16: Won 3, Lost 6, Drawn 7. Abandoned 1

Master i/c: C. M. Kenyon

Cricket professional: M. Heath

Batting—*C. J. Townsend 16–2–498–96–35.57; M. Butler 14–1–399–103–30.69; C. S. Knightley 16–2–308–62–22.00; S. H. Odell 12–3–183–47–20.33; G. G. Hunton 14–2–234–53*–19.50; A. M. Egan 10–2–154–51–19.25; A. H. Odell 9–2–112–52–16.00; R. J. Husband 11–0–151–43–13.72.

Bowling—J. M. Bowditch 153.1–28–459–28–16.39; C. S. Knightley 143.1–18–464–21–22.09; A. H. Odell 79–12–327–14–23.35; M. R. James 126–16–500–21–23.80.

DENSTONE COLLEGE

Played 14: Won 4, Lost 0, Drawn 10. Abandoned 3

Master i/c: A. N. James

Batting—*J. N. Snape 13-4-660-128*-73.33; P. J. Barnes 11-2-205-65-22.77; J. J. Mason 11-2-163-70*-18.11; A. S. H. Oyston 14-1-213-33-16.38; T. J. Mason 10-0-129-22-12.90.

Bowling—J. Broughton 111.5–29–270–19–14.21; N. A. Warr 85–17–258–18–14.33; P. J. Barnes 90–24–210–13–16.15; T. J. Mason 73–16–218–11–19.81; J. N. Snape 94.1–18–288–14–20.57; C. C. Tissainayagam 103–20–295–13–22.69.

DOUAI SCHOOL

Played 11: Won 3, Lost 2, Drawn 6. Abandoned 1

Master i/c: J. Shaw

Batting—*M. G. Allen 12-4-466-115-58.25; C. J. Bartlett 12-3-260-77-28.88; I. M. Anison 11-0-197-63-17.90.

Bowling—N. J. Saw 86–16–305–21–14.52; I. M. Anison 96–14–341–18-18.94; S. A. German 60–8–237–11–21.54.

DOVER COLLEGE

Played 13: Won 2, Lost 6, Drawn 5. Abandoned 2

Master i/c: D. C. Butler

Batting—A. S. Burrell 11–2–327–68–36.33; S. J. Schilder 13–0–415–90–31.92; *D. M. Rouse 11–0–304–74–27.63; M. D. Schilder 13–4–169–54*–18.77; A. B. Dandeh-N'Jie 13–1–111–47–9.25.

Bowling—D. A. Cruickshank 113.5–15–439–16–27.43; B. Amedee 76.4–12–360–13–27.69; R. V. Price 84.5–8–316–11–28.72.

DOWNSIDE SCHOOL

Played 13: Won 7, Lost 4, Drawn 2. Abandoned 1

Master i/c: K. J. Burke

Cricket professional: B. Bing

Batting—O. B. Ratcliffe 12-4-277-68*-34.62; *J. L. Morgan 13-1-351-59-29.25; M. C. R. Thatcher 13-1-341-103*-28.41; M. F. Fitzgerald 9-2-118-44*-16.85; B. P. N. Ramsay 12-2-167-32-16.70; M. R. Kennedy 13-0-170-55-13.07; T. V. E. Hansom 13-1-130-23-10.83.

Bowling—M. F. Fitzgerald 158.4–49–379–32–11.84; G. J. Bell 50–11–175–10–17.50; B. M. Kennard 71–17–224–12–18.66; O. B. Ratcliffe 131.2–31–408–21–19.42.

DUKE OF YORK'S ROYAL MILITARY SCHOOL

Played 12: Won 3, Lost 5, Drawn 4

Master i/c: S. Salisbury

Cricket professional: S. Skeate

Batting—N. M. Conway 5-1-161-76*-40.25; G. J. Kennett 10-1-213-79-23.66; *C. N. Conway 10-0-191-58-19.10; S. P. Neary 7-0-106-31-15.14.

Bowling—J. N. J. Marsh 76-24-173-12-14.41; G. J. Kennett 73-6-293-15-19.53; D. J. Reynolds 88-14-281-11-25.54.

DULWICH COLLEGE

Played 17: Won 3, Lost 5, Drawn 9. Abandoned 1

Master i/c: N. D. Cousins Cricket professionals: A. R. Ranson and W. A. Smith

Batting—*R. S. Sheldon 15–1–449–86–32.07; G. Y. Mohabir 17–2–394–82*–26.26; R. W. Scholar 14–1–313–56–24.07; S. C. Davey 10–1–206–41–22.88; J. H. Potter 17–0–380–115–22.35; S. M. Bottle 12–4–142–39–17.75; P. J. Smith 12–4–121–24–15.12; T. R. Sandars 8–1–104–39*–14.85.

Bowling—R. S. Sharp 88–18–257–17–15.11; E. P. Rusling 135–34–340–20–17.00; R. W. Scholar 94–23–301–11–27.36; P. J. Smith 145–26–444–16–27.75; S. C. Davey 108–21–376–13–28.92.

DURHAM SCHOOL

Played 17: Won 6, Lost 4, Drawn 7. Abandoned 2

Master i/c: N. J. Willings

Cricket professional: M. Hirsch

Batting—R. M. S. Weston 17–3–643–100*–45.92; *W. P. C. Weston 17–4–527–80–40.53; J. M. W. Taylor 13–7–230–65*–38.33; M. T. Warkup 11–2–205–46–22.77; P. McCutcheon 13–2–190–51*–17.27; D. Parkin 14–3–104–26–9.45.

Bowling—W. P. C. Weston 238.1–62–469–30–15.63; N. C. F. Taylor 74.3–12–274–17–16.11; N. W. Darling 213.3–48–670–34–19.70; R. M. S. Weston 183.5–34–593–22–26.95.

EASTBOURNE COLLEGE

Played 21: Won 7, Lost 6, Drawn 8

Master i/c: N. L. Wheeler

Cricket professional: A. E. James

Batting—D. C. Richards 16-5-388-66*-35.27; B. H. Miller 20-3-533-100*-31.35; *A. J. T. Halliday 20-0-588-114-29.40; W. R. Green 19-0-497-72-26.15; T. J. W. Parker 20-1-453-66-23.84; P. J. Hillman 18-3-357-77-23.80; C. D. Grove 10-2-143-42-17.87; H. A. Skinner 8-0-109-42-13.62; A. C. J. de Mierre 15-3-139-35-11.58.

Bowling—E. G. R. Barrett 90.3–30–213–19–11.21; A. J. T. Halliday 172.2–46–484–27–17.92; H. A. Skinner 93–15–301–13–23.15; C. D. Grove 132–15–513–22–23.31; A. C. J. de Mierre 175–34–550–22–25.00; P. J. Hillman 163.4–31–571–13–43.92.

THE EDINBURGH ACADEMY

Played 16: Won 4, Lost 5, Drawn 7

W . '' C D D .

Master i/c: G. R. Bowe Cricket professional: N. A. Perry

Batting—R. W. Cairns 14–1–399–152–30.69; J. J. Edmond 14–1–248–64–19.07; R. D. J. Wilkinson 14–2–205–56–17.08; *J. N. K. Godfrey 15–0–252–79–16.80; D. J. C. Thomson 13–0–193–47–14.84; W. P. Haslett 13–1–104–23–8.66.

Bowling—R. W. Cairns 159.3–37–490–30–16.33; J. J. Edmond 157.3–28–533–25–21.32; M. J. Anderson 147.2–18–495–15–33.00.

ELIZABETH COLLEGE, GUERNSEY

Played 22: Won 8, Lost 6, Drawn 8, Abandoned 1

Master i/c: M. E. Kinder

Batting—T. Hollyer-Hill 19-6-617-103*-47.46; *P. J. A. Moody 18-4-436-98-31.14; D. B. L. Mackay 19-3-368-65-23.00; S. P. Noyon 19-0-393-83-20.68; J. R. M. Harris 19-2-340-84*-20.00; P. J. le Ray 9-1-113-46*-14.12; A. J. C. Whalley 16-5-155-28-14.09; C. R. Hamon 17-0-217-40-12.76; A. Biggins 14-4-116-23*-11.60.

Bowling—P. J. A. Moody 236–53–796–50–15.92; A. M. Mitchell 156.2–19–541–32–16.90; M. A. Smith 191–32–656–22–29.81; T. Hollyer-Hill 79–5–360–11–32.72.

ELLESMERE COLLEGE

Played 17: Won 5, Lost 4, Drawn 8

Master i/c: E. Marsh

Cricket professionals: R. G. Mapp and M. Stone

Batting—*A. C. Barrett 15-1-408-70*-29.14; R. C. Carew 15-2-347-57*-26.69; N. J. B. Allan 12-4-211-76-26.37; D. O. Jenkins 13-1-273-60-22.75; S. R. Montgomery 14-3-189-36-17.18; S. Hussain 12-1-161-64-14.63; J. G. Slater 11-3-113-43*-14.12.

Bowling—G. N. Phillips 131-45-308-33-9.33; J. G. Slater 225-82-468-43-10.88; N. J. B. Allan 74-17-214-13-16.46; D. C. Gervis 137-21-552-22-25.09.

ELTHAM COLLEGE

Played 19: Won 5, Lost 4, Drawn 10. Abandoned 1

Masters i/c: B. M. Withecombe and P. McCartney Cricket professional: R. Winup

Batting—J. M. Ramsey 18–2–688–105–43.00; K. M. Morrell 18–5–419–79*–32.23; S. G. Hughes 16–0–408–58–25.50; R. N. Garnett 9–2–162–34–23.14; *F. Kavina 19–1–409–103–22.72; S. Baksh 16–2–243–65–17.35; A. L. Paterson 14–4–157–30*–15.70; G. B. Tibbs 12–1–104–23–9.45.

Bowling—J. M. Ramsey 46.1–9–173–10–17.30; G. B. Tibbs 100.2–10–392–20–19.60; F. Kavina 130–17–522–25–20.88; R. N. Garnett 120.2–21–423–17–24.88; K. M. Morrell 136–28–505–19–26.57.

EMANUEL SCHOOL

Played 17: Won 9, Lost 2, Drawn 6

Master i/c: R. M. S. Woodall

Cricket professional: J. R. Cremer

Batting—N. Saint 12-6-278-79*-46.33; P. Cross 9-3-221-45-36.83; D. J. Legg 17-1-546-140*-34.12; G. Neame 17-2-497-119*-33.13; E. Pullinger 14-1-412-62*-31.69; I. R. Tournès 12-2-301-73-30.10; *M. D. Coe 11-0-323-90-29.36; J. Khan 10-1-198-72-22.00; J. C. Cole 15-5-218-48*-21.80.

Bowling—N. K. Young 134–27–408–25–16.32; P. Chapman 117–13–477–23–20.73; J. C. Cole 151.2–31–564–21–26.85.

ENFIELD GRAMMAR SCHOOL

Played 22: Won 7, Lost 3, Drawn 12. Abandoned 1

Master i/c: J. J. Conroy

Batting—D. Bowen 20–3–1,089–196*–64.05; *J. King 19–2–578–113–34.00; N. Clydesdale 21–2–583–100*–30.68; P. Chapman 12–3–169–45*–18.77; T. Holmes 16–3–242–47–18.61; M. Stevens 17–5–210–25–17.50; I. Cully 12–3–106–26–11.77.

Bowling—N. Lutwyche 283.5-62-834-56-14.89; M. Stevens 227.3-38-690-40-17.25; R. Hore 77-17-232-11-21.09; T. Holmes 186.2-31-719-29-24.79.

EPSOM COLLEGE

Played 10: Won 6, Lost 2, Drawn 2

Master i/c: M. D. Hobbs

Batting—N. A. Morris 9-2-293-100*-41.85; J. C. Harris 5-2-117-55*-39.00; P. E. Roche 9-0-339-80-37.66; A. R. Pym 8-1-175-75-25.00; T. R. Newton 10-4-146-34-24.33; *J. G. Jackson 9-2-122-49*-17.42.

Bowling—T. R. Newton 146.1–43–387–33–11.72; J. R. Rose 109–30–347–15–23.13; A. S. M. Trengove 91.4–20–287–11–26.09.

ETON COLLEGE

Played 15: Won 3, Lost 3, Drawn 9

Master i/c: J. A. Claughton

Cricket professional: J. M. Rice

Batting—P. M. Eastwood 13–1–556–98–46.33; N. R. J. Hagen 14–1–517–88–39.76; S. C. E. Strickland 14–3–391–103*–35.54; *H. J. P. Chetwood 13–3–221–66*–22.10; T. A. J. Jenkins 15–0–330–53–22.00; W. R. G. Sellar 14–1–236–57–18.15.

Bowling—J. M. S. Whittington 235.1-34-780-49-15.91; H. J. P. Chetwood 247.3-53-748-29-25.79; G. H. B. Lewis 134.3-30-464-15-30.93.

EXETER SCHOOL

Played 17: Won 7, Lost 3, Drawn 7. Abandoned 1

Master i/c: M. C. Wilcock

Batting—D. R. Gannon 15-1-579-124*-41.35; M. J. Perring 8-3-182-41-36.40; M. W. Evans 13-5-207-53*-25.87; P. B. Hughes 10-1-196-51*-21.77; C. J. Walker 15-1-282-65-20.14; D. D. McNaught 13-1-236-50*-19.66; *M. J. Stevenson 14-2-216-41-18.00; M. D. Keylock 10-3-113-24-16.14; W. D. Clarkson 7-0-111-66-15.85; H. S. V. Thomas 11-2-119-26-13.22.

Bowling—M. H. T. Jones 54.5–13–143–12–11.91; M. D. Keylock 76.4–15–252–18–14.00; J. R. Price 110–18–389–21–18.52; T. P. Quartley 77.3–20–244–13–18.76; M. J. Stevenson 196.2–38–621–30–20.70.

FELSTED SCHOOL

Played 21: Won 7, Lost 4, Drawn 10

Master i/c: M. Surridge

Cricket professional: G. O. Barker

Batting—M. J. Crisp 20–5–761–118–50.73; A. C. M. Woods 21–0–839–102–39.95; T. W. H. Bulgin 18–0–648–104–36.00; R. J. Slater 19–1–502–100–27.88; *J. P. Garner 21–5–435–63–27.18; A. J. Martin 10–5–123–58–24.60; D. R. A. Hughes 15–3–293–53–24.41; M. G. Mixer 10–4–142–41–23.66; R. D. Havard-Davies 13–3–146–25–14.60.

Bowling—M. G. Mixer 240-49-726-36-20.16; R. J. Slater 242-63-754-37-20.37; M. J. S. Martin 99-24-272-13-20.92; A. J. Martin 115-21-415-18-23.05; D. G. Rawlinson 216-41-724-28-25.85.

FETTES COLLEGE

Played 13: Won 0, Lost 8, Drawn 5

Master i/c: M. C. G. Peel

Cricket professional: J. van Geloven

Batting—A. F. Zulfiqar 13-1-267-89-22.25; J. B. Macpherson 14-2-267-81-22.25; R. A. N. R. Llewellyn 12-4-126-26*-15.75; J. D. Weir 13-0-143-34-11.00; *J. R. S. Lloyd 14-0-138-40-9.85; N. M. Turner 12-0-105-31-8.75.

Bowling—J. R. S. Lloyd 204.1-47-540-43-12.55; J. G. M. Burns 132.2-31-430-11-39.09; J. A. Hammond Chambers 116-13-437-11-39.72.

FOREST SCHOOL

Played 16: Won 6, Lost 5, Drawn 5. Abandoned 2

Master i/c: S. Turner

Batting—P. O'Neill 12-3-425-88-47.22; *A. C. Richards 14-3-479-79-43.54; N. Johnson 11-5-201-45*-33.50; A. Heyes 14-3-357-56-32.45; P. Sharma 11-1-182-39-18.20; J. Moore 10-0-100-20-10.00.

Bowling—A. C. Richards 104–38–280–22–12.72; P. O'Neill 89–25–260–15–17.33; A. Hashmi 130–26–481–19–25.31; J. Dwyer 161–30–627–23–27.26; M. Pike 128–21–404–11–36.72.

FOYLE AND LONDONDERRY COLLEGE

Played 18: Won 14, Lost 2, Drawn 2. Abandoned 1

Masters i/c: G. R. McCarter and I. McCracken

Batting—T. Dougherty 18–4–489–75*–34.92; *B. Smyth 17–3–421–82–30.07; J. McFarland 17–2–396–77–26.40; J. Brown 18–1–380–98–22.35; C. Parke 11–2–148–33–16.44; C. Donaghy 11–4–104–34*–14.85; A. Brown 13–4–107–33*–11.88.

Bowling—J. Brown 153.4-39-319-44-7.25; C. Parke 77-15-244-26-9.38; S. Lapsley 73.5-9-266-24-11.08; R. Martin 119.1-22-305-23-13.26; D. Cooke 119-33-300-22-13.63.

FRAMLINGHAM COLLEGE

Played 17: Won 8, Lost 1, Drawn 8

Master i/c: P. J. Hayes

Cricket professional: C. Rutterford

Batting—N. I. Barker 17–3–599–82–42.78; J. A. Newton 16–7–374–86–41.55; *S. E. Iliffe 17–1–563–106–35.18; W. J. Earl 17–1–526–122*–32.87; M. C. Osborne 9–4–163–71*–32.60; A. J. Thorogood 12–4–238–47–29.75.

Bowling—S. E. Iliffe 69.4–11–227–18–12.61; M. J. Rutterford 232.5–66–548–43–12.74; P. Edwards 189.3–49–483–34–14.20; J. G. C. Townsend 217.5–36–704–29–24.27.

GIGGLESWICK SCHOOL

Played 14: Won 3, Lost 3, Drawn 8. Abandoned 1

Master i/c: D. Seed

Cricket professional: B. Julian

Batting—*A. D. Nesbitt 13-1-323-83*-26.91; A. G. Holmes 11-0-285-71-25.90; A. G. G. Caton 12-2-224-45-22.40; J. J. Knighton 13-2-191-57-17.36; S. J. Taylor 11-0-184-49-16.72; T. J. Bentley 13-1-180-36-15.00.

Bowling—S. M. Burton 47–9–150–11–13.63; T. J. Bentley 107–24–314–17–18.47; A. G. G. Caton 107–13–332–17–19.52; O. P. J. White 90–12–455–21–21.66; A. D. Armstrong 67–8–314–14–22.42; A. D. Nesbitt 97–19–290–12–24.16.

THE GLASGOW ACADEMY

Played 11: Won 0, Lost 6, Drawn 5

Master i/c: D. N. Barrett

Cricket professional: B. M. W. Patterson

Batting—J. M. Gayfer 11–1–286–58–28.60; *K. P. Sandberg 11–2–194–55*–21.55; J. J. Millen 10–1–131–50*–14.55.

Bowling—J. Gardee 115.4-22-343-23-14.91; J. M. Gayfer 135.3-26-413-21-19.66; D. G. Gourlay 75-10-263-13-20.23.

GLENALMOND

Played 14: Won 3, Lost 4, Drawn 7. Abandoned 3

Master i/c: A. James

Batting—C. J. C. Breese 15–3–374–79*–31.16; J. D. Thomson 15–0–402–87–26.80; S. C. Scott Elliot 12–0–317–109–26.41; J. P. Jack 15–1–286–67*–20.42; *R. M. Jebb 14–0–235–70–16.78; E. R. Lindsay 15–1–170–35–12.14; G. J. N. Nardini 12–1–120–30–10.90.

Bowling—J. C. Caldwell 189–46–461–27–17.07; A. R. L. Wager 73.1–15–209–12–17.41; R. M. Jebb 158.2–31–547–31–17.64.

GORDONSTOUN SCHOOL

Played 10: Won 2, Lost 3, Drawn 5

Masters i/c: C. J. Barton and J. E. Lofthouse

Batting—E. Ruane 10-1-269-54-29.88; R. Collett 8-2-144-52-24.00; D. Craven 8-1-164-58*-23.42; A. J. Clark 7-1-125-32-20.83.

Bowling—H. Cliffe-Thompson 93–10–280–20–14.00; D. Craven 65–13–156–10–15.60; A. Assatourian 36–4–240–11–21.81.

GRENVILLE COLLEGE

Played 18: Won 10, Lost 6, Drawn 2

Master i/c: R. J. Davis

Batting—S. Blakers 6–2–182–84*–45.50; J. F. T. Pallister 7–1–192–67–32.00; E. C. Johns 14–5–142–36*–15.77; D. R. Ellacott 15–3–174–24*–14.50; R. S. Hann 13–3–131–27–13.10; A. J. Symons 11–1–119–35–11.90.

Bowling—M. J. Graham 47-9-127-18-7.05; *S. D. Wait 110-22-319-29-11.00; A. J. Symons 47.1-4-228-15-15.20; R. S. Hann 89-14-376-16-23.50.

GRESHAM'S SCHOOL

Played 18: Won 5, Lost 3, Drawn 10

Master i/c: A. M. Ponder

Batting—K. S. C. Tuck 14–3–390–63–35.45; M. V. A. Robins 11–3–254–58–31.75; *I. D. Barnett 17–0–485–141–28.52; D. J. Newton 17–1–420–52–26.25; P. D. Holliday 12–2–248–59–24.80; S. E. Child 8–1–129–34*–18.42; A. J. Evans 17–3–244–33*–17.42.

Bowling—A. J. Ward 68-16-178-17-10.47; I. D. Barnett 172-34-512-26-19.69; S. G. Lind 134-21-376-18-20.88; M. P. Seaman 89.3-7-350-13-26.92; D. A. Jackson 191-27-674-23-29.30.

HABERDASHERS' ASKE'S SCHOOL, ELSTREE

Played 18: Won 8, Lost 0, Drawn 10. Abandoned 1

Master i/c: N. G. Folland

Batting—*B. Moore 18-3-785-147*-52.33; M. I. Yeabsley 17-3-722-123*-51.57; R. Thacker 16-4-614-120*-51.16; S. Liddle 8-3-153-52-30.60; R. S. Yeabsley 13-2-275-49-25.00; B. Arumugam 10-3-126-42-18.00.

Bowling—B. Moore 69.2-19-196-17-11.52; R. S. Yeabsley 265.1-68-678-42-16.14; M. I. Yeabsley 221-78-589-36-16.36.

HAILEYBURY

Played 17: Won 6, Lost 3, Drawn 8. Abandoned 1

Master i/c: M. S. Seymour

Cricket professional: P. M. Ellis

Batting—*W. T. R. Meacock 18–1–495–88–29.11; G. A. Ritchie 18–3–394–118–26.26; J. Malhotra 14–1–333–66–25.61; A. M. W. Lemon 15–3–252–45–21.00; J. W. Holding 9–1–138–68*–17.25; S. J. Ansell 18–1–290–40–17.05; T. C. Roundell 17–2–212–41–14.13.

Bowling—A. M. W. Lemon 213-48-590-47-12.55; R. G. A. Gunn 258-93-567-30-18.90; G. A. Ritchie 182-56-458-23-19.91.

HAMPTON SCHOOL

Played 17: Won 4, Lost 4, Drawn 9

Master i/c: A. J. Cook

Bowling—S. R. Caruana 72–17–224–13–17.23; J. E. Saunders 182–47–637–36–17.69; J. A. Scowen 80–20–218–11–19.81; S. A. H. Cochrane 165–49–463–23–20.13; R. A. F. Hall 187–33–792–24–33.00.

HARROW SCHOOL

Played 18: Won 4, Lost 2, Drawn 12

Master i/c: W. Snowden

Cricket professional: R. K. Sethi

Batting—C. E. Williams 16-3-521-127*-40.07; S. M. Guillebaud 16-5-439-72*-39.90; S. H. Aldous 18-3-504-69-33.60; M. A. Holyoake 15-1-363-73-25.92; E. M. S. Hewens 11-3-198-47-24.75; F. S. J. Yates 11-3-172-40-21.50; J. L. Pool 10-1-182-38-20.22; *M. E. D. Jarrett 16-1-269-50*-17.93.

Bowling—J. L. Pool 153–40–366–26–14.07; R. E. Sexton 261–72–749–40–18.72; R. A. H. Peasgood 72–14–191–10–19.10; W. J. D. Hewitt 142–18–492–21–23.42.

THE HARVEY GRAMMAR SCHOOL

Played 25: Won 14, Lost 3, Drawn 8

Master i/c: P. J. Harding

Batting—M. R. Fletcher 16–3–447–101*–34.38; P. D. Crocker 23–8–472–80*–31.46; S. F. Hobbs 24–3–520–93–24.76; R. J. N. Davis 14–4–197–59–19.70; G. N. Thompson 16–5–184–52*–16.72; C. K. Crampton 8–0–119–49–14.87; A. W. Morris 12–3–133–42–14.77; *S. Lowe 21–2–276–54–14.52; S. G. Rees 11–2–118–45–13.11.

Bowling—A. W. Morris 181.4-59-478-50-9.56; A. J. Bowers 127.1-30-366-30-12.20; R. J. N. Davis 279.4-74-685-56-12.23; S. G. Rees 103.1-33-308-23-13.39; M. R. Fletcher 91.4-35-212-15-14.13.

HEREFORD CATHEDRAL SCHOOL

Played 15: Won 6, Lost 3, Drawn 6

Master i/c: A. H. Connop

Batting—J. Sparey 9–2–355–109*–50.71; *E. Bottoms 13–4–248–39*–27.55; L. James 8–1–176–51–25.14; R. King 13–0–300–67–23.07; C. Banks 11–2–158–40–17.55; E. Symonds 12–3–145–47–16.11; I. Cathcart 13–0–147–28–11.30.

Bowling—L. James 70.1–19–213–16–13.31; B. Plane 123–36–323–22–14.68; E. Bottoms 196.3–42–579–36–16.08; I. Cathcart 50–7–179–10–17.90.

HIGHGATE SCHOOL

Played 14: Won 7, Lost 4, Drawn 3

Master i/c: C. J. Davies

Cricket professional: R. E. O. Jones

Batting—E. Gladwin 3–0–116–50–38.66; A. Shams 14–1–338–46*–26.00; M. Tudor 11–5–150–44*–25.00; T. Gladwin 14–0–324–66–23.14; R. Tillett 11–0–226–51–20.54; K. Jay 10–2–133–36*–16.62; A. Maruf 11–3–132–51–16.50.

Bowling—T. Gladwin 155.4–31–566–37–15.29; R. Grant 87.2–14–386–19–20.31; M. Sylvester 150.4–24–510–23–22.17; R. Parbhoo 74–8–319–12–26.58.

HURSTPIERPOINT COLLEGE

Played 16: Won 7, Lost 3, Drawn 6. Abandoned 1

Master i/c: M. E. Allbrook

Cricket professional: D. J. Semmence

Batting—*M. J. Semmence 15–6–492–90*–54.66; P. T. Wicker 15–2–490–100*–37.69; J. M. Kemp-Gee 11–4–248–86*–35.42; H. M. Reid 16–0–379–63–23.68; C. M. Rhodes 12–1–167–39–15.18; N. R. Beacham 10–2–113–38*–14.12; S. L. Lilly 10–2–108–33–13.50; G. W. Budibent 9–1–103–40–12.87.

Bowling—M. J. Semmence 122–36–325–24–13.54; M. J. King 188–43–506–36–14.05; S. R. J. Hall 151.5–47–335–17–19.70; P. T. Wicker 110.5–32–259–12–21.58; C. C. Cheshire 162.4–28–485–19–25.52.

IPSWICH SCHOOL

Played 14: Won 5, Lost 1, Drawn 8

Master i/c: P. Rees

Cricket professional: R. E. East

Batting—R. Catley 14–1–476–110–36.61; J. Douglas 13–4–316–104*–35.11; M. Thorndyke 7–0–210–82–30.00; *R. Burgess 14–3–309–68–28.09; O. Magnus 12–5–144–33*–20.57; R. Freeman 13–2–219–66–19.90.

Bowling—J. Douglas 58.4–8–179–24–7.45; P. Douglas 198–58–496–28–17.71; R. Catley 172–53–542–28–19.35; C. Earley 184.1–47–540–19–28.42.

KELLY COLLEGE

Played 13: Won 5, Lost 3, Drawn 5. Abandoned 1

Master i/c: G. C. L. Cooper

Batting—J. J. Wood 11–5–239–51*–39.83; *C. P. Insole 9–1–246–67*–30.75; G. E. M. Baber 13–1–282–72*–23.50; G. J. Down 12–1–196–69–17.81; W. J. Kingwell 12–1–175–42–15.90; J. R. Hurst 12–1–167–44–15.18.

Bowling—A. M. Dakin 40.4–3–170–12–14.16; P. K. Tyrer 60–16–194–13–14.92; I. J. Saunders 78.3–5–397–21–18.90; W. G. Pendrill 117.1–22–378–17–22.23; J. J. Wood 144.2–33–465–20–23.25.

KIMBOLTON SCHOOL

Played 15: Won 3, Lost 9, Drawn 3. Abandoned 1

Master i/c: R. P. Merriman

Cricket professional: M. E. Latham

Batting—*R. J. T. Ramply 14–1–572–114*–44.00; S. G. Wood 15–2–415–81*–31.92; T. C. Agnew 13–2–179–65–16.27; N. J. Fuller 15–0–205–51–13.66; T. A. Littlewood 12–0–153–26–12.75; A. W. Ford 14–0–144–25–10.28.

Bowling—I. Prideaux 210.5-31-593-40-14.82; R. J. T. Ramply 114.2-18-421-17-24.76; A. W. Ford 96-14-373-15-24.86; T. A. Littlewood 112.5-22-319-11-29.00.

KING EDWARD VI COLLEGE, STOURBRIDGE

Played 15: Won 6, Lost 3, Drawn 6. Abandoned 4

Masters i/c: D. E. D. Campbell and M. L. Ryan

Batting—G. R. Day 15-2-451-68-34.69; *A. D. Hadley 14-2-394-104*-32.83; M. Fullwood 12-2-235-59*-23.50; J. Allen 12-1-231-80-21.00; E. M. James 9-0-167-54-18.55.

Bowling—M. Fullwood 63–17–133–14–9.50; N. Bell 73–16–178–13–13.69; J. R. T. Burn 76–15–234–14–16.71; A. D. Hadley 110.4–29–305–16–19.06; J. Allen 134.5–45–310–14–22.14.

KING EDWARD VI SCHOOL, SOUTHAMPTON

Played 22: Won 10, Lost 4, Drawn 8. Abandoned 1

Master i/c: R. J. Putt

Batting—*B. Quantrill 20-2-626-83-34.77; M. E. Munro 10-5-170-48-34.00; R. T. Markham 17-0-538-68-31.64; G. R. Treagus 12-2-262-105*-26.20; J. D. Chrispin 21-4-438-61-25.76; R. P. Knights 17-2-380-58-25.33; M. J. Self 14-4-248-35-24.80; A. J. Tidby 20-6-277-52*-19.78; E. L. Godber 10-0-185-78-18.50.

Bowling—R. M. Salter 241–64–717–53–13.52; E. L. Godber 162–25–561–34–16.50; J. D. Chrispin 153–34–568–21–27.04; M. J. Self 106–15–434–15–28.93; B. Quantrill 107–22–411–14–29.35.

KING EDWARD VII SCHOOL, LYTHAM

Played 13: Won 0, Lost 6, Drawn 7

Master i/c: A. Crowther

Batting—G. Maitland 10–0–287–94–28.70; *P. Macauley 15–1–357–88–25.50; M. Dawson 15–4–166–45*–15.09; S. Walton 12–2–142–37*–14.20; B. Martin 15–1–166–50–11.85; T. Shaw 14–0–100–21–7.14.

Bowling—T. Shaw 79–9–335–16–20.93; P. Young 164–51–434–20–21.70; B. Martin 105–9–468–17–27.52.

KING EDWARD'S SCHOOL, BIRMINGHAM

Played 20: Won 6, Lost 5, Drawn 9. Abandoned 3

Master i/c: M. D. Stead

Cricket professional: R. J. Newman

Batting—C. E. R. Meyer 14-4-493-117*-49.30; N. M. Linehan 12-4-321-81*-40.12; *M. M. Dean 17-1-509-79*-31.81; N. S. Ratnam 18-1-462-110-27.17; C. N. Ashton 17-1-398-80-24.87; C. E. Hitchins 16-3-261-70-20.07; D. A. Bhadri 10-4-114-50*-19.00; J. D. T. West 8-0-150-42-18.75; M. R. Dunbar 14-3-193-62-17.54.

Bowling—H. D. Irfan 39–4–143–10–14.30; M. M. Dean 287.2–78–799–50–15.98; C. D. Atkin 214.2–42–816–36–22.66; O. J. Sharp 78–8–334–10–33.40.

KING HENRY VIII SCHOOL, COVENTRY

Played 13: Won 6, Lost 6, Drawn 1. Abandoned 2

Master i/c: G. P. C. Courtois

Batting—P. H. Harrison 11-5-332-89*-55.33; *M. D. Scott 13-3-510-102*-51.00; G. Gascoyne 12-1-305-114-27.72; C. H. Field 10-1-222-101*-24.66; G. O. Thomas 7-2-109-37-21.80; A. Saeed 11-3-158-44*-19.75.

Bowling—A. P. M. Wilson 94.2–18–423–22–19.22; M. D. Scott 79–13–321–16–20.06; P. H. Harrison 51-5-252-12-21.00; G. O. Thomas 42-4-229-10-22.90; R. G. Whitehall 129.4-16-523-19-27.52.

KING'S COLLEGE, TAUNTON

Played 16: Won 6, Lost 4, Drawn 6

Master i/c: R. J. R. Yeates

Cricket professional: D. Breakwell

Batting—*W. J. K. Greswell 13–2–625–108*–56.81; R. E. Berry 15–1–521–84–37.21; C. P. W. Cashell 15–1–495–93*–35.35; M. K. Coley 10–4–175–38*–29.16; M. J. Scott 8–3–131–45–26.20; J. G. M. Ross 13–1–220–46–18.33; D. G. C. Chubb 13–3–154–30*–15.40; M. F. D. Robinson 11–0–164–34–14.90.

Bowling—M. F. D. Robinson 202.1-48-587-29-20.24; M. J. Scott 131-28-440-17-25.88; D. J. G. Dowsett 159-29-487-18-27.05; A. F. Lacy-Smith 120.3-17-455-13-35.00; M. K. Coley 125.1-24-434-11-39.45.

KING'S COLLEGE SCHOOL, WIMBLEDON

Played 23: Won 10, Lost 3, Drawn 10

Master i/c: G. C. McGinn

Cricket professional: L. Moody

Batting—J. Parrish 18-6-833-100*-69.41; A. J. Barnes 4-2-118-53-59.00; *R. Q. Cake 18-2-927-155*-57.93; H. S. Malik 20-5-615-87-41.00; N. J. Stafford 5-1-160-72*-40.00; R. D. Day 8-5-119-34*-39.66; T. P. Howland 18-3-412-63-27.46; B. C. M. Gardner 15-2-330-77-25.38; B. J. D. Cook 16-2-297-81*-21.21.

Bowling—A. M. Denslow 220–39–779–47–16.57; R. Q. Cake 145.4–32–526–28–18.78; I. M. Hepburn 191.1–42–606–26–23.30; S. A. Bayly 107.3–17–436–16–27.25; H. S. Malik 170–32–620–20–31.00; A. C. Fordyce 122–18–440–12–36.66.

KING'S SCHOOL, BRUTON

Played 12: Won 4, Lost 1, Drawn 7. Abandoned 2

Master i/c: P. Platts-Martin

Cricket professional: N. J. Lockhart

Batting—F. L. Stewart 8-5-107-48*-35.66; N. I. Paul 11-4-224-61*-32.00; N. J. Gammon 9-1-245-63-30.62; A. R. MacEwen 12-2-304-71*-30.40; J. L. Hayes 9-2-206-80*-29.42; P. K. Harding 9-2-168-39-24.00; D. M. Stewart 12-0-273-65-22.75; *C. M. Squire 11-1-175-39-17.50.

Bowling—N. I. Paul 153–37–437–26–16.80; N. J. Gammon 146–24–518–26–19.92; P. K. Harding 81–12–243–12–20.25.

THE KING'S SCHOOL, CANTERBURY

Played 12: Won 5, Lost 5, Drawn 2. Abandoned 2

Master i/c: A. W. Dyer

Cricket professional: D. V. P. Wright

Batting—K. O. O. Sonaike 10–2–294–87–36.75; P. G. Davies 12–0–325–71–27.08; *M. G. Northeast 13–0–340–61–26.15; B. M. Cooper 12–1–148–28*–13.45; S. M. A. C. Satchu 12–1–139–39–12.63; J. J. Rhodes 12–0–101–34–8.41.

Bowling-S. R. Maggs 188.4-56-454-20-22.70; B. M. Cooper 170-36-526-19-27.68.

THE KING'S SCHOOL, CHESTER

Played 18: Won 10, Lost 1, Drawn 7. Abandoned 1

Master i/c: K. H. Mellor

Batting—G. P. Barrett 16-1-540-104*-36.00; *J. R. H. Spencer 17-3-426-60-30.42; J. M. Thomas 12-4-234-73-29.25; B. J. Mitchell 17-3-334-65-23.85; J. Hinkins 14-1-310-57-23.84; A. M. Miln 13-5-161-25-20.12.

Bowling—J. M. Thomas 121–25–346–23–15.04; M. J. Cox 152.3–39–399–22–18.13; S. F. Williams 119.3–29–366–20–18.30; B. J. Mitchell 97–19–275–13–21.15; G. P. Barrett 130.5–42–318–15–21.20.

THE KING'S SCHOOL, ELY

Played 16: Won 10, Lost 2, Drawn 4

Master i/c: R. M. Parsons

Cricket professional: T. G. A. Morley

Batting—A. M. Gallop 16–7–665–143*–73.88; *D. C. Hindle 12–5–349–94*–49.85; C. Q. Taylor 15–1–489–118–34.92; A. R. Watts 14–3–349–77*–31.72; M. C. Savage 9–1–220–42–27.50; P. D. Griffiths 9–1–158–42–19.75.

Bowling—A. W. Marshall 24-6-99-13-7.61; D. C. Hindle 201-50-672-49-13.71; R. G. Willis 130-25-447-23-19.43; J. Fuller 79-19-277-10-27.70.

THE KING'S SCHOOL, MACCLESFIELD

Played 19: Won 8, Lost 1, Drawn 10. Abandoned 3

Master i/c: D. M. Harbord

Cricket professional: S. Moores

Batting—K. A. Graham 19–5–1,075–128*–76.78; *A. J. Wilson 19–4-418–69*–27.86; M. J. Hammond 12–5–165–42–23.57; B. Cartlidge 16–2–314–50–22.42; A. N. Owens 17–0–310–56–18.23; E. K. Dalboth 14–1–134–28–10.30.

Bowling—M. C. Orchison 52.1–18–133–10–13.30; S. C. James 236.5–47–664–39–17.02; M. R. Palmer 246–50–694–39–17.79; A. M. James 196–50–573–24–23.87.

KING'S SCHOOL, ROCHESTER

Played 15: Won 5, Lost 2, Drawn 8. Abandoned 1

Master i/c: J. Irvine

Batting—*M. J. Walker 15–3–872–156*–72.66; T. J. Mitchell 10–4–243–56–40.50; A. C. Mackenzie 13–3–396–75*–39.60; R. Greer 15–3–370–69–30.83; A. P. R. Lane 13–2–267–69–24.27.

Bowling—R. E. C. Jones 77.4–19–283–20–14.15; D. P. Johnson 164–48–424–27–15.70; A. C. Mackenzie 52–15–158–10–15.80; M. J. Walker 157–26–535–28–19.10; J. Mitchell 113–38–265–10–26.50.

THE KING'S SCHOOL, WORCESTER

Played 20: Won 5, Lost 6, Drawn 9

Master i/c: D. P. Iddon

Batting—*R. Tomlinson 17–0–563–93–33.11; M. Wheeler 15–1–393–95–28.07; J. Richardson 17–4–276–48–21.23; P. O'Neill 16–2–273–39–19.50; D. Hughes 20–1–361–56–19.00; A. Thompson 17–2–279–102*–18.60; J. Rogers 19–4–268–46–17.86; J. Malins 15–3–167–36–13.91.

Bowling—R. Allum 167–47–470–31–15.16; M. Bourne 115–18–453–26–17.42; B. Crabbe 110–17–405–19–21.31; D. Hughes 138–25–469–19–24.68; J. Richardson 135–28–371–13–28.53; J. Malins 129–18–445–15–29.66.

KINGSTON GRAMMAR SCHOOL

Played 17: Won 5, Lost 8, Drawn 4. Abandoned 1

Master i/c: J. A. Royce

Batting—*E. S. Gratton 15-4-602-120*-54.72; J. N. Makepeace-Taylor 4-1-115-70-38.33; D. Spencer 10-2-268-91*-33.50; D. J. Lipscomb 16-3-346-68-26.61; J. M. Wallis 15-2-207-36-15.92; S. J. Grev 13-1-177-59*-14.75.

Bowling—D. Spencer 67.2–10–199–15–13.26; A. M. Allen 145.2–21–516–27–19.11; M. E. Bendel 135–23–472–24–19.66; E. S. Gratton 121.5–13–457–17–26.88; S. J. Temlett 101–19–344–12–28.66.

KINGSWOOD SCHOOL

Played 10: Won 3, Lost 3, Drawn 4

Master i/c: G. Mobley

Batting—N. M. Job 5-1-179-111*-44.75; *G. J. B. Williams 10-2-355-156*-44.37; T. G. R. Gibbs 9-1-299-114*-37.37; N. P. Dowling 7-2-154-54-30.80; D. R. Bowden 9-1-193-46-24.12; D. T. R. Smith 6-0-140-55-23.33; M. T. R. Langstaff 9-2-118-31*-16.85.

Bowling-J. Dyson 96-19-314-21-14.95; N. J. Page 68.2-10-216-10-21.60.

KING WILLIAM'S COLLEGE, ISLE OF MAN

Played 11: Won 2, Lost 5, Drawn 4. Abandoned 2

Master i/c: T. M. Manning

Cricket professional: D. Mark

Batting—U. A. Nwachuku 9-2-224-61*-32.00; *M. L. Craine 9-0-234-60-26.00; D. R. Norman 9-0-234-55-26.00; L. R. Clarke 12-4-157-61*-19.62; J. C. D. Hinds 9-0-175-49-19.44; S. G. McNeill 8-0-135-72-16.87.

Bowling—R. C. Turner 48.3–9–148–10–14.80; L. R. Clarke 146.3–36–380–21–18.09; N. C. Capewell 126–32–336–18–18.66; D. R. Norman 124–28–427–17–25.11.

LANCING COLLEGE

Played 18: Won 7, Lost 6, Drawn 5. Abandoned 1

Master i/c: I. Perrins

Cricket professional: R. G. Davies

Batting—*S. Baker 17-3-934-111-66.71; R. Spink 17-0-425-66-25.00; J. Rees 13-8-112-25*-22.40; J. Hegan 18-1-363-81*-21.35; J. Annetts 12-2-205-42-20.50; P. Goulstone 15-1-257-44-18.35; A. Lutwyche 13-1-186-54-15.50; T. Fowler 12-1-162-47*-14.72.

Bowling—J. Pattisson 122–26–371–29–12.79; S. Baker 153–33–528–34–15.52; R. Spink 129–39–304–19–16.00; I. Meadows 165–38–498–26–19.15.

LEEDS GRAMMAR SCHOOL

Played 17: Won 2, Lost 0, Drawn 15. Abandoned 1

Master i/c: R. Hill

Batting—*T. C. Walton 16–2–545–88*–38.92; I. C. Sutcliffe 13–1–449–80–37.41; C. G. P. Jackson 12–1–371–102–33.72; G. C. Allman 7–3–100–42–25.00; R. M. Atkinson 10–2–181–66*–22.62; S. M. J. Surrey 10–1–170–43–18.88; R. J. Melville 14–1–232–57–17.84; S. P. Stephens 10–0–177–31–17.70; G. D. Simmons 10–3–112–37–16.00.

Bowling—R. M. Atkinson 171–49–401–42–9.54; T. C. Walton 229.3–70–603–49–12.30; M. P. Walker 57–13–168–10–16.80.

THE LEYS SCHOOL

Played 20: Won 8, Lost 6, Drawn 6. Abandoned 1

Master i/c: P. S. D. Carpenter

Cricket professional: D. Gibson

Batting—R. C. Weston 18–2–988–202–61.75; A. S. Brule Ball 14–5–326–77*–36.22; M. C. Donnor 19–1–607–89–33.72; D. J. Woods 18–3–460–79–30.66; T. R. Griffiths 4–0–114–54–28.50; T. E. Hebden 9–2–196–69*–28.00; J. R. Tilbrook 11–3–213–75*–26.62; J. P. Gillham 8–3–124–35*–24.80; *D. D. Spencer 13–2–176–56–16.00.

Bowling—M. C. Donnor 114–7–568–23–24.69; M. S. Khan 129–23–504–17–29.64; D. M. A. Bullen 140–18–514–16–32.12; J. P. Gillham 138.1–28–525–16–32.81; R. P. B. Amar 102–18–370–10–37.00.

LIVERPOOL COLLEGE

Played 12: Won 1, Lost 6, Drawn 5. Abandoned 4

Master i/c: The Revd J. R. Macaulay

Batting—*J. Q. Harrington 12-2-413-107-41.30; B. Latto 11-2-265-50-29.44; A. Williams 11-2-147-48*-16.33; T. Henderson 11-1-125-51-12.50.

Bowling—J. Q. Harrington 82–16–256–17–15.05; J. Rushton 138–23–433–23–18.82; B. Latto 33–2–189–10–18.90; J. Rylance 95–11–300–11–27.27.

LLANDOVERY COLLEGE

Played 14: Won 7, Lost 1, Drawn 6. Abandoned 4

Master i/c: T. G. Marks

Batting—*S. A. Richards 14–5–477–90–53.00; J. L. Evans 6–1–166–70–33.20; B. Rowlands 8–2–126–67*–21.00; I. W. Jones 8–0–167–45–20.87; D. I. Simcock 8–1–132–37–18.85; R. G. Jones 11–2–142–44*–15.77.

Bowling—G. D. A. Lyddon-Jones 116–26–280–23–12.17; H. G. Davies 90–21–275–21–13.09; B. Rowlands 118–18–333–23–14.47; S. A. Richards 46–4–181–11–16.45.

LORD WANDSWORTH COLLEGE

Played 15: Won 7, Lost 1, Drawn 7

Master i/c: G. R. Smith

Batting-B. A. Hames 11-4-356-103*-50.85; G. C. Shoobridge 8-1-255-75-36.42; C. J. Fairley 5-1-107-34-26.75; T. A. Dyson 15-3-268-62-22.33; E. J. Kearney 10-1-173-36-19.22; M. J. F. Middleditch 9-0-154-53-17.11; R. P. Wightman 9-1-135-43*-16.87; *D. A. Robinson 10-3-101-36-14.42.

Bowling-N. P. B. Rochford 124.5-25-420-37-11.35; J. R. Cowles 133.4-25-499-34-14.67; D. A. Robinson 103.5-20-370-24-15.41.

LORETTO SCHOOL

Played 16: Won 6, Lost 4, Drawn 6. Abandoned 2

Master i/c: R. G. Selley

Batting-*J. A. G. Grant 14-2-381-65-31.75; A. G. King 9-2-192-68*-27.42; A. C. F. Mason 11-6-128-38*-25.60; E. Barbour 11-4-172-41*-24.57; A. J. R. Gibb 15-1-328-102*-23.42; S. C. Fraser 14-1-223-43-17.15.

Bowling—A. Allan 66-31-110-11-10.00; A. C. F. Mason 265-96-489-40-12.22; J. A. G. Grant 245-66-569-41-13.87; J. S. Bedi 193-53-529-25-21.16.

LOUGHBOROUGH GRAMMAR SCHOOL

Played 16: Won 6, Lost 1, Drawn 9

Master i/c: E. Thorpe

Batting—G. Leeson 16-6-808-119*-80.80; *C. J. Hawkes 13-0-611-94-47.00; I. Partridge 13-2-421-89-38.27; C. Hill 9-3-146-44-24.33; P. Harris 11-0-239-61-21.72; J. Simpson 11-4-130-35*-18.57.

Bowling-C. J. Hawkes 206.4-79-475-48-9.89; J. Simpson 163.3-39-529-30-17.63; P. Gidley 133.4–27–476–14–34.00.

MAGDALEN COLLEGE SCHOOL

Played 21: Won 10, Lost 5, Drawn 6. Abandoned 1

Master i/c: N. A. Rollings

Cricket professional: M. Joyce

Batting—N. S. Hawken 18-4-562-100*-40.14; M. J. Winson 18-2-577-91*-36.06; M. B. Bixby 21-2-624-110*-32.84; J. C. Bobby 18-2-515-88*-32.18; *T. H. Boyles 20-1-457-77-24.05; S. D. Stinchcombe 15-8-127-32-18.14; C. A. Lawrence 13-2-160-63-14.54.

Bowling—N. H. B. Wilson 69.5-14-267-17-15.70; C. A. Lawrence 172.5-44-508-29-17.51; J. C. Bobby 184-41-585-33-17.72; J. A. Brady 196.2-53-577-32-18.03; S. D. Stinchcombe 228.3-53-726-39-18.61.

MALVERN COLLEGE

Played 16: Won 5, Lost 1, Drawn 10. Abandoned 2

Master i/c: R. W. Tolchard

Batting—P. V. Sykes 16-4-499-110-41.58; *J. W. A. Horton 15-0-529-100-35.26; S. J. C. Ferguson 13-5-274-53-34.25; J. H. Verity 17-2-450-82-30.00; J. T. B. Crawley 14-6-237-77*-29.62; N. J. Gaunt 11-3-140-24*-17.50.

Bowling—C. R. Phillips 215.1-41-675-33-20.45; F. E. O. Nyaseme 102.2-20-339-16-21.18; J. H. Verity 145-32-346-14-24.71; J. T. B. Crawley 151-41-393-14-28.07.

MANCHESTER GRAMMAR SCHOOL

Played 20: Won 7, Lost 3, Drawn 10, Abandoned 1

Master i/c: D. Moss

Batting—M. J. P. Ward 19-3-962-145*-60.12; M. C. Jones 19-3-427-70-26.68; L. J. Marland 16-1-310-74-20.66; C. M. Gresty 17-3-175-37-12.50.

Bowling—L. J. Marland 91.3-25-265-17-15.58; M. C. Jones 226.5-58-631-36-17.52; M. J. P. Ward 291.5-90-762-35-21.77; N. S. Farmer 192.3-41-583-24-24.29.

MARLBOROUGH COLLEGE

Played 14: Won 1, Lost 7, Drawn 6. Abandoned 1

Master i/c: R. B. Pick

Cricket professional: R. M. Ratcliffe

Batting-*T. C. Oxborrow 15-2-421-90*-32.38; B. G. Harvey 10-1-285-109-31.66; O. P. R. Whitehead 7-2-145-42-29.00; R. R. Brass 8-3-145-56*-29.00; M. E. C. Harris 13-3-262-46-26.20; J. Simkins 11-1-219-65*-21.90; R. A. S. Kikonyogo 10-1-173-39-19.22; J. R. R. Fletcher 12-0-221-68-18.41; D. A. R. Wood 14-0-237-47-16.92; D. M. Del Mar 11-0-110-40-10.00.

Bowling-P. M. Taggart 84-5-400-16-25.00; M. E. C. Harris 213.1-27-704-20-35.20; N. Alonso-McGregor 131.4-29-530-11-48.18.

MERCHANT TAYLORS' SCHOOL, CROSBY

Played 16: Won 2, Lost 4, Drawn 10

Master i/c: The Revd D. A. Smith

Cricket professional: M. Chee Quee

Batting-*G. S. Glynne-Jones 14-2-392-77-32.66; M. P. Edwards 16-0-424-99-26.50; I. G. Sutcliffe 14-2-307-45*-25.58; M. G. Doggett 16-2-307-73-21.92; J. M. Pearce 10-0-169-38-16.90.

Bowling—C. E. R. Earlam 125.5-26-329-15-21.93; R. A. Buckels 151.1-30-490-21-23.33; I. G. Sutcliffe 157.2–32–494–20–24.70.

MERCHANT TAYLORS' SCHOOL, NORTHWOOD

Played 25: Won 12, Lost 2, Drawn 11. Abandoned 1

Master i/c: W. M. B. Ritchie Cricket professional: H. C. Latchman

Batting—*A. J. Brand 25-7-1,311-202*-72.83; C. M. Jaggard 25-3-1,364-145-62.00; R. A. Hawkey 25-4-975-101*-46.42; A. E. S. Bartlett 18-4-288-58-20.57; A. J. Powell-Williams 21-5-302-65-18.87; A. I. Macpherson 15-3-125-25*-10.41.

Bowling-A. J. Preston 85-24-188-13-14.46; P. Knowles 225.1-59-512-34-15.05; R. A. Hawkey 193-58-518-32-16.18; A. E. S. Bartlett 246-67-606-30-20.20; P. Parekh 182.2-32-670-30-22.33; A. J. Todd 92.4-18-323-13-24.84; A. J. Brand 155.4-26-581-22-26.40; A. J. Powell-Williams 152-33-467-17-27.47.

MERCHISTON CASTLE SCHOOL

Played 19: Won 9, Lost 5, Drawn 5. Abandoned 1

Master i/c: C. W. Swan

Cricket professional: I. Philip

Batting-B. R. S. Eriksson 18-1-376-72-22.11; *G. C. Wearmouth 19-4-303-54-20.20; J. M. Prescott 19-2-290-42-17.05; A. C. Wearmouth 16-8-130-25*-16.25; D. W. Hodge 19-1-289-39-16.05; G. W. Anderson 17-0-238-94-14.00.

Bowling-B. R. S. Eriksson 134-45-263-40-6.57; A. R. C. Gilmour 281-79-558-59-9.45; D. W. Hodge 94-21-224-16-14.00; A. A. L. Ramsay 270-68-605-38-15.92.

MILLFIELD SCHOOL

Played 20: Won 7, Lost 3, Drawn 10

Master i/c: A. D. Curtis

Cricket professional: G. C. Wilson

Batting—G. W. White 20–3–1,061–200*–62.41; *N. F. Gibbs 20–3–769–92–45.23; I. J. Ward 20–4–572–62–35.75; R. O. Jones 17–6–300–47*–27.27; A. S. Golder 10–4–135–53*–22.50; J. R. Eccles 7–2–109–48–21.80; A. J. Dalton 15–5–182–35–18.20; B. S. Little 19–1–289–68–16.05.

Bowling—N. F. Gibbs 247.1–56–627–37–16.94; R. J. Ballinger 209.5–46–620–29–21.37; R. O. Jones 126.1–21–416–18–23.11; P. T. Jacques 230.2–72–604–24–25.16; G. W. White 115–29–389–10–38.90.

MILL HILL SCHOOL

Played 16: Won 3, Lost 8, Drawn 5

Master i/c: R. J. Denning

Cricket professional: G. A. R. Lock

Batting—D. M. J. Kraft 15–1–370–84–26.42; A. Ismail 10–0–200–75–20.00; J. D. A. Brown 16–4–224–35–18.66; N. C. Propper 15–0–247–73–16.46; S. M. P. Mortali 12–2–138–33–13.80; N. Kamath 13–0–111–48–8.53; *G. E. S. Brock 16–0–135–22–8.43.

Bowling—G. E. S. Brock 222-63-612-37-16.54; A. Ismail 118-36-331-16-20.68; T. J. Petropoulos 121-25-388-14-27.71.

MILTON ABBEY SCHOOL

Played 14: Won 4, Lost 5, Drawn 5. Abandoned 1

Master i/c: S. T. Smail

Batting—M. C. W. Williams 11–1–271–61–27.10; D. C. J. Henderson 11–1–225–76*–22.50; G. E. Bundock 10–3–156–38*–22.28; J. C. Brewer 7–1–126–40–21.00; *T. H. Brassey 13–3–198–67*–19.80; N. J. Smallman 14–2–232–42–19.33; E. J. Pownall 11–1–178–50–17.80; J. G. Hodges 9–2–111–52–15.85; P. le Q. Herbert 14–1–177–45–13.61.

Bowling—N. J. Smallman 88.5–18–299–18–16.61; R. P. R. Coulman 122.1–24–484–27–17.92; T. H. Brassey 149–27–528–27–19.55; D. C. J. Henderson 94.5–17–333–14–23.78.

MONKTON COMBE SCHOOL

Played 16: Won 7, Lost 3, Drawn 6

Masters i/c: P. C. Sibley and N. D. Botton

Batting—*T. Simmons 16–5–630–100*–57.27; N. C. L. Sinfield 15–2–481–75–37.00; R. Johns 16–0–432–65–27.00; J. Ward 12–3–178–72*–19.77; S. Lockyer 13–2–211–100*–19.18; J. Thomas 11–3–143–40*–17.87.

Bowling—N. C. L. Sinfield 134.4–25–409–28–14.60; J. Veitch 158.1–34–473–25–18.92; T. Simmons 182.1–27–631–31–20.35; T. Hannell 139.3–20–463–15–30.86; J. Ward 95–13–386–11–35.09.

MONMOUTH SCHOOL

Played 15: Won 2, Lost 3, Drawn 10. Abandoned 1

Master i/c: D. H. Messenger

Batting—A. J. Jones 15–1–702–136–50.14; J. H. Langworth 12–4–349–79–43.62; M. J. Tamplin 9–2–253–54–36.14; T. M. King 11–2–248–49–27.55; P. A. Clitheroe 9–1–189–68–23.62; R. D. Turner 10–0–103–26–10.30.

Bowling—P. A. Clitheroe 202.3–55–547–31–17.64; D. J. R. Price 139–47–347–19–18.26; M. J. Tamplin 61.4–14–232–10–23.20; R. W. Price 87–21–281–11–25.54.

NEWCASTLE-UNDER-LYME SCHOOL

Played 13: Won 5, Lost 0, Drawn 8. Abandoned 2

Master i/c: S. A. Robson

Cricket professional: D. Headley

Batting—M. H. Colclough 11-5-528-100-88.00; *J. N. Britton $7-3-285-100^*-71.25$; D. M. Gilwhite $10-1-203-42^*-22.55$; R. A. Spence $11-2-189-63^*-21.00$; M. H. Foster 8-1-123-42-17.57; S. G. Devaney $10-3-110-24^*-15.71$.

Bowling—M. A. Smith 25-6-65-10-6.50; I. Bradbury 105.5-24-283-29-9.75; M. H. Colclough 76.1-15-222-14-15.85; P. R. Leverett 78.3-18-267-16-16.68; R. M. Taylor 103.3-26-289-12-24.08.

NOTTINGHAM HIGH SCHOOL

Played 17: Won 3, Lost 3, Drawn 11. Abandoned 3

Master i/c: P. G. Morris

Cricket professional: K. J. Poole

Batting—S. H. Ferguson 4–2–143–102*–71.50; *S. A. O'Brien 14–1–558–107*–42.92; S. W. Holliday 10–2–221–76*–27.62; R. I. Howarth 13–2–293–73–26.63; M. J. Bonsall 16–1–395–64–26.33; M. Kennedy 13–3–176–43*–17.60; A. S. Chisholm 10–4–105–27*–17.50; S. D. Goodley 16–0–263–70–16.43.

Bowling—R. I. Howarth 164.2–27–675–33–20.45; J. W. Phillips 124–20–513–15–34.20; A. S. Chisholm 114–22–444–12–37.00; A. E. Brydon 118–15–376–10–37.60.

OAKHAM SCHOOL

Played 16: Won 2, Lost 7, Drawn 7

Master i/c: J. Wills

Batting—*N. C. Kingham 15–5–467–99*–46.70; P. M. J. Webb 13–1–394–94–32.83; J. W. Lewin 9–1–139–34–17.37; M. B. Smith 14–2–196–58*–16.33; A. T. Craig 12–0–193–72–16.08.

Bowling—P. J. R. Smith 65-16-236-12-19.66; M. Cullen 152.4-23-379-19-19.94; J. M. Astill 63-6-259-12-21.58; J. W. Lewin 100-25-352-12-29.33; N. C. Kingham 179.3-32-665-20-33.25.

THE ORATORY SCHOOL

Played 18: Won 10, Lost 3, Drawn 5

Master i/c: P. L. Tomlinson

Cricket professional: J. B. K. Howell

Batting—J. D. Clarke 18–4–632–125–45.14; D. Olszowski 18–2–525–101–32.81; J. P. S. Tomlinson 5-0-102-47-20.40; *R. P. Unwin 13-1-243-47-20.25; C. E. Watson 9-1-156-60-19.50; J. A. Keeble 16-2-262-58*-18.71; E. N. Dunseath 8-0-141-38-17.62; D. T. Curran 10-0-163-32-16.30; D. A. Thorne 8-0-103-34-12.87.

Bowling—K. R. Welsh 107-16-336-27-12.44; J. P. S. Tomlinson 38-6-138-10-13.80; R. P. Unwin 172-26-493-26-18.96; R. L. Belgrave 126-16-382-19-20.10; D. A. Thorne 132-14-489-23-21.26; E. N. Dunseath 126-26-462-20-23.10.

OUNDLE SCHOOL

Played 20: Won 5, Lost 2, Drawn 13

Master i/c: V. G. B. Cushing

Cricket professional: T. Howorth

Batting—*A. Lee 17–8–343–59–38.11; S. de Morgan 18–1–500–79–29.41; D. Anslow 18–0–466–87–25.88; A. Richardson 19–1–452–62–25.11; N. Delahooke 15–7–197–34–24.62; M. Epton 16–1–356–60–23.73; R. J. C. Harris 17–4–280–50–21.53; C. Herbert 12–2–198–46–19.80.

Bowling—M. Epton 160.4-33-473-28-16.89; A. Richardson 212.4-48-564-27-20.88; H. Simpson 72.3-17-244-11-22.18; N. Delahooke 167.5-33-592-20-29.60; A. Lee 233-48-698-23-30.34.

THE PERSE SCHOOL

Played 15: Won 0, Lost 6, Drawn 9. Abandoned 2

Master i/c: A. W. Billinghurst

Cricket professional: D. C. Collard

Batting—E. W. H. Wiseman 13-4-467-102*-51.88; B. J. G. Edgar 14-1-518-158-39.84; D. L. Young 12-1-437-88-39.72; R. T. Ragnauth 11-4-254-70*-36.28; D. M. Johnson 15-0-268-61-17.86; D. R. Sutton 12-2-156-58-15.60.

Bowling—J. A. H. Martin 131–18–603–22–27.40; M. J. Oakman 169–50–514–18–28.55; D. L. Young 114.5–21–458–10–45.80.

PLYMOUTH COLLEGE

Played 19: Won 10, Lost 1, Drawn 8

Master i/c: T. J. Stevens

Batting—A. R. Maddock 17-4-1,128-139*-86.76; J. Osborne 17-6-468-107*-42.54; K. J. Willcock 14-6-301-86*-37.62; J. W. Dadge 13-3-315-84-31.50; *P. E. Stewart 15-3-331-64-27.58; S. W. Nicholson 10-4-153-37-25.50; G. V. Roberts 10-1-143-54-15.88.

Bowling—S. W. Nicholson 114.5–25–321–19–16.89; S. D. Hunt 170.3–43–545–32–17.03; K. J. Willcock 215–55–737–39–18.89; R. M. Powlesland 47–8–196–10–19.60; A. J. Battersby 54–20–223–10–22.30.

PORTSMOUTH GRAMMAR SCHOOL

Played 15: Won 5, Lost 4. Drawn 6

Master i/c: G. D. Payne

Batting—C. J. Ward 13–2–548–79–49.81; *J. P. Osborne 15–0–511–68–34.06; A. M. Small 12–1–258–53–23.45; J. Gold 14–0–322–98–23.00; J. R. Compton 10–5–113–24*–22.60; D. K. Pickup 9–2–105–21*–15.00; S. Patel 13–2–164–23*–14.90.

Bowling—H. Rushin 122–28–334–22–15.18; J. R. Compton 121–33–326–21–15.52; S. Patel 59–16–195–10–19.50; J. R. N. Brooke 93.5–24–371–16–23.18; J. Herman 100–16–363–15–24.20; A. M. Small 57–7–281–10–28.10.

PRIOR PARK COLLEGE

Played 17: Won 4, Lost 5, Drawn 8

Master i/c: P. B. Fisher

Batting—J. Power 17-4-744-101*-57.23; *G. Lee 15-3-595-97-49.58; J. Smithers 14-4-265-49*-26.50; D. Gibney 17-1-236-61-14.75; J. Hemmings 14-2-133-25*-11.08.

Bowling—C. Moan 62.4–10–204–19–10.73; J. Smithers 193.3-57-530-36-14.72; G. Lee 237-62-722-35-20.62.

QUEEN ELIZABETH GRAMMAR SCHOOL, WAKEFIELD

Played 13: Won 3, Lost 1, Drawn 9, Abandoned 2

Master i/c: T. Barker

Batting—P. M. Dickinson 13-2-442-109-40.18; R. J. Ledger 12-0-311-74-25.91; J. Cross 13-4-188-100*-20.88; S. K. Mandal 11-0-125-21-11.36.

Bowling—R. J. Ledger 152.4-53-389-34-11.44; *R. K. Bhagobati 71.1-16-228-16-14.25; A. P. Clegg 92-23-259-16-16.18; S. K. Mandal 87.4-18-261-11-23.72.

QUEEN ELIZABETH'S HOSPITAL

Played 12: Won 5, Lost 3, Drawn 4

Master i/c: M. S. E. Broadley

Batting—N. O. McDowell 12–3–313–70–34.77; *D. N. Bennett 11–2–289–97–32.11; A. Hamid 11–0–248–69–22.54; J. A. E. Brown 10–2–108–29–13.50.

Bowling—N. O. McDowell 46.5–8–167–17–9.82; D. N. Bennett 82.1–16–235–16–14.68; A. Hamid 61.1–12–223–13–17.15; D. C. Taylor 133.3–23–445–22–20.22; W. M. Phelan 104–14–327–16–20.43.

QUEEN'S COLLEGE, TAUNTON

Played 14: Won 7, Lost 2, Drawn 5. Abandoned 1

Master i/c: J. W. Davies

Batting—N. J. Burke 10-4-465-103-77.50; R. Jones 7-2-216-56-43.20; J. Brown 11-4-283-62-40.42; M. Knight 12-2-305-70*-30.50; M. A. Gibson 11-2-267-46*-29.66; J. Tanner 11-2-225-55-25.00; W. Thresher 7-1-126-34-21.00.

Bowling—M. Bashforth 42.5–10–126–13–9.69; S. Holland 30–7–113–10–11.30; D. A. Williams 152.1–32–435–27–16.11; J. Tanner 84.4–15–302–15–20.13; M. Irish 141–40–381–17–22.41; M. Knight 99.2–15–331–14–23.64.

RADLEY COLLEGE

desirence of the Played 16: Won 5, Lost 1, Drawn 10. Abandoned 1

Master i/c: G. de W. Waller Cricket professionals: A. G. Robinson and A. R. Wagner

Batting—T. P. Robinson 11–0–418–119–38.00; P. L. Hollis 16–2–432–125*–30.85; T. J. Etridge 14–5–244–49*–27.11; J. T. A. Martin-Jenkins 11–2–231–55–25.66; N. O. Hunter 15–2–320–61–24.61; G. E. I. Culley 11–3–149–30–18.62; R. A. MacDowel 15–1–235–52–16.78; J. A. Arbib 11–4–103–20–14.71; *H. C. L. Sinclair 12–0–143–47–11.91.

Bowling—E. R. Cropley 57–17–132–10–13.20; J. A. Arbib 267–87–713–37–19.27; D. R. N. Ely 243–70–670–32–20.93; N. J. Walker 156–42–417–14–29.78.

allo A . M. M. clanoissolong to RATCLIFFE COLLEGE

Played 16: Won 4, Lost 1, Drawn 11

Master i/c: R. M. Hughes

Cricket professional: S. G. Peall

Batting—E. J. Meredith 14–6–380–75–47.50; C. P. Bagshaw 15–2–416–77*–32.00; S. M. Hilton 14–2–319–63–26.58; *P. G. Meredith 12–5–148–41*–21.14; A. R. Fernando 12–1–137–37–12.45.

Bowling—P. G. Meredith 188.4-40-622-31-20.06; C. P. Bagshaw 131.1-17-677-24-28.20; H. Flynn 123.3-14-443-15-29.53.

READING SCHOOL

Played 13: Won 1, Lost 6, Drawn 5, Tied 1. Abandoned 2

Master i/c: R. G. Owen

Batting—A. J. Cole 11–0–231–63–21.00; S. Gibson 10–3–137–83*–19.57; B. D. Hall 11–1–176–40–17.60; M. L. Dykes 12–0–203–36–16.91; A. C. Clouting 12–0–194–73–16.16; M. P. Bold 11–1–160–49–16.00.

Bowling—B. D. Hall 112.1-21-439-17-25.82; *C. J. Kays 98.4-8-414-11-37.63.

REED'S SCHOOL

Played 19: Won 7, Lost 6, Drawn 6

Master i/c: G. R. Martin

Batting—*C. M. Pole 13–3–342–69*–34.20; M. R. Neal-Smith 17–2–486–82*–32.40; D. J. Manton 5–0–158–81–31.60; P. F. Howgate 19–0–545–141–28.68; A. J. Newton 19–3–423–58*–26.43; M. C. Fradgley 17–3–334–100*–23.85; A. M. Grell 11–1–107–33*–10.70.

Bowling—M. R. Neal-Smith 163.1–18–621–31–20.03; C. M. Pole 227.2–46–648–32–20.25; D. S. Faulkner 181.4–48–589–27–21.81; D. P. Andronicou 104.5–19–412–17–24.23.

REIGATE GRAMMAR SCHOOL

Played 25: Won 5, Lost 9, Drawn 11

Master i/c: D. C. R. Jones

Cricket professional: H. Newton

Batting—S. J. Hygate 25–0–873–136–34.92; A. J. Dewson 25–1–680–102–28.33; M. K. Hynard 17–1–392–110–24.50; *J. R. Munday 23–2–449–75*–21.38; N. J. Chapman 23–4–368–63*–19.36; C. B. Amos 20–7–193–49–14.84; M. C. Pritchard 16–2–197–90*–14.07.

Bowling—N. J. Chapman 274.1–43–949–43–22.06; R. J. Hathaway 151–24–696–28–24.85; C. B. Amos 298–51–984–38–25.89.

RENDCOMB COLLEGE

Played 16: Won 4, Lost 3, Drawn 9

Master i/c: C. Burden

Cricket professional: D. Essenhigh

Batting—R. Milner 16-4-601-77*-50.08; J. Carroll 16-3-612-93*-47.07; N. Smith 5-1-155-49*-38.75; A. Jones 12-4-221-56*-27.62; P. Grimsdale 8-3-102-43*-20.40; K. Holmes 14-2-149-45*-12.41; M. Head 15-0-156-38-10.40.

Bowling—R. Hughes 93.3–24–225–19–11.84; A. Jones 169.2–67–371–30–12.36; W. King 63–15–195–15–13.00; R. Milner 112–31–263–19–13.84; J. Carroll 129–32–246–16–15.37.

REPTON SCHOOL

Played 17: Won 5, Lost 1, Drawn 11. Abandoned 3

Master i/c: M. Stones

Cricket professional: M. K. Kettle

Batting—A. R. Paulett 14–1–505–105*–38.84; M. D. Murray 15–1–416–91–29.71; E. J. Spencer 8–3–120–36*–24.00; G. E. Shipley 5–0–110–44–22.00; D. R. Hand 8–0–107–45–13.37; M. D. Robinson 14–1–173–52*–13.30; N. J. W. Campion 13–1–149–37–12.41; P. G. Hewstone 12–2–113–33–11.30.

Bowling—*J. M. Windsor 161-44-411-30-13.70; E. G. Prince 51-15-160-10-16.00; N. J. W. Campion 139-22-465-26-17.88; D. R. Hand 115-30-346-15-23.06; D. A. Bacon 196-37-601-22-27.31.

RICHARD HUISH COLLEGE, TAUNTON

Played 18: Won 13, Lost 2, Drawn 3

Master i/c: W. J. Maidlow

Batting—Kevin Parsons 12–2–886–107–88.60; *Keith Parsons 14–4-449–86–44.90; S. Pimm 5–2–129–60*–43.00; B. Collins 15–1–452–111–32.28; A. Coupe 13–2–335–72*–30.45; D. Pearcey 10–4–164–58*–27.33; R. Warr 9–3–138–39*–23.00.

Bowling—Keith Parsons 67-14-241-19-12.68; P. Dimond 75.1-6-323-20-16.15; K. Moyse 102-24-252-15-16.80; B. Collins 72.3-5-321-19-16.89; N. Hammacott 96.3-18-296-17-17.41; S. Nelson 72.4-9-299-11-27.18.

ROSSALL SCHOOL

Played 17: Won 8, Lost 1, Drawn 8, Abandoned 2

Master i/c: R. J. Clapp

Batting—S. D. Holmes 12–5–234–36*–33.42; *N. H. Crust 16–2–433–67–30.92; C. A. Mawdsley 8–1–191–73–27.28; S. N. Fretwell 15–1–367–65–26.21; J. Elliott 17–1–377–100–23.56; J. R. Newbold 10–3–125–34–17.85; T. M. Higson 12–3–130–43–14.44; H. M. Parr 14–2–169–33–14.08.

Bowling—J. D. Mathers 54–13–147–13–11.30; N. H. Crust 90–20–301–20–15.05; S. D. Holmes 186–36–563–29–19.41; H. M. Parr 166–39–491–20–24.55; D. M. Gough 101–29–295–12–24.58.

ROYAL GRAMMAR SCHOOL, GUILDFORD

Played 17: Won 8, Lost 5, Drawn 4

Master i/c: S. B. R. Shore

Batting—*B. C. Ray 16-3-673-141-51.76; N. Kent 16-2-500-71-35.71; J. Wydenbach 13-4-223-83-24.77; D. Riddell 15-0-276-49-18.40; S. Eggleston 14-2-181-49-15.08; A. Thomson 11-3-114-39-14.25; R. Gilbert 12-1-109-50-9.90.

Bowling—A. Thomson 249.1–52–776–48–16.16; A. Barlow 74–12–265–12–22.08; B. C. Ray 158.5–44–392–16–24.50.

ROYAL GRAMMAR SCHOOL, NEWCASTLE

Played 14: Won 6, Lost 1, Drawn 7

Master i/c: D. W. Smith

Batting—L. J. Crozier 14–3–639–100*–58.09; *R. S. Papps 13–1–458–118–38.16; J. C. Hammill 10-3-168-45*-24.00; J. D. V. Ryan 13-3-153-23*-15.30; N. R. Gandy 7-0-102-41-14.57.

Bowling—J. D. V. Ryan 164.3–56–385–28–13.75; L. J. Crozier 161.4–50–418–25–16.72; T. J. Wright 151.5–34–421–18–23.38.

ROYAL GRAMMAR SCHOOL, WORCESTER

Played 28: Won 13, Lost 4, Drawn 11

Master i/c: B. M. Rees

Cricket professional: M. J. Horton

Batting—C. J. Eyers 24–5–932–93*–49.05; D. M. Walker 26–5–994–130*–47.33; A. V. Powell 25–1–948–113*–39.50; *M. J. N. Taylor 25–8–615–67–36.17; S. D. C. Haynes 10–2–182–81–22.75; D. B. Berry 8–2–136–49–22.66; M. V. Williams 15–6–150–43–16.66; G. Pilgrim 14–3–159–43*–14.45.

Bowling—A. D. Baker 133.3–30–362–25–14.48; C. J. Eyers 280.3–55–773–51–15.15; N. P. Haddock 336.4–89–998–58–17.20; M. W. Williams 145–36–475–21–22.61.

RUGBY SCHOOL

Played 15: Won 1, Lost 2, Drawn 12

Master i/c: K. Siviter

Cricket professional: W. J. Stewart

Batting—A. Alexander 4–1–108–64*–36.00; W. Glazebrook 13–4–308–80*–34.22; M. Semmens 14–2–385–68–32.08; P. Carter 15–0–414–82–27.60; *S. P. Corkhill 15–1–386–71–27.57; F. Fitch 11–6–109–19–21.80; N. Joseph 10–1–190–53–21.11.

Bowling—W. Glazebrook 216-65-568-38-14.94; N. Joseph 70-17-211-11-19.18; M. Semmens 158.2-45-524-27-19.40.

RYDAL SCHOOL

Played 13: Won 0, Lost 5, Drawn 8

Master i/c: M. T. Leach

Cricket professional: R. Pitman

Batting—S. M. Ashley 10-1-176-48-19.55; J. C. Davies 12-1-182-40-16.54.

Bowling-M. G. MacDonald 153.4-36-362-27-13.40; S. M. Ashley 67-14-197-11-17.90; *P. J. Acheson 87-7-391-16-24.43; A. J. Jamil 154-44-432-14-30.85.

ST ALBANS SCHOOL

Played 19: Won 5, Lost 6, Drawn 8

Master i/c: I. Jordan

Batting—H. Cornwell 16-6-649-104*-64.90; *B. LeFleming 15-4-365-58*-33.18; H. Sherman 12-4-212-57-26.50; T. Mote 15-3-310-48-25.83; J. Hobson 13-1-272-50-22.66; Julian Baines 12-3-202-88*-22.44; John Baines 10-4-110-20-18.33.

Bowling-H. Sherman 145-24-614-37-16.59; Julian Baines 72-10-238-14-17.00; B. LeFleming 163-37-519-23-22.56.

ST BEES SCHOOL

Played 14: Won 4, Lost 3, Drawn 7. Abandoned 1

Master i/c: P. M. Evans

Batting-P. Hoffman 13-4-276-69-30.66; P. Mawson 14-3-332-52*-30.18; A. Mawson 14-1-387-107*-29.76; D. Ng 14-2-295-54*-24.58; M. Birkett 13-1-206-55-17.16; L. Norman 12-4-128-44-16.00.

Bowling-P. Mawson 140.3-39-319-24-13.29; A. Mawson 88.3-10-336-19-17.68; D. Ng 171-51-445-25-17.80; D. Spires 53.1-9-184-10-18.40; G. Gainford 81-10-259-12-21.58; M. Richardson 97-32-267-10-26.70.

ST EDMUND'S SCHOOL, CANTERBURY

Played 11: Won 5, Lost 5, Drawn 1. Abandoned 1

Master i/c: D. E. Knight

Batting-*A. Hajilou 11-2-423-117*-47.00; C. Bainbridge 10-0-133-44-13.30; A. Gompertz 9-1-100-26-12.50; J. Hutchings 10-0-109-32-10.90.

Bowling—C. R. M. Whittington 122.2-30-379-23-16.47; A. Hajilou 104-23-351-17-20.64; L. Wilkinson 63.2-10-289-10-28.90.

ST EDWARD'S SCHOOL, OXFORD

Played 14: Won 2, Lost 9, Drawn 3. Abandoned 1

Master i/c: M. D. Peregrine Cricket professional: G. Fitness

Batting—H. Varney 13-0-430-86-33.07; *D. E. C. Wethey 13-0-197-48-15.15; A. M. B. Goodwin 12-0-181-64-15.08; C. M. Pitcher 14-0-197-52-14.07; P. L. Burtt 10-0-136-59-13.60; T. W. T. Stanley 14-1-148-31*-11.38; A. J. Stewart 14-1-137-21*-10.53.

Bowling—C. M. Pitcher 187.3-40-452-28-16.14; L. Siriwardene 191.2-37-669-18-37.16; D. E. C. Wethey 107-19-395-10-39.50.

ST GEORGE'S COLLEGE, WEYBRIDGE

Played 18: Won 2, Lost 7, Drawn 9

Master i/c: B. V. O'Gorman

Batting-S. Marsh 18-1-871-182-51.23; M. D. Miller 17-0-558-91-32.82; M. Boulton 15-5-308-74*-30.80; M. Church 13-0-363-76-27.92; C. Segal 18-1-464-67-27.29; D. Crowley 12-4-128-26-16.00; P. Curtin 16-3-191-63-14.69; R. Hirst 16-1-197-45-13.13.

Bowling-M. D. Miller 142-35-413-15-27.53; P. Crisell 233-63-628-22-28.54; J. Peters 104-9-519-18-28.83; R. Hirst 262-52-901-31-29.06; D. Gurivey 223-42-683-23-29.69.

ST JOSEPH'S COLLEGE, IPSWICH

Played 20: Won 8, Lost 5, Drawn 7. Abandoned 1

Master i/c: A. C. Rutherford Cricket professional: J. Pugh

Batting-J. McLoughlin 19-4-682-98*-45.46; P. Landen 17-1-447-63-27.93; A. Cole 18-2-380-62-23.75; D. White 11-3-165-60*-20.62; R. Farrow 16-2-205-51*-14.64; *S. McGrath 13-3-145-32-14.50; M. McDonough 14-3-145-51*-13.18; D. Ladbrook 14-2-138-41-11.50.

Bowling—A. Cole 204.5-40-594-32-18.56; J. King 68.4-12-262-14-18.71; D. Dellamaestra 196.1-48-549-26-21.11; J. McLoughlin 202.3-41-711-33-21.54; R. Ledwidge 138.1-24-523-19-27.52.

ST LAWRENCE COLLEGE, RAMSGATE

Played 13: Won 3, Lost 5, Drawn 5. Abandoned 3

Master i/c: N. O. S. Jones Cricket professionals: L. A. C. D'Arcy and A. P. E. Knott

Batting—O. G. Morris 13-0-489-96-37.61: D. J. Gear 13-3-218-50*-21.80: G. Turner 13-0-265-68-20.38; W. A. Taylaur 13-0-208-68-16.00; *B. T. Everett 13-0-173-33-13.30; O. D. Olakanpo 11-0-123-38-11.18.

Bowling-O. G. Morris 129.2-34-333-27-12.33; G. Turner 164-41-410-29-14.13.

ST PAUL'S SCHOOL

Played 14: Won 6, Lost 2, Drawn 6, Abandoned 2

Master i/c: G. Hughes

Cricket professional: E. W. Whitfield

Batting-T. J. Taberner 13-4-428-101*-47.55; *B. R. Taberner 8-1-290-130*-41.42; S. Patel 14-3-437-85*-39.72; J. E. Gordon-Smith 7-2-156-34-31.20; S. D. S. Kaikini 10-1-247-59-27.44; P. A. Shapiro 12-3-206-69*-22.88; J. M. H. Weldon 8-2-134-34*-22.33; S. B. Clarke 9-2-108-31-15.42; J. O. Morris 13-1-166-57-13.83.

Bowling-S. D. S. Kaikini 143.9-23-459-25-18.36; S. B. Clarke 184.3-41-555-25-22.20; C. G. O. Burton 85-15-329-12-27.41.

ST PETER'S SCHOOL, YORK

Played 18: Won 2, Lost 7, Drawn 9. Abandoned 2

Master i/c: D. Kirby

Cricket professional: K. F. Mohan

Batting—C. H. Metcalfe 9-0-262-83-29.11; M. P. Forrester 16-1-365-79*-24.33; J. D. Rigby 17-1-389-102*-24.31; P. F. Carvosso 16-2-316-65-22.57; G. J. Harding 12-1-195-38-17.72; R. N. Twigg 12-2-174-89-17.40; M. J. Davies 16-3-199-41-15.30.

Bowling-M. P. Forrester 127.2-22-449-23-19.52; A. G. G. Smith 77.4-11-286-13-22.00; R. N. Twigg 143-29-519-18-28.83; D. Bundy 100.2-14-470-15-31.33.

SEDBERGH SCHOOL

Played 13: Won 2, Lost 5, Drawn 6

Master i/c: A. W. McPhail

Batting—D. J. Player 14-1-357-68-27.46; A. F. M. Metcalfe 12-1-271-75*-24.63; P. M. Birkbeck 12-0-248-54-20.66; M. Manson 10-2-159-43-19.87; *W. J. H. Greenwood 12-1-208-51-18.90; D. W. Hudson 10-2-151-86*-18.87; R. C. F. Smailes 14-0-166-32-11.85.

Bowling—W. J. H. Greenwood 169–55–403–29–13.89; M. S. Wrigley 92–21–324–18–18.00; D. J. Player 222.4–63–600–31–19.35.

Note: The Sedbergh averages for 1989 may be found on page 966.

SEVENOAKS SCHOOL

Played 16: Won 2, Lost 1, Drawn 13. Abandoned 2

Master i/c: I. J. B. Walker

Batting—*Omar Iqbal 15–2–825–134*–63.46; L. W. Neil-Dwyer 14–6–476–100*–59.50; Hesham Iqbal 3–1–117–117*–58.50; T. R. Payton 12–3–251–64–27.88; B. C. Milligan 8–2–139–36–23.16; J. D. M. Brearley 13–2–209–72–19.00; J. N. Thomson 15–0–282–62–18.80.

Bowling—J. J. S. Lane 90–16–257–13–19.76; C. J. Peters 107–20–367–14–26.21; T. R. Payton 206–48–638–21–30.38.

SHERBORNE SCHOOL

Played 15: Won 12, Lost 0, Drawn 3

Master i/c: G. C. Allen

Cricket professionals: A. Willows and C. Stone

Batting—A. J. Rutherford 7-4-132-43*-44.00; W. F. F. Hughes 6-2-148-64-37.00; M. W. D. Ford 15-1-473-80*-33.78; J. R. Tweedale 15-2-439-70*-33.76; E. J. Sangster 10-6-134-31-33.50; J. L. Pexton 14-2-313-48*-26.08; *B. D. Atwell 15-1-351-67-25.07; R. J. Preston 13-3-176-45-17.60; S. C. G. Watling 9-0-114-27-12.66.

Bowling—A. J. Rutherford 62.2–18–132–16–8.25; S. W. Stevens 329–94–795–55–14.45; R. H. F. Pugsley 148.2–42–342–22–15.54; M. W. D. Ford 138.3–35–342–19–18.00; J. L. Pexton 158–30–456–17–26.82.

SHIPLAKE COLLEGE

Played 15: Won 8, Lost 2, Drawn 5

Master i/c: P. M. Davey

Cricket professional: M. J. Hobbs

Batting—A. J. Hall 14-3-401-145*-36.45; C. P. J. Abbiss 13-0-326-56-25.07; A. S. Kidd 10-2-194-63-24.25; R. H. Wilson 8-3-106-34*-21.20; A. E. Rouse 10-1-165-42*-18.33; G. M. Carradine 12-0-198-44-16.50.

Bowling—A. J. Hall 230.4–73–560–56–10.00; P. C. Lefort 60–10–219–12–18.25; G. W. Philp 152–47–338–18–18.77; C. P. J. Abbiss 81–13–274–13–21.07.

SHREWSBURY SCHOOL

Played 18: Won 4, Lost 4, Drawn 10

Master i/c: S. M. Holroyd Cricket professionals: A. P. Pridgeon and P. H. Bromley

Batting—B. R. Parfitt 7-4-125-62*-41.66; D. J. Bowett 16-2-523-139*-37.35; S. J. Clarke 18-4-516-63*-36.85; W. A. Hughes 17-2-341-72-22.73; J. J. Clark 16-0-328-84-20.50; A. D. Browne 18-0-286-55-15.88; R. F. Wycherley 18-0-256-32-14.22; P. W. Trimby 15-5-107-24-10.70.

Bowling—D. J. Bowett 208.7–42–455–34–13.38; D. J. Watson 63.5–13–159–11–14.45; P. W. Trimby 246–39–771–37–20.83; I. K. Mainwaring 169.1–26–580–20–29.00; T. C. Corfield 94.3–8–381–12–31.75; R. J. Hanson 141.4–9–543–10–54.30.

SIMON LANGTON GRAMMAR SCHOOL

Played 11: Won 6, Lost 5, Drawn 0

Master i/c: A. Raines

Batting—N. Jones 8-2-339-123*-56.50; J. Kember 4-1-149-69*-49.66; P. Livesey 9-0-171-40-19.00; D. Isard 9-2-117-31*-16.71; P. Maxwell 9-0-112-33-12.44.

Bowling—N. Bielby 45.1–15–161–17–9.47; R. Moulton 75.3–14–232–21–11.04; *R. Stevens 40–11–152–10–15.20; D. Clark 67.5–18–185–10–18.50.

SOLIHULL SCHOOL

Played 17: Won 6, Lost 1, Drawn 10

Master i/c: M. R. Brough

Cricket professional: S. P. Perryman

Batting—*J. M. A. Inglis 13–5–780–135*–97.50; R. A. Kallicharran 12–3–411–79*–45.66; R. A. Chapman 9–3–253–53*–42.16; S. R. Fell 13–5–204–59–25.50; K. A. Mortimer 13–0–326–68–25.07; M. J. Ketland-Jones 7–1–113–34–18.83; M. A. Jones 10–0–132–27–13.20; P. S. Amiss 13–0–106–21–8.15.

Bowling—J. M. A. Inglis 112.1–18–356–31–11.48; R. A. Kallicharran 88.5–10–378–17–22.23; J. E. Vertigen 116.1–20–438–18–24.33; M. C. Cattell 99.2–9–509–18–28.27; S. M. Franklin 92–16–416–13–32.00.

STAMFORD SCHOOL

Played 15: Won 1, Lost 6, Drawn 8

Master i/c: P. D. McKeown

Batting—S. Holland 13–0–407–73–31.30; *N. L. Boyd 14–2–321–48–26.75; R. E. Grundy 10–1–234–65–26.00; P. Banbury 14–0–317–68–22.64; D. G. Bartle 10–4–125–40–20.83; D. P. M. Herrick 10–4–101–28–16.83; D. M. Palmer 14–0–180–58–12.85.

Bowling—N. L. Boyd 210–39–832–30–27.73; A. Hale 82–9–386–12–32.16; D. P. M. Herrick 70–6–360–11–32.72.

STOWE SCHOOL

Played 17: Won 5, Lost 6, Drawn 6. Abandoned 1

Master i/c: G. A. Cottrell

Cricket professional: M. J. Harris

Batting—A. J. Scott-Gall 16-5-409-56-37.18; M. W. Pumfrey 17-1-460-81-28.75; M. J. T. Jefferson 15-3-298-56-24.83; R. J. O. Green 17-0-384-74-22.58; D. E. Hyman 12-0-178-50-14.83; T. H. P. Russell 13-1-134-57-11.16.

Bowling—M. J. T. Jefferson 192-44-551-26-21.19; J. M. de la Pena 213.3-25-725-33-21.96; J. G. Raynor 159.5-33-508-21-24.19; J. C. J. Burrough 180-40-625-21-29.76.

STRATHALLAN SCHOOL

Played 15: Won 6, Lost 6, Drawn 3. Abandoned 1

Master i/c: R. J. W. Proctor

Batting—K. L. Salters 12–3–254–56–28.22; T. S. T. Walker 9–2–159–57*–22.71; H. M. Lochore 10–1–143–67–15.88; *D. G. Thorburn 12–2–153–51–15.30; H. A. D. McKenzie-Wilson 11–3–110–50–13.75; M. G. Vance 13–2–140–39*–12.72; H. A. D. Blanche 10–0–127–48–12.70.

Bowling—K. L. Salters 143.2–35–401–33–12.15; H. A. D. McKenzie-Wilson 206.3–54–488–36–13.55; J. D'Ath 64–12–217–16–13.56; M. R. Tench 137.5–29–435–23–18.91

SUTTON VALENCE SCHOOL

Played 18: Won 7, Lost 0, Drawn 11

Master i/c: D. Pickard

Batting-*J. F. Barr 17-5-805-142-67.08; J. Page 18-5-584-79-44.92; A. D. Barr 6-2-179-46-44.75; J. Cowell 15-1-445-74-31.78.

Bowling-Y. S. Patel 101-19-265-17-15.58; J. F. Barr 215-80-599-38-15.76; J. Page 143-43-378-21-18.00; J. Cowell 180-39-568-30-18.93.

TAUNTON SCHOOL

Played 16: Won 7, Lost 3, Drawn 5, Tied 1. Abandoned 1

Master i/c: D. Baty

Cricket professional: A. Kennedy

Batting-P. Tarr 15-3-561-118*-46.75; G. Crompton 15-3-477-74-39.75; K. Sedgbeer 10-3-266-85-38.00; A. Snow 9-3-209-53*-34.83; N. Smith 15-4-308-50*-28.00; B. Wellington 14-0-280-52-20.00; B. Craddock 15-0-279-60-18.60.

Bowling-E. Little 144-39-442-23-19.21; B. Wellington 207.3-60-559-27-20.70; *J. Hales 211-76-488-23-21.21; T. Joy 76-12-293-12-24.41.

TIFFIN SCHOOL

Played 20: Won 6, Lost 3, Drawn 11. Abandoned 1

Master i/c: M. J. Williams

Batting-G. J. Kennis 19-5-1,008-128*-72.00; *R. D. Nash 14-1-819-137-63.00; T. M. Phillips 15-3-351-86*-29.25; B. J. Walters 16-1-394-64-26.26; M. D. McPherson 14-2-271-43-22.58; N. G. Hodgson 13-5-171-41-21.37; A. P. Currie 16-3-217-42-16.69; S. R. A. Leeds 10-2-115-33*-14.37.

Bowling-B. J. Walters 318.5-129-770-41-18.78; R. D. Nash 80.4-17-323-14-23.07; T. M. Phillips 172.3-24-712-27-26.37; G. J. Kennis 167.4-38-553-19-29.10; S. R. A. Leeds 163.4-31-610-20-30.50.

TONBRIDGE SCHOOL

Played 16: Won 5, Lost 5, Drawn 6. Abandoned 1

Master i/c: G. E. Wynne Cricket professional: Syed Altaf Hossain

Batting-S. J. Doel 17-0-644-92-37.88; S. J. Jobber 16-3-421-52*-32.38; *J. F. S. Rowland 17-1-431-69-26.93; D. L. Gilbert 11-6-133-49*-26.60; M. O. Church 6-1-125-88-25.00; W. R. Tomkins 16-2-316-38*-22.57; P. E. M. Le Marchand 7-0-152-65-21.71; C. S. Madderson 12-0-253-67-21.08; T. R. Crabtree 16-2-276-78-19.71; R. L. Brewster 12-2-136-37*-13.60; R. J. Arthur 12-2-109-27*-10.90.

Bowling-R. P. Ziegler 153-30-542-32-16.93; D. L. Gilbert 210-52-615-32-19.21; W. R. Tomkins 63-14-310-14-22.14; R. L. Brewster 167-32-548-23-23.82; R. J. Arthur 188-33-614-22-27.90.

TRENT COLLEGE

Played 15: Won 1, Lost 3, Drawn 11. Abandoned 4

Master i/c: Dr T. P. Woods Cricket professional: L. Spendlove

Batting—T. A. Ellis 17–1–683–111–42.68; C. M. Winterbottom 13–5–223–104*–27.87; *A. W. Bocking 18–3–349–91–23.26; J. Pavis 14–0–280–57–20.00; J. D. Pratt 15–3–237–45–19.75; N. D. Johnson 13–6–136–47*–19.42; A. J. Vaughan 13-2-201-72*-18.27; M. A. Walker 11-3-138-50*-17.25; M. T. White 13-3-150-30-15.00.

Bowling—N. D. Johnson 186.3-56-437-31-14.09; M. T. White 207-52-604-32-18.87; A. W. Bocking 152.3-46-403-20-20.15; C. M. Winterbottom 126-35-349-10-34.90.

TRINITY SCHOOL

Played 21: Won 11, Lost 2, Drawn 8. Abandoned 1

Masters i/c: B. Widger and I. W. Cheyne

Batting—S. S. Prabhu 20-2-758-101-42.11; R. W. Nowell 14-1-500-88*-38.46; D. O. Dyer 7-1-177-60*-29.50; C. M. Brown 6-1-139-56-27.80; C. H. Maiden 20-0-514-84-25.70; A. Abbot 19-0-455-68-23.94; A. J. Codling 13-3-230-83*-23.00; P. B. Wren 18-6-194-49-16.16; P. S. Kember 16-4-183-43-15.25; M. D. C. Butterworth 15-8-102-51-14.57.

Bowling-R. W. Nowell 224.4-59-602-39-15.43; P. S. Kember 204.3-37-707-45-15.71; S. S. Prabhu 66.5-8-238-10-23.80; M. D. C. Butterworth 161.2-33-504-21-24.00; P. B. Wren 123.1-24-408-10-40.80.

TRURO SCHOOL STREET M. STREET M. STREET

Played 12: Won 4, Lost 6, Drawn 2

Master i/c: D. M. Phillips

Batting-T. R. Perkins 12-2-201-38-20.10; *A. Symons 11-0-214-92-19.45; M. R. Thomas 12-0-218-44-18.16; D. P. Griffiths 12-0-175-42-14.58.

Bowling—A. Symons 66.3-16-166-20-8.30; M. R. Thomas 77.1-16-246-24-10.25; R. N. Peters 62-19-173-16-10.81; T. R. Perkins 101.1-20-304-20-15.20.

UNIVERSITY COLLEGE SCHOOL

Played 14: Won 1, Lost 9, Drawn 4

Master i/c: S. M. Bloomfield

Cricket professional: W. G. Jones

Batting-R. J. Ayre 15-3-649-133*-54.08; A. M. Stewart 14-1-529-108*-40.69; S. K. Cattermole 14-1-402-87-30.92; *K. J. Schofield 15-1-304-57-21.71.

Bowling—S. K. Cattermole 236.1-52-562-25-22.48; D. S. Quint 180.4-42-490-20-24.50; K. J. Schofield 218.2-50-759-22-34.50.

WARWICK SCHOOL

Played 15: Won 6, Lost 2, Drawn 7. Abandoned 1

Master i/c: D. C. Elstone

Batting—C. Mulraine 12-1-486-124*-44.18; S. Ensall 14-4-401-68*-40.10; D. Dalton 15-0-432-67-28.80; J. Wilsdon 12-4-213-37-26.62; *G. Rawstorne 16-3-331-57-25.46; T. McCann 15-1-303-70-21.64; C. Harcourt 10-2-115-36-14.37.

Bowling-S. Webb 138.3-30-444-25-17.76; J. Wilsdon 80-14-267-11-24.27; J. Ward 185-33-714-26-27.46; M. Covington 123-16-486-17-28.58.

WELLINGBOROUGH SCHOOL

Played 19: Won 7, Lost 0, Drawn 12. Abandoned 2

Master i/c: M. H. Askham Cricket professional: J. C. J. Dye

Batting—*J. M. Attfield 19-6-1,116-120*-85.84; N. J. Haste 14-6-441-87*-55.12; S. McMillan 19-3-730-92-45.62; S. Swaroop 12-5-232-83-33.14; R. D. Mann 19-2-532-74-31.29; M. J. Haste 8-3-104-31*-20.80.

Bowling—N. J. Haste 246.4-43-819-39-21.00; R. I. T. Matheson 93.5-21-408-18-22.66; J. M. Attfield 131-22-449-18-24.94; D. W. Hallworth 146-34-470-16-29.37; P. J. Dolman 120-11-612-14-43.71.

WELLINGTON COLLEGE

Played 17: Won 5, Lost 5, Drawn 7. Abandoned 1

Masters i/c: C. M. St G. Potter and R. I. H. B. Dyer Cricket professional: P. J. Lewington

Batting—R. de V. Butland 16-6-498-71-49.80; A. E. Newman 20-1-726-81-38.21; T. N. Sawrey-Cookson 20-1-696-106*-36.63; J. A. D. Wyke 20-2-474-80-26.33; D. P. Bailey 12-6-148-30-24.66; *A. P. D. Wyke 18-3-368-49-24.53; W. P. G. Waugh 7-2-110-46-22.00; A. P. M. Samuel 9-2-107-30-15.28.

Bowling—A. P. D. Wyke 217–33–720–35–20.57; S. Goldsworthy 87.5–13–382–15–25.46; J. W. Maunder-Taylor 83–16–266–10–26.60; A. P. M. Samuel 163–24–510–17–30.00.

WELLINGTON SCHOOL

Played 16: Won 7, Lost 2, Drawn 7

Master i/c: P. M. Pearce

Batting—R. Fisher 15–2–488–91–37.53; *S. Palmer 14–3–305–57–27.72; G. Wolfendon 16–1–354–50–23.60; N. Hutchings 7–2–106–34–21.20; J. Postlethwaite 15–4–195–51–17.72; T. Hughes 8–1–117–36–16.71; D. Hine 15–1–197–47–14.07; B. Kelly 12–0–139–24–11.58.

Bowling—T. Hughes 151.5-34-524-36-14.55; S. Palmer 102-12-392-26-15.07; D. Hine 31.4-3-221-13-17.00; N. Hutchings 162-31-528-26-20.30.

WESTMINSTER SCHOOL

Played 13: Won 4, Lost 4, Drawn 5

Master i/c: D. Cook

Cricket professional: R. Gilson

Batting—A. Worthington 9–0-488-92-54.22; C. Luke 11–0-210-52-19.09; T. Hyam 12–0-204-60-17.00; S. Goulden 11–0-179-31-16.27; P. Campbell 8–0-110-34-13.75.

Bowling—C. Ash 126-36-452-27-16.74; T. Hyam 44-16-177-10-17.70; D. Owen 55-20-218-10-21.80; L. Gillam 77-19-277-12-23.08.

WHITGIFT SCHOOL

Played 20: Won 7, Lost 3, Drawn 10

Master i/c: P. C. Fladgate

Batting—J. D. G. Ufton 21–6–817–123*–54.46; R. Shah 21–1–629–163*–31.45; P. M. Horne 20–2–481–101*–26.72; R. W. Milligan 9–3–157–51–26.16; J. S. Harford 17–3–338–61–24.14; R. S. Gibson 9–2–102–33–14.57; *A. R. Biswas 20–1–252–68–13.26; R. J. Targett 12–2–132–44–13.20; P. J. Brown 13–2–134–23*–12.18.

Bowling—S. N. Jackson 54–11–164–12–13.66; A. T. Lark 107–29–308–20–15.40; J. D. G. Ufton 116-25-332-18-18.44; T. J. Colbourn 189.4-26-603-32-18.84; R. J. Targett 240.3-50-728-36-20.22; J. S. Harford 134.2-25-437-21-20.80; R. S. Gibson 169-31-521-14-37.21.

WILLIAM HULME'S GRAMMAR SCHOOL

Played 21: Won 5, Lost 8, Drawn 8. Abandoned 2

Master i/c: I. J. Shaw

Cricket professional: B. Wood

Batting—N. T. Wood 11-1-380-106-38.00; A. K. Hollingworth 18-2-458-91-28.62; P. D. Warren 17-1-440-109*-27.50; *A. S. Partington 15-1-256-48-18.28; I. A. Brassell 10-2-146-56-18.25; L. E. Tilston 17-1-274-98-17.12; J. P. Abrahams 14-2-178-51-14.83; M. Ekstein 11-1-109-27-10.90.

Bowling—N. T. Wood 39.3–10–111–10–11.10; L. E. Tilston 101–25–267–17–15.70; A. A. Khan 64.4–7–201–12–16.75; A. J. Edwards 106–17–394–22–17.90; A. K. Hollingworth 145.4–30–441–24–18.37; A. R. Ladd 91.2–19–321–15–21.40; A. S. Partington 98–26–260–11–23.63.

WINCHESTER COLLEGE

Played 19: Won 6, Lost 5, Drawn 8. Abandoned 1

Master i/c: P. J. Metcalfe

Cricket professional: K. N. Foyle

Batting—C. E. van der Noot $12-1-478-136^*-43.45$; J. C. Guise $9-4-169-66^*-33.80$; J. M. Collier $14-4-335-114^*-33.50$; *R. J. Turnill $20-4-513-87^*-32.06$; W. F. Poole-Wilson 19-0-497-80-26.15; A. W. Maclay $11-4-181-37^*-25.85$; R. Field $14-5-192-33^*-21.33$; S. J. Beloe $13-1-245-67^*-20.41$; A. R. Hobson 13-0-188-89-14.46; A. P. McKenna $17-3-160-43^*-11.42$.

Bowling—R. Field 208-31-738-32-23.06; A. W. Maclay 267-51-844-36-23.44; A. B. Donald 207-33-799-28-28.53; A. P. McKenna 158-19-614-20-30.70.

WOODBRIDGE SCHOOL

Played 13: Won 2, Lost 6, Drawn 5

Master i/c: P. Kesterton

Batting—*B. K. Sindell 12-1-452-109-41.09; N. Waller 9-3-169-50*-28.16; H. P. Turbervill 13-1-272-61-22.66; M. Vipond 12-0-175-32-14.58.

Bowling—H. P. Turbervill 69–13–249–13–19.15; J. M. Percival 107.1–20–361–17–21.23; M. Bettell 109–37–286–12–23.83; N. S. Pagan 137.5–29–422–13–32.46.

WOODHOUSE GROVE SCHOOL

Played 14: Won 4, Lost 2, Drawn 8. Abandoned 2

Master i/c: E. R. Howard

Cricket professional: D. M. Stranger

Batting—J. C. M. Dobbs 8-5-173-53*-57.66; S. N. Lee 12-6-252-59-42.00; *D. M. Lawson 9-1-225-96-28.12; C. J. Rika 11-1-269-47*-26.90; R. D. Webster 12-1-269-75-24.45; J. A. Lockwood 8-1-133-69-19.00.

Bowling—S. N. Lee 107.5-22-366-30-12.20; R. D. Webster 128.4-35-360-21-17.14; C. J. Rika 110-23-330-17-19.41.

WORKSOP COLLEGE

Played 15: Won 3, Lost 2, Drawn 10. Abandoned 2

Master i/c: B. Wilks

Cricket professional: A. Kettleborough

Batting—*J. D. Goode 14-5-485-107*-53.88; R. A. Kettleborough 9-2-356-100*-50.85; C. J. Walker 14-1-489-107-37.61; J. C. Beardsley 11-2-300-74-33.33; M. L. Morewood 6-2-107-31-26.75; M. A. Hawley 10-4-136-56-22.66; P. W. Milton 11-1-122-32*-12.20.

Bowling—J. D. Goode 115-25-350-20-17.50; J. C. Beardsley 106-21-332-18-18.44; M. L. Morewood 165-38-481-22-21.86; M. A. Hawley 122-15-436-13-33.53.

WREKIN COLLEGE

Played 18: Won 5, Lost 9, Drawn 4. Abandoned 1

Master i/c: T. J. Murphy

Batting—M. R. Savage 19–2–402–91–23.64; C. J. Davies 17–3–266–53*–19.00; J. Taylor 18–2–293–62–18.31; B. Cox 11–3–132–29–16.50; J. D. King 16–0–205–37–12.81; J. A. Brassington 12–1–132–43–12.00; *M. R. Prince 15–2–122–50*–9.38; S. R. D. H. Lander 14–1–121–28*–9.30; A. J. Holloway 14–0–114–28–8.14.

Bowling—C. J. Davies 35–1–132–10–13.20; A. J. Holloway 164–30–482–36–13.38; S. R. Phillips-Broadhurst 148–23–494–31–15.93; M. R. Prince 70–11–285–15–19.00; S. R. D. H. Lander 149–28–476–19–25.05.

WYCLIFFE COLLEGE

Played 18: Won 2, Lost 6, Drawn 10

Master i/c: P. Woolley

Cricket professional: K. Biddulph

Batting—I. M. Collins 6–3–110–47–36.66; G. A. McDade 17–1–390–94–24.37; *J. J. Lister 16–0–320–55–20.00; S. P. Collins 18–0–343–61–19.05; M. J. Singer 16–0–273–73–17.06; M. H. Workman 11–4–116–33–16.57; S. T. A. Cady 16–3–192–67–14.76; B. Harding 17–3–191–35–13.64; M. A. House 13–2–130–32–11.81.

Bowling—W. R. Tovey 131.5–16–583–39–14.94; J. J. Lister 144.5–36–459–23–19.95; S. B. Thomas 189.4–38–584–25–23.36; M. A. House 83.5–16–298–12–24.83.

WYGGESTON & QUEEN ELIZABETH I SIXTH FORM COLLEGE

Played 11: Won 3, Lost 2, Drawn 6. Abandoned 1

Master i/c: G. G. Wells

Batting—S. Kennell 9-0-325-69-36.11; D. Green 5-1-104-36-26.00; J. E. Kent 10-1-191-57-21.22; P. N. Green 6-0-122-52-20.33; *D. M. Rodwell 8-0-148-47-18.50.

Bowling—S. Patel 83.2–22–211–23–9.17; D. Green 49.1–11–140–12–11.66; R. Sargent 55–6–210–10–21.00.

SEDBERGH SCHOOL, 1989

Batting—*S. D. Gawthorpe 16-1-805-165*-53.66; D. J. Player 14-5-398-69-42.22; J. N. Ayton 12-2-375-73-37.50; J. E. Gundill 12-3-214-104-23.77; R. C. F. Smailes 6-0-133-55-22.16; M. D. Latham 10-0-175-71-19.50; A. J. Meadows 16-2-258-51-18.42; P. J. T. Nickalls 10-2-107-32*-13.37; A. F. M. Metcalfe 12-2-120-24*-12.00.

Bowling—D. J. Player 265-40-497-32-15.53; M. J. Jameson 99-22-266-15-17.73; W. J. H. Greenwood 136.2-27-498-18-27.66; M. S. Wrigley 177-33-590-17-34.70; J. E. Gundill 173-20-562-13-43.23.

JOHN WISDEN & CO LTD 1864-1991

ISBN 0-947766-17-0 =



£16.75 net in UK only